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T.Y. B.A. EXAMINATION, 2011

ENGLISH

(Compulsory)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Text-Book : Reflections III

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in about 80 words each (any two) : [16]

(i) How does Schatz’s father handle the conflict in the boy’s

mind ?

(ii) How does Pandit Ravi Shankar describe the three facets of

George Harrison’s personality ?

(iii) What resemblance to human life does the poet find in the

movements of the Cockroach ?

2. Answer the following questions in about 80 words each (any two) : [16]

(i) How has the self-centredness of human beings affected the

bio-diversity in the world around us ?
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(ii) Describe the sufferings of the Chimney Sweeper’s boy.

(iii) What impacts of global warming does Al Gore’s film ‘An

Inconvenient Truth’ bring out ?

3. Answer the following in about 100 words each (any two) : [16]

(i) Read the following table and transfer the information given

into a paragraph :

Characteristics     Moon          Earth            Sun

Size Not very big bigger (50 moon biggest (400 moons

could be squeezed) could be placed side

by side)

Weight Not very close 81 times heavier 27 million times

heavier

Distance Quite close to

earth. 384000

km away             —               —

Description Earth’s satellite Planet               —

(ii) Write a letter to the Mayor of the Municipal Corporation suggesting

him/her for providing the drainage system to your colony.

(iii) Write an essay on any one of the following :

(a) Women’s Empowerment

(b) Pollution.
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4. Attempt the following (any eight) : [16]

(i) Fill in the blanks in the following sentences using ‘ache’, ‘pain’

or ‘hurt’ in their appropriate forms :

(a) He complains that there is a terrible ....................... in

his eyes.

(b) Seema banged against the door and ....................... her

arm.

(ii) Form two words each using the following suffixes (any two) :

(a) ....ly

(b) ....hood

(c) ....tion

(d) ....able

(iii) Make adjectives from the following (any two) :

(a) remark

(b) blood

(c) arrive

(iv) Find out the odd words in the following (any two) :

(a) house, hut, mansion, temple

(b) apple, banana, jackfruit, cabbage

(c) chair, sofa, bench, table.
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(v) Rewrite the following sentences using appropriate words given

in the brackets :

(a) This building is of ....................... importance.

(historic, historical)

(b) I like being ....................... in the house.

(alone, lonely)

(vi) Fill in the blanks with appropriate phrasal verbs given in the

brackets :

(a) Tom was ....................... his mobile.

(looking for, looking after)

(b) The policeman has promised to ....................... the culprit.

(overcome, overpower)

(vii) Complete the following sentences using appropriate

alternatives :

(a) Anthropology is a scientific study of ....................... .

(human race, animals)

(b) Oceanography is the study of ....................... .

(ocean, hills)

(viii) State whether the following are the instances of British English

or American English :

(a) railway

(b) railroad.
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(ix) Match the idioms in the Column A with their meanings in

the Column B :

   Column A    Column B

(a) meet the halfway (i) live within one’s income

(b) make both ends meet (ii) with a warm welcome

(c) with open arms (iii) come to compromise

(d) by hook or by crook (iv) by any means

(x) Replace the phrase/word underlined with an appropriate ones

given in the brackets :

(a) This pants is very nice but is very loose.

(baggy, skimpy)

(b) Many years ago Salvarkurta were very fashionable.

(in the height of fashion, popular)

5. Attempt the following (any eight) : [16]

(i) Use the verbs in the brackets in correct tense form :

(a) He ran because he (be) in a hurry.

(b) I walked so fast that he (can) not overtake me.

(ii) Complete the following sentences with ‘will’ or ‘going to’ as

appropriate :

(a) As I have walked in the heavy rain I ....................... be

sick.

(b) I think it ....................... rain today in the evening.
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(iii) Use the following adverbs in your own sentences :

(a) invariably

(b) usually.

(iv) Change the following sentences into the passive voice :

(a) The mason is building the wall.

(b) He will finish the work in a fortnight.

(v) Write down the following sentences of inversion in the sentences

of the normal order :

(a) With beating heart she ran.

(b) Nothing have I to offer God.

(vi) Fill in the blanks ‘a/an’ or ‘the’ :

Indian English is ....................... variety of English accepted

all over ....................... world.

(vii) Change the following sentences into impersonal formal public

notices :

(a) You are not allowed to stand in the door of a bus.

(b) You cannot park your private vehicle inside the

compound.

(viii) Do as directed (any two) :

(a) It was a very pathetic scene.

(Change into an exclamatory sentence)

(b) Everyone attended the funeral.

(Change into a question)
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(ix) Use the verbs in the brackets in the correct tense form :

(a) When she reached home she (find) that her father already

(sleep).

(b) The man (enter) the hall, but the show already (begin).

(x) Identify and write ‘pre’ or ‘post’ modifiers in the following

phrases :

(a) attractive young male

(b) male living abroad.



P.T.O.

Total No. of Questions—5+4] [Total No. of Printed Pages—4

[3901]-302

T.Y. B.A. EXAMINATION, 2011

MARATHI (ejkBh)

lkekU;Lrj vH;kl&if=dk ÿ- 3 (G-3)

(vk/kqfud ejkBh lkfgR; vkf.k mi;ksftr ejkBh)

(2008 PATTERN)

vH;klÿe :— (i) xzaFkijh{k.k-

(ii) izkFkZusph ?kaVk («f«r «s[klaxzg) µ vðkksd dksrok«-

(iii) fpuh ekrhrh« fnol (izokl o.kZu) µ «{e.k xk;dokM-

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- iq<h«iSdh izR;sd foHkkxkrh« ,dk izðukps mŸkj f«gk % [16]

(v) xzaFk ijh{k.kkph mfÌ"Vs f«gk-

fdaok

xzaFk ijh{k.k Eg.kts dk; \ rs lkaxwu xzaFkijh{kdkdMs dks.krs xq.k vlkosr

rs f«gk-

(c) rqEgh okp«sY;k dks.kR;kgh ,dk iqLrdkps ijh{k.k djk-

2- iq<h«iSdh izR;sd foHkkxkrh« rhu izðukaph mŸkjs ohl ðkCnkar f«gk % [12]

(v) (1) «f«r x| Eg.kts dk; \

(2) «f«r x|ke/;s dks.kdks.kR;k ok≥~e; izdkjkapk lekosðk gksrks \

(3) «f«r x| «s[kukps xq.k foðks"k f«gk-

(4) «f«r x| «s[kukP;k e;kZnk f«gk-

(5) «f«r x| «s[kukps nksu gsrw f«gk-
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(c) (1) izokl o.kZukrh« «s[kdkph Hkwfedk f«gk-
(2) izokl o.kZukps gsrw f«gk-
(3) izokl o.kZukph dks.krsgh nksu oSfðk"VÓs f«gk-
(4) izokl o.kZu Eg.kts dk; \
(5) ejkBh ok≥~e;krh« nksu izoklo.kZukaph ukos f«gk-

3- iq<h«iSdh izR;sd foHkkxkrh« dks.kR;kgh ,dk izðukps mŸkj iUukl ðkCnkar f«gk % [12]

(v) «f«r x| «s[kukps Lo:i f«gk-
fdaok

oSpkfjd lkfgR; o «f«r x| ;krh« Qjd Li"V djk-
(c) izoklo.kZukrh« ^eh*ph Hkwfedk f«gk-

fdaok
izoklo.kZukps Lo:i f«gk-

4- iq<h«iSdh izR;sd foHkkxkrh« ,dk izðukps mŸkj nksuðððððks ðkCnkar f«gk % [20]

(v) lkoY;k ;k «f«r «s[kkrh« ekbZps O;fDrfp= js[kkVk-
fdaok

izkFkZusph ?kaVk ;k «f«r «s[kkph Hkk"kkoSfðk"VÓs f«gk-
(c) fpue/;s «{e.k xk;dokM ;kauh ds«sY;k Hkk"k.kkps o.kZu f«gk-

fdaok
fpuP;k izxrhe/;s ekvks&Rls&rqax ;kps ;ksxnku ^fpuhekrhrh« fnol* ;k izoklo.kZukP;k
vk/kkjs f«gk-

5- iq<h«iSdh izR;sd foHkkxkrh« ,dk izðukps mŸkj rhuðððððks ðkCnkar f«gk % [20]

(v) ^izkFkZusph ?kaVk* ;k vðkksd dksrok«kaP;k «f«r «s[k laxzgkrh« «s[kkapk vk<kok
?;k-

fdaok
^izkFkZusph ?kaVk* ;k «f«r «s[k laxzgkrh« fofo/k O;fDrjs[kkapk vk<kok ?;k-

(c) «{e.k xk;dokM ;kauh vuqHko«s«h fpuph fðk{k.k iºrh foLrkjkus f«gk-
fdaok

^fpuh ekrhrh« fnol* ;k izokl o.kZukrwu O;Dr gks.kkjh fpuph laLœrh «s[kdkus
dðkh fp=hr ds«h vkgs \
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(O;kogkfjd o mi;ksftr ejkBh)

(i;kZ;h vH;klÿe)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- iq<h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh ohl ðkCnkr f«gk % [20]

(1) vk/kqfud dkˇkrh« fofo/k izlkjek/;es dks.krh rs lkaxk-

(2) òŸki=kph pkj mfÌ"Vs dks.krh \

(3) o`Ÿki=kP;k laikndh; foHkkxkr dks.kdks.krh ins vlrkr rs f«gk-

(4) o`Ÿki=kP;k laikndkikðkh dks.kdks.krs xq.k vlkosr rs lkaxk-

(5) izeq[k ejkBh o`Ÿki=kaph ukaos f«gk-

(6) ckreh Eg.kts dk; \

(7) vkdkðkok.khojh« dk;Zÿekaps fofo/k izdkj lkaxk-

(8) vkdkðkok.kh gs dks.kR;k Lo:ikps ek/;e vkgs \

(9) ^mn~?kks"k.kk* Eg.kts dk; \

(10) ^:id* Eg.kts dk; \

(11) ^nwjnðkZu* lkBhps fofo/k «s[kuizdkj lkaxk-

(12) nwjnðkZuojh« eq«k[krhaps izdkj lkaxk-

(13) nwjnðkZuojh« tkfgjkrhps ?kVd lkaxk-

2- iq<h« izðukaph mŸkjs izR;sdh iUukl ðkCnkr f«gk %

(v) o`Ÿki=kP;k laikndh; foHkkxkps egŸo lkaxk- [5]

fdaok

vkdkðkok.kh ;k izlkjek/;ekps lkeF;Z lkaxk-
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(c) vkdkðkok.khlkBh mn~?kks"k.kspk uequk r;kj djk- [5]

fdaok

nwjnðkZuojh« ckrehi= «s[kukps osxˇsi.k dks.krs rs lkaxk-

3- iq<h« izðukaph mŸkjs izR;sdh nksuðððððks ðkCnkr f«gk %

(v) iztklŸkkd fnukfufeŸk egkfo|k«;kr laiUu >k«sY;k dk;Zÿekps o`Ÿki=klkBh

ckreh«s[ku djk- [10]

fdaok

^QVkD;kaiklwu /ouh o ok;qiznq"k.k* ;k laca/kh tkx`rhdj.kkjs okpdi= f«gk-

(c) izlkjek/;ekuqlkj eq«k[krhph iwoZr;kjh dðkh djk« rs lkaxk- [10]

fdaok

o`Ÿki=klkBh vaxkP;k lkc.kkP;k tkfgjkrhpk uequk r;kj djk-

4- iq<h« izðukaph mŸkjs izR;sdh rhuðððððks ðkCnkr f«gk %

(v) vkdkðkok.khlkBh ^ok<rh egkxkbZ* ;k fo"k;koj :id f«gk- [15]

fdaok

nwjnðkZulkBh ckrehi=kpk uequk r;kj djk-

(c) vkdkðkok.khlkBh ^iYl iksf«vks vfHk;kuk*P;k tkfgjkrhpk uequk r;kj djk- [15]

fdaok

nwjnðkZulkBh ðkhris;kP;k tkfgjkrhpk uequk r;kj djk- (oš &30 lsdan&n`ð;ÿekad@

n`ð;@laokn&fuosnu@/ofu;kstuk)
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MARATHI (ejkBh)

(foðððððks"kLrj&izðððððuif=dk ÿ- 3)

S-3 : lkfgR; fopkj

(2008 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- iq<h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh ohl (20) ðkCnkar f«gk % [20]

(1) dqardkus ds«s«h lkfgR;kph O;k[;k f«gk-

(2) eEeVkus lkafxr«sY;k lkfgR;kP;k iz;kstukaph ukos f«gk-

(3) txUukFk iafMrkus lkafxr«s«h izfrHksph O;k[;k f«gk-

(4) «{k.kk ðkDrhps Lo:i f«gk-

(5) ðkS«hph O;k[;k f«gk-

(6) lkfgR; vkLoknklkBh vkoð;d vl.kkjs nksu xq.k f«gk-

(7) dks.kR;k ew̌  baxzth ðkCnko:u ckaf/k«dh gs ejkBh :i ds«s xs«s vkgs-

(8) «f«r lkfgR;kps fofo/k izdkj f«gk-

(9) vfHk#ph fHkUursP;k dks.kR;kgh nksu ?kVdkaph ukos f«gk-

(10) lkfgR;kP;k oxhZdj.kkrh« dks.kR;kgh nksu flºkarkph ukos f«gk-

(11) dknacjh ;k lkfgR; izdkjkps laf{kIr Lo:i f«gk-

(12) mRizs{k.k ðkDrh Eg.kts dk; \

(13) ^dfork vkf.k izfrek* gk xzaFk dks.kh f«gh«k \
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2- iq<h«iSdh nksu izðukaph mŸkjs izR;sdh iUukl (50) ðkCnkar f«gk % [10]

(1) lkfgR;œrh lsaÊh; vlrs-

fdaok

;ðk fdaok dhrhZ ,d iz;kstu-

(2) lkfgR; oxhZdj.kkrh« fu;ed flºkar-

fdaok

viz/kkurk&lkfgR;kP;k vkLoknkrh« ,d vMFkˇk-

3- iq<h« izðukaph mŸkjs izR;sdh nksuðððððks (200) ðkCnkar f«gk % [20]

(1) lkfgR;kP;k fufeZrhr LQwrhZps egRo f«gk-

fdaok

O;ogkjHkk"ksps egRo f«gk-

(2) vfHk#ph fu;r dj.kkjs ?kVdµlkaLœfrd i;kZoj.k-

fdaok

Hkk"ksph lkekftdrk foðkn djk-

4- iq<h« izðukaph mŸkjs izR;sdh 300 ðkCnkar f«gk % [30]

(1) lkfgR; Eg.kts dk; rs lkaxqu «f«r lkfgR;krwu O;Dr gks.kkÚ;k vuqHkokaps foðks"k

f«gk-

fdaok

lkfgR; fufeZrhP;k ðkDrhapk lfoLrj ifjp; f«gk-

(2) lkfgR;kps Bˇd izdkj lkaxqu ukVd ;k lkfgR; izdkjkps Lo:i f«gk-

fdaok

lkfgR; vkf.k lekt ;kaps ijLij laca/k Li"V djk-
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MARATHI (ejkBh)

foðððððks"k vH;klif=dk ÿ- 4 (S-4)

,sfrgkfld Hkk"kkfoKku@o.kZukRed Hkk"kkfoKku

(2008 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- iq<h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkar f«gk % [20]

(1) ^Hkkjrkph Hkkf"kd ikg.kh* gk izdYi dks.kR;k vH;kldkus ds«k \

(2) Hkk"kk Eg.kts dk; \

(3) ,sfrgkfld Hkk"kkfoKkukpk tud dks.k \

(4) Hkk"kkdq« Eg.kts dk; \

(5) fiftax Hkk"kk Eg.kts dk; \

(6) Loukarj Eg.kts dk; \

(7) :fie Eg.kts dk; \

(8) okD;krh« :ica/k Eg.kts dk; \

(9) mÌsð; Eg.kts dk; \

(10) «{k.kk Eg.kts dk; \

(11) vFkkZps fofo/k izdkj lkaxk-

(12) okD;kps mfÌ"V dks.krs vlrs rs f«gk-

(13) vFkZfufeZrhP;k rhu izeq[k ðkDrh f«gk-
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2- iq<h«iSdh izR;sd foHkkxkrh« ,dk izðukps mŸkj 50 ðkCnkar f«gk % [10]

(v) ,sfrgkfld Hkk"kkvH;kl iºrhps egRo lkaxk-

fdaok

ejkBh Hkk"ksP;k mRiŸkh laca/kh vl.kkjk] oS|&xq.ks okn-

(c) fðkodkˇkrh« ejkBh Hkk"ksps Lo:i Li"V djk-

fdaok

:fie ladYiuk Li"V d:u :fiekaps izdkj lksnkgj.k lkaxk-

3- [kk«h«iSdh izR;sd foHkkxkrh« ,dk izðukps mŸkj 200 ðkCnkar f«gk % [20]

(v) okD; vkf.k okD;kaðk ;kaP;krh« ijLijlaca/k Li"V djk-

fdaok

^Lou&Lofue&Loukarj* ladYiuk Li"V djk-

(c) txkrh« izeq[k Hkk"kkdq«kapk FkksMD;kr ijhp; |k-

fdaok

vFkZfoU;klkps Lo:i Li"V djk-

4- iq<h«iSdh izR;sd foHkkxkrh« ,dk izðukps mŸkj 300 ðkCnkar f«gk % [30]

(v) okfxafÊ;kph jpuk o dk;Z vkœrhlg Li"V djk-

fdaok

mPpkj.k LFkku] mPpkj.k vo;o vkf.k iz;Ru ;kaP;k lkgÓkus LofufeZrh dðkh

gksrs rs lkaxwu R;kaps ofxZdj.k djk-

(c) vktP;k dkˇkP;k lanHkkZr ,sfrgkfld o o.kZukRed Hkk"kkfoKkukps egRo Li"V

djk-

fdaok

okD;krh« loZ ?kVdkapk mnkgj.kkalg ijhp; |k-
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GUJARATI (General)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. GLR[GFDF\YL SM.56 V[S V[S V[S V[S V[S lJQFI 5Z lGA\W ,BM o Ú16Û

s!f JQFF"GL 5C[,L C[,LP

sZf DFZF :J%GG]\ EFZTP

s#f ‘uIF tIFZYL ;JFZP

s$f 5]:TSMGL D{+LP

2. GLR[GFDF\YL SM.56 V[S V[S V[S V[S V[S GM ;lJ:TZ pøZ ,BM o   Ú16Û

s!f óó5gGF,F,GF ,[BGDF\ UF\WLI]UGL KF5 N[BFI K[Pòò J6"JMP

sZf óó5gGF,F,[ VG]EJ lGZL1F6 ,aW “JG5lZRIDF\YL JFTF"VM SMZL K[Pòò

lJWFG :5Q8 SZMP

3. GLR[GFDF\YL SM.56 V[S V[S V[S V[S V[S GM ;lJ:TZ pøZ ,BM o [16]

s!f óólGZ\HG EUT 5}6"TFGF VFU|CL K[ V[DG[ SX]\ KLKZ]\ S[ VWSRZ]\ G OFJ[Pòò

;D‘JMP

sZf óóKF\NM,I V[8,[ U]HZFTL SlJTFG]\ AF.A,òò pNFCZ6 ;FY[ ;D‘JMP

4. sVf SM.56 V[S V[S V[S V[S V[S 5Z 8}\S GM\W ,BM o [8]

s!f ó;]BN]oBGF\ ;FYLò XLQF"SGL IYFY"TFP

sZf óDFò DF\ jI… YTL jIYFP

P.T.O.
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sAf SM.56 V[S V[S V[S V[S V[S 5Z 8}\S GM\W ,BM o [8]

s!f óóU|LQD DwIFCGDF\òò U|LQ8G]\ J6"GP

sZf KF\NM,IDF\ jI… YTL X{,LP

5. sVf 5}JF"5Z ;\A\W VF5L SM.56 V[S V[S V[S V[S V[S ;D‘JM o [4]

s!f óóTM RF,4 C]\ TG[ A[;F0L VFJ]\P ;DI YI[ T[0JF 56 VFJLXPòò

sZf óóVF8,M TM lJXJF SZ‘[ S[ 3ZDF\YL SF\. ,.G[ GF;L HJFGL TM

GYLPòò

sAf 5}JF"5Z ;\A\W VF5L SM.56 V[S V[S V[S V[S V[S ;D‘JM o [4]

s!f óóSIF\I G DFI Z[ V[8,M VFH TM pZG[ YFI pD\UPòò

sZf óóh}ZL h}ZL HUHD]GF TLZ[ D'tI]DF\ ‘J]\ K[ “JLPòò

sSf TDFZF l5TFzLG[ SM,[HDF\ pHJJFGF lX1FSlNG[ VFJJF DF8[ VFD\+6 VF5TM

5+ ,BMP [8]

VYJFVYJFVYJFVYJFVYJF

TDFZF XC[ZDF\ 5|N}QF6 D]… SZJF TD[ SZ[,F SFI"ÃDGM VC[JF, T{IFZ

SZMP
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N.B. :—(1) Attempt  All questions.

(2) Figures to the left indicate full marks.

ÿ61þ **zwóg~Æ®6,-c<X 1X
cccc****

ZgŠz**zwÅZ’ZYzZg»Y»Z)àY,̂{kX

ÿ61þ **zwóg~ÅwÐ%iZgÎZ"»ZŠ!£x³<X 2X
cccc****

**zwLZ%ZîYyZŠZ"ó6,×zû{<X

ÿ61þ egZâÆZbZñF,0ÌÒy<X 3X
cccc****

§ÔzZ˜egZâ6,§qÝc<X

ÿ61þ ¿ZY:6,ZÖgìw<X 4X
cccc****

6,*PÅZY:óg~6,û{<X
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{ß»™ŠZg )1(

egZâZzgZn )2(
²£4i

ð

Y

G»™ŠZg )3(

**zw~k>VÅZÌ )4(
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T.Y. B.A. EXAMINATION, 2011

URDU

Special Paper  III

(2008  PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—Figures to the left indicate full marks.

ÿ61þ ZŠ!WÅ°p™DƒñZmZÌ»Y,̂{kX 1X

c*

ZgŠz~WÆZŠ{îyÃÒy™Dƒñæ¹WÅS:]Òy

<X

ÿ61þ ·@WiZŠÅÂ[LWƒ§]óW»ZzA%:ìXæÜc<X 2X

c*

ZŠ!WÆZßwZY¤/™DƒñZm,C�X

ÿ61þ ZgŠzçwÆ/ßZixÒy™DƒñZkÆZg»6,gzÝeZnX 3X

c*

çwÅ=qÆZò[eVw7<X

ÿ61þ ¯ÄW>"Å÷á²~»,ÐY,̂{kX 4X

P.T.O.
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Zû"Í&+z~Å÷á²~ÅS:]Òy<X

ÿ61þ Ãã"$+Z-ãLLZâÄ!*(]óóYVBD÷?VwÆfg=Œ�X 5X

c*

‹]"ñ;ãÅ÷á²~6,â^sX
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(ii) Figures to the left indicate full marks.

ÿ01þ ÄZy6,*ys: ZZZZqqqq---- Šg`fs~ÐË 1X

Šzgq¢~½²ZVÅZÌ )1(

yz*yZzg/g~Âx )2(

$Òï LOGZzg}ò — ZÚ,M )3(

ÿ01þ 6,¿â^s: ŠŠŠŠzzzz fs~ÐË )Z³( 2X

ZÌZzgQm9 )1(

Z²Z[w»]zZi] )2(

÷ZzgQm9 )3(

P.T.O.
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— )1(
$h4->î
GIEGX )2(

³zí )3(

w**¢ú
GL )4(

I¾ )5(

Z7g{ )6(

ÿ01þ ZÃgÅÆ<Zzgd»**xC�: ŠŠŠŠzzzz fs~ÐË )`(

Z}ø!ÔZ}¢{5ÿ
E

GLígyz*y )1(

aOì¾~%OãÃ9£ë EN™W�V

z{1V~gØÄ0*äzZÑ )2(

%ZŠ,¾'VÅ',ÑäzZÑ

/;ÅZ(Ìƒ@*ìiâä~ )3(

āCÙgDÙyÃ(.çGL»gzZVI„7,@*ì

ÿ51þ ZgŠz~—ãÅgÆW¸izZg»Y»Y,̂{kX 3X

c*
‘ÐêL—yÅZÌzZÃŠe$ZzgŠvExÐģ6,ZÖgìw<X

ÿ51þ QgŠzi!*yÆ!*g}~úŠèZãÆÃtÅzŸs#<X 4X
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c*

QgŠzi!*yzZg»YÆ!*g}~´Z−+;×ÆìÑ]ÅzŸs#

<X

ÿ21þ ÄZy6,ZŠ!*ys: ZZZZqqqq---- qgzfs~ÐË 5X

Z¥/|’q- )1(

ñÑ**WiZŠÅi0+Ï»Z)à{ā )2(

qà"].h+÷á²~ÆbŠZg )3(
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T.Y. B.A. EXAMINATION, 2011

HINDI (G-3)

fganh % lkekU;&3

(fuca/k] dkO;&ukVd rFkk ys[ku)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

ikB~;&iqLrdsa :— (i) fuca/k lkSjHk µ laik- lkS- mek tk/ko A

(ii) xkFkk dq#{ks= dh µ euksgj ';ke tks'kh A

lwpuk :— (i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSa A

1. (v) fuEufyf[kr vaxzsth ikfjHkkf"kd 'kCnksa esa ls fdUgha N% ds fganh i;kZ;okph 'kCn

fyf[k, % [6]

(1) Air Adviser

(2) Broker

(3) Conductor

(4) Director

(5) Editor

(6) Head Constable

(7) Protocol-officer

(8) Store Inspector.
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(vk) fuEufyf[kr vaxzsth laf{kfIr;ksa esa ls fdUgha pkj ds iw.kZ fganh i;kZ; fyf[k, % [8]

(1) C.B.I.

(2) D.C.C.

(3) G.A.T.T.

(4) I.P.C.

(5) M.P.

(6) N.A.M.

(7) Ph.D.

(b) fuEufyf[kr esa ls fdlh ,d fo"k; ij lekpkj ys[ku dhft, % [6]

(1) iq.ks fo'ofo|ky; dk 63ok° o/kkZiu&fnu A

(2) egkfo|ky; esa laiUu ÿhMk egksRlo A

2. fuEufyf[kr vorj.kksa esa ls fdUgha nks dh llanHkZ O;k[;k dhft, % [10]

(1) fltgk° lR; gS] tgk° /keZ gS]

bZekunkjh] 'keZ] fou; gS]

ogk° œ".k gS]

vkSj tgk° œ".k gS] ogha fot; gS Afi

(2) fltkrs tkrs œ".k lqu yks eq> ÊkSinh dh ckr

lfU/k tks Hkh dj jgk Lohdkj] gS f/kDdkj mldks

;qf/kf"Bj ds /keZ dks] Hkhe ds Hkqtn.M dks

vtqZu ds xkaMho dh Vadkj dks f/kDdkj gS Afi

(3) flgels ugha jktu] nq;ksZ/ku ls dgks

fd /keZ ls ik;h x;h foQyrk Hkh LoxZ gS

exj feys tks diV ls og LoxZ Hkh jkSjo ujd gS Afi
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(4) flgs vtqZu !

rw eSa vkSj ;s jktx.k lHkh

lnk Fks vkSj jgsaxs lnk gh A

nsg u'oj gS] vej gS vkRek

u dksbZ ekjrk gS vkSj u ejrk gS dksbZ Afi

3. (v) fuEufyf[kr iz'uksa esa ls fdUgha nks ds mŸkj fyf[k, % [10]

(1) ia- izrkiukjk;.k feJ us ^fo'okl dh efgek* dks dSls le>k;k gS \

(2) xM+fj;s ds thou dk o.kZu ljnkj iw.kZflag us fdl izdkj fd;k gS \

(3) 'kfu xzg dh lqanjrk dks Li"V dhft, A

(vk) fuEufyf[kr iz'uksa esa ls fdUgha nks ds mŸkj fyf[k, % [10]

(1) ^xkFkk dq#{ks= dh* ÊkSinh esa vk/kqfud ukjh dk :i fn[kkbZ nsrk gS µ

dSls \ le>kb, A

(2) fojkVuxj izlax dk o.kZu dhft, A

(3) vtqZu us t;ÊFk dks ekjus dh izfrKk D;ksa dh \

4. (v) fuEufyf[kr esa ls fdlh ,d dk mŸkj fyf[k, % [10]

(1) ^^'kadjth us tgj ih fy;k Fkk ij os fo"k ipk x;s] jax ugha ipk ik;s]

jax ipkuk vklku ugha gS A** ^uhydaB* fucU/k ds vk/kkj ij le>kb, A

(2) ^^lkgl dh ftanxh lcls cM+h ftanxh gksrh gS A** ^fgEer vkSj ftanxh*

fuca/k ds vk/kkj ij Li"V dhft, A



[3901]-316 4

(vk) fuEufyf[kr iz'uksa esa ls fdlh ,d dk mŸkj fyf[k, % [10]

(1) ^xkFkk dq#{ks= dh* dkO;&ukVd }kjk euksgj';ke tks'kh D;k lans'k nsuk

pkgrs gSa \

(2) ^xkFkk dq#{ks= dh* dFkkoLrq dks vius 'kCnksa esa fyf[k, A

(b) fuEufyf[kr esa ls fdlh ,d fo"k; ij i=ys[ku dhft, % [5]

(1) Hkkjrh; thou chek fuxe }kjk dkedkt ds le; esa ifjorZu laca/kh

ifji= dk uewuk rS;kj dhft, A

(2) jsy ea=ky; ds fdlh Hkh fyfid dks dk;kZy;hu i=kpkj rFkk vU; lkexzh

?kj ij u ys tkus ds lanHkZ esa lacaf/kr dk;kZy; vkns'k dk izk:i rS;kj

dhft, A

(bZ) fuEufyf[kr vuqPNsnksa esa ls fdlh ,d vuqPNsn dk fganh esa vuqokn dhft, % [5]

Hindi is our cultural language. It takes its origin from Sanskrit

which incidentally, is the mother of all Aryan languages. Hindi

literature is mirror of Indian Culture. And it reflects in wide

sweep all that is truly and typically Indian, particularly its

spiritualism, philosophy and menifestation of culture and life.

Here we can name some literary figures of Hindi Literature like

Meera, Surdas, Tulsi, Jai Shankar Prasad, Mahadevi Verma,

Premchand etc.
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vFkok

fganh vkeph lkaLœfrd Hkk"kk vkgs- frpk tUe laLœr Hkk"ksrwu >kyk vkgs o laLœr

gh vU; vk;Z Hkk"kkaph tuuh vkgs- fganh lkfgR; Hkkjrh; laLœrhpk vkjlk vkgs-

fganh Hkk"ksrhy lkfgR; fo'ks"kr% v/;kRe n'kZu] laLœfr vkf.k thou gs Hkkjrh;

tuthoukps izfrfcac vkgs- fganh Hkk"ksr vkEgh ehjk] lwjnkl] dchj] rqylhnkl]

t;'kadj izlkn] egknsoh] izsepan ;k ys[kdkapk mYys[k d: 'kdrks-
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iz;kstuewyd fganh % lkekU; Lrj&3

(oSdfYid ikB~;ÿe)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk :— (i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSa A

1. (v) fuEufyf[kr v°xzsth okD;ksa esa ls fdUgha vkB okD;ksa dk fganh esa vuqokn

dhft, % [8]

(1) Fresh proposals in this regard are invited.

(2) I full agree with the office note order may be issued.

(3) The bill is returned as a joining report is not attached

with it.

(4) Copy forwarded for information and necessary action.

(5) We are not concerned with this.

(6) We may remind of the Director General after a month.

(7) The matter has been under consideration for a long time.

(8) The file may kindly be returned early after keeping

extracts.

(9) There is no justification for interfering with the decision

of the director.

(10) Chief controller has returned the papers.
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(11) Our call bell is not in working order. Please get it repaired

soon.

(12) The banks have granted loans on cash terms to be flood

stricken persons.

(vk) fuEufyf[kr v°xzsth laf{kfIr;ksa esa ls fdUgha vkB laf{kfIr;ksa dk fganh esa vuqokn

dhft, % [8]

(1) Members of Parliament.

(2) Indian Administrative Service.

(3) Doctor of Philosophy.

(4) National Defence Academy.

(5) National Eligibility Test.

(6) Indian Penal Code.

(7) Indian Telecom Service.

(8) Farmer Service Society.

(9) Commercial Bank.

(10) District Rural Development.

(11) Differential Interest Rate.

(12) Reserve Bank of India

2. (v) fuEufyf[kr esa ls fdUgha nks fo"k;ksa ij fjiksVZ ys[ku dhft, % [8]

(1) egkfon~;ky; esa euk;k x;k dyk egksRlo]

(2) fe=&eaMy dh vksj ls euk;k x;k ;qok&fnu]

(3) ,d xk°o esa fdlku dh vkRegR;k]

(4) vius xk°o dk ^loZf'k{kk vfHk;ku* % lQyrk@vlQyrk A
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(vk) fuEufyf[kr ifjPNsn dk lkj&ys[ku dhft, vFkok ifjPNsn ds voyksdukRed

iz'uksa ds mŸkj fyf[k, % [8]

Hkkjrh; Lokra´; laxzke esa ;gk° dh ukfj;ksa dk Hkh de lg;ksx ugha jgk gS A

mUgksaus ohj iq=ksa dks mRiUu fd;k] vius ifr;ksa dks ns'k lsok ds fy, izksRlkfgr

fd;k A muds toku iq= xksyh ds fu'kkus cuk;s x;s A dysts dks iRFkj cukdj

mUgksaus bl nq%[k dks cnkZ'r fd;k A ifr dks tsy gqbZ A ?kj esa ,d nkuk

ugha A 'kjhj ij oL= ugha A ikl esa iSls ugha A mUgksaus /kS;Z ds lkFk lHkh

eqlhcrksa dk eqdkcyk fd;k A ij] ifr dks ihNs eqM+us ds fy, mUgksaus foo'k

ugha fd;k A bruk gh ugha] le; dh tc iqdkj gqbZ] rc ?kj dh pgkjnhokjh

ls ckgj fudydj os Lo;a j.k{ks= esa dwn iM+ha A n;k vkSj d#.kk dh izfrewfrZ

Hkkjrh; nsfo;ksa us le; vkus ij j.k{ks= esa dwn dj 'k=qvksa ds NDds Hkh NqM+k;s

gSa A mUgksaus lR; dj fn[kk;k gS fd os fuekZ.k gh ugha dj ldrh gSa] vkrrkf;;ksa

dk lagkj Hkh dj ldrh gSa A mUgksaus ;g fn[kk fn;k gS fd os dsoy lqdqekjrk

dh ewfrZ gh ugha] le; iM+us ij M.Ms vkSj xksfy;k° Hkh g°lrs&g°lrs [kk ldrh

gSa A

vFkok

iz'u %µ

(1) Hkkjrh; Lokra´; laxzke esa ukfj;ksa ds ;ksxnku ij izdk'k Mkfy, A

(2) Hkkjrh; Lokra´; laxzke esa ukfj;ksa dks fdu&fdu ifjfLFkfr;ksa dk eqdkcyk

djuk iM+k \

(3) Hkkjrh; ukfj;ksa us le; vkus ij 'k=qvksa ds NDds dSls NqM+k, \

(4) Hkkjrh; ukfj;ksa us ;g dSls flº fd;k fd ge Hkh dqN de ugha \

(5) ifjPNsn dk mfpr 'kh"kZd nhft, A
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3. (v) fuEufyf[kr esa ls fdlh ,d ij vkdk'kok.kh vFkok nwjn'kZu ds fy, foKkiu

dk uewuk rS;kj dhft, % [6]

(1) egkfon~;ky; ds fganh foHkkx dh vksj ls ftykLrjh; dkO;&iBu izfr;ksfxrk]

(2) xk°o esa yxh f[kykSuksa dh izn'kZuh]

(3) cktkj esa vk;k u;k 'kSEiw]

(4) lj&nnZ de djus okyh nok A

(vk) fuEufyf[kr vuqPNsnksa esa ls fdlh ,d vuqPNsn dk fganh esa vuqokn dhft, % [6]

The flock reached the lake before sunrise, “Here we are ready

for slaughter,” said the victims. “Kill all of us, if we can

apeacehunger of your children,” said remaining deer. The violence

in the hunter had disappeared at the night. He had become

selfseeking because of a days’s fasting and waking in the night.

He was astonished to find religiousness in the word keeping deer.

His heart was besmeared with new light. He heard the gospel

of power of love. He come down the tree and knelt before the

deer. The two-footed had touched feet of the four-footed beasts.

vFkok

lw;ksZn;kiwohZp rks teko frFks ;s≈u Bsiyk] jk=h vkysyh gj.ka iq<s >kyh vkf.k

Eg.kkyh] fl?ks ckck] vkEgh ejk;yk r;kj vkgksr !fi brj gj.ka lqºk cksyyh vkEgkyklqºk

ek:u Vkd ! tj vkEgkyk ekjY;kus rq÷;k eqykckˇkaph Hkwd 'kkar gksr vlsy]

rj rs pkaxysp vkgs-fi O;k/kkph fgaldo`fŸk jk=hizek.ksp yqIr >kyh gksrh- lkÚ;k
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fnolkpk miokl vkf.k laca/k jk=hP;k tkxj.kkeqˇs R;kps fpŸk 'kqº >kys gksrs-

R;karp gÓk lR;opuh gj.kkps /kekZpj.k ikgwu rks vk'p;Zpfdr >kyk- R;kP;k ‚n;kar

,d uohup izdk'k iMyk- R;kyk izse vkf.k 'kkS;Z gÓkph nh{kk feˇkyh] rks >kMko:u

mr:u gj.kkauk 'kj.k xsyk- nksu ik;kaP;k ek.klkus pkj ik;kaP;k tukojkaps ik;

/kjys-

4. (v) fuEufyf[kr esa ls fdUgha pkj y?kwŸkjh iz'uksa ds mŸkj fyf[k, % [20]

(1) dk;kZy;hu Hkk"kk dh fo'ks"krk,° crkb, A

(2) ekud Hkk"kk fdls dgrs gSa \

(3) jktHkk"kk fganh vf/kdkjh ds drZO;ksa dk o.kZu dhft, A

(4) vuqokn dk egRo Li"V dhft, A

(5) vuqoknd ds xq.kksa ij izdk'k Mkfy, A

(6) vkdk'kok.kh vFkok nwjn'kZu Hkk"kk dh fo'ks"krk,° crkb, A

(vk) fuEufyf[kr fo"k;ksa esa ls fdUgha pkj ij fVIif.k;k° fyf[k, % [16]

(1) dk;kZy;hu i=kpkj dk egRo]

(2) ljdkjh i= dh fo'ks"krk,°]

(3) vuqoknd ds drZO;]

(4) vuqokn ds izdkj]

(5) jktHkk"kk fganh]

(6) jk"V™Hkk"kk A
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T.Y. B.A. EXAMINATION, 2011

fganhµfo'ks"k&3

fganh lkfgR; dk bfrgkl

(vkfndky ls vk/kqfud dky rd)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk :— (i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSa A

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(d) vkfndky dh jktuhfrd] lkekftd vkSj /kkfeZd ifjfLFkfr;ks a ij izdk'k

Mkfy, A

([k) jhfrdkyhu lkfgR; dh eq[; izo`fŸk;k° Li"V dhft, A

2. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(p) HkfDrdkyhu KkuekxhZ dkO;/kkjk dk ifjp; nsrs gq, mlesa dchj ds ;ksxnku ij

izdk'k Mkfy, A

(N) HkfDrdkyhu jkeHkfDr dkO;/kkjk dh fo'ks"krk,° fyf[k, A

3. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(V) Hkkjrsanq;qxhu dkO;/kkjk dh fo'ks"krkvksa dks Li"V dhft, A

(B) izxfroknh dkO;/kkjk dh fo'ks"krkvksa dk foospu dhft, A
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4. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(r) fganh ukVd fo/kk ds fodkl dk ifjp; nsrs gq, mlesa t;'kadj izlkn ds ;ksxnku

ij izdk'k Mkfy, A

(Fk) fganh miU;kl fo/kk dk fodkl Li"V dhft, A

5. (v) fuEufyf[kr iz'uksa esa ls fdUgha pkj iz'uksa ds mŸkj la{ksi esa fyf[k, % [8]

(1) jk"V™h; dkO;/kkjk dh fdUgha nks fo'ks"krkvksa dk mYys[k dhft, A

(2) ^lkdsr* ds izeq[k ik=ksa ds uke fyf[k, A

(3) jk"V™dfo fnudjth ds dkO; dh nks fo'ks"krk,° fyf[k, A

(4) gtkjhizlkn f}osnhth ds fuca/kksa dh izeq[k nks fo'ks"krkvksa dk mYys[k

dhft, A

(5) ^/kzqoLokfeuh* ukVd dk mn~ns'; la{ksi esa fyf[k, A

(6) fganh ds izeq[k euksoSKkfud miU;kldkjksa ds uke fyf[k, A

(vk) fuEufyf[kr iz'uks a esa ls fdUgha vkB iz'uksa ds mŸkj ,d&,d okD; esa

fyf[k, % [8]

(1) fganh esa ^vk/kqfud ehjk* fdls dgk tkrk gS \

(2) ^dkek;uh* fdl dfo dh jpuk gS \

(3) [kM+hcksyh fganh dk igyk egkdkO; dkSulk gS \

(4) iz;ksxokn ds izorZd dk uke fyf[k, A

(5) ekDlZokn ij vk/kkfjr fganh esa fdl dkO;/kkjk dk tUe gqvk gS \

(6) jkepUÊ 'kqDyth ds fuca/k laxzg dk uke fyf[k, A

(7) e`.kky fdl miU;kl dh izeq[k ik= gS \

(8) izsepanth ds nks miU;klksa ds uke fyf[k, A

(9) ^flanwj dh gksyh* ds jpf;rk dk uke fyf[k, A

(10) Hkkjr&ikd foHkktu ij vk/kkfjr ;'kikyth dh izfln~/k jpuk dk uke

fyf[k, A
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T.Y. B.A. EXAMINATION, 2011

fganh (fo'ks"k&4)

Hkk"kkfoKku

(Hkk"kkfoKku vkSj fganh Hkk"kk)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSaA

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(d) Hkk"kk ds fofo/k :iksa dk laf{kIr ifjp; nhft,A

([k) rRle] v/kZrRle vkSj rn~Hko 'kCnlewg dk lksnkgj.k ifjp; nsrs gq, rhuksa

esa varj crkb,A

2. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(x) vFkZ&rŸo vkSj laca/k&rŸo dks Li"V djrs gq, laca/k&rŸo ds izdkj crkb,A

(?k) vFkZifjorZu ds dkj.kksa dks lksnkgj.k Li"V djk-

3. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj fyf[k, % [16]

(p) fganh lkfgR; lEesyu] iz;kx vkSj nf{k.k Hkkjr fganh izpkj lHkk] psUubZ dk

fganh izpkj esa ;ksxnku fyf[k,A
(N) nsoukxjh fyfi ds xq.k vkSj nks"k fyf[k,A

4. fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [16]

(1) Hkk"kk dh pkj fo'ks"krk,°

(2) iz;Ru yk?ko

(3) LFkku vkSj dj.k esa varj

(4) okD;&foHkktu ds vk/kkjA

P.T.O.
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5. (v) fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mŸkj la{ksi esa fyf[k, % [8]

(1) Hkk"kk dh dksbZ ,d ifjHkk"kk fyf[k,A

(2) cksyh ls Hkk"kk dSls curh gS \

(3) Hkk"kk fodkl ds pkj izeq[k okn fyf[k,A

(4) /ofuxq.k ds izdkj fyf[k,A

(5) in fdls dgrs gSa \

(6) okD; ds vfuok;Z rŸoksa dk mYys[k dhft,A

(vk) fuEufyf[kr esa ls fdUgha vkB iz'uksa ds mŸkj ,d&,d okD; esa fyf[k, % [8]

(1) fdlds fcuk lekt xw°xk gS \

(2) laidZ Hkk"kk fdls dgrs gSa \

(3) [kM+h cksyh ds fdlh ,d egkdkO; dk uke fyf[k,A

(4) ekjokM+h fdl izkar dh cksyh gS \

(5) nf{k.k Hkkjr esa igys fganh izpkjd ds :i esa egkRek xka/khth us fdls

Hkstk Fkk \

(6) Hkk"kkfoKku ds vax fyf[k,A

(7) O;atu fdls dgrs gSa \

(8) fganh dh vuqukfld /ofu;k° fyf[k,A

(9) vFkZ fdls dgrs gSa \

(10) fyfi ds nks izdkj crkb,A
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T.Y. B.A. EXAMINATION, 2011

PERSIAN

General  Paper  III

(2008  PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

1. Write any one of the following : [16]

(1) Mention in detail about Arif Quzwaini.

(2) Explain poetic art of Khayani.

(3) Explain the life sketch and literary works of Shaikh Saadi.

2. Explain in Persian or explain and translate into English, Urdu or

Marathi any four of the following : [16]

WVŠg]z¼®)z�lzyzlÃ )1(
èZÈkB�}&Ò5»40î GGYGE7lÃ

aWs�Š½g'ª )2(
ŠwŠgŠqx7SZÞ

$©ø
GG

LÂ!5ÿ
I

L·pŠ6,zgZ„ )3(
pŠ6,„zpŠÎZgzpŠuZ„

P.T.O.



**!Y%rZ§Z+!¾zí„ )4(

Ý%rÔ¤/ëg$ëaðZ„

Š_ZiØtÔ
+B©-ê
EEEG

Üx )5(

Šz»Y)zk,@™Šx

NZk„ÔāâgZ�Ûz|# )6(

ÍCÙ~ŠCÙzÑgZyh+

3. Write the merits and demerits of the book Chahar Maqala. [16]

Or

Explain LLDæxóó  in detail.

4. (A) Reproduce in your own words in Persian any one of the

following : [8]

©e$Îy¹Z−z!úŠzZc*i )1(

©e$OÛi{ )2(

©e$u$iŒé
G

xy )3(

(B) Write the central idea of any one of the following : [8]

÷á@zÓ )1(

Š¬ )2(

"¾zí )3(
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5. Translate into English, Urdu or Marathi any two passage of the

following : [16]

:0*Š÷á{gZZi÷á²(eg{–ā’YZÌZzgZF,KM+zf™ZzŠg )1(

ŠzZz+zŠÃF,µ¤/ŠZ0+ik,Zāay0*Š÷á{!*%~ā**¦/k,Z„âñg

ØŠZiHzmz�ÜYZzWU*gú0+z**xZzÐÄ÷á²ZyYzh+10+Ô

Ñp&CÓå EO~¤/ÇãÍh+X

ZiZyPZyhZ+˜ã

āâ0+ZiWw‚‚yzWw‚ây

z~gzŠÅâ0+„zæs#

âZ~!*gh+â0+„zŠ*y

aygzŠÅ$++šMg¦Z÷Oyª‚āZiª�ÛzŠWæz!ñi{ )2(

0*~Šgg»[¥âHWzgŠzgz~/�gZ.ŠOègZ2zñi{@*Šz

�Û÷Šg8Z÷',z0+/',zMzW�Šg0*~™ŠzÁy@*�gZˆY~!*i

ôazgzŠÅWyE@DÙZgŠbgpµZiH$k5å EGÔzïx$g,ç E¥Šg“Y

Zg,z8g)é
E

MYZiŠ�yZ1gYZ£0†ZÅ™)å OZ°h+~ā„7åEOðZ1gY

©e$™ŠX
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WzgŠ{Z0+āŠg+Òâ{¾ug$-g%y7úŠ*g„™ŠzZi )3(

ÝâyZzq-Ýx**'×Š1ŠāZzgZ}.#Öb™Šzb~#ZzÛzyb”z

ŠgòWægzi~Z+Ýx¬%çZgç2ò*“ÃwÍðZzgZæZ0+z

„Šg¤ÙÂPKëb&4-ê EGE@tY$+{@*F,Z$*ÝxŠg~Šzh+zŠZŠ

ÃwÍ~„³m,~ZiWyÂŠgg̃Z„X

0+âYp÷ÃuÐö
E

gZæZ0+z„�ÛŠZ�:Yp÷ÑZ[pgz
!-B-ê

E
EJçâ~gZ )4(

æZyzZzgZÑZ[Š{zŠg¸e$™Ziz*.çEFkāZ+Z(gāÂ™Š~™

tŠz!-A)é
E
EOyW3,Z‘4-<é GEXb±k5åGaçOZ+%Z$~Wy0+*Oy™Šz

'.o-ö EG
Ziz~

*.çEF¦çâ~„ðŠZ
$o-ê
EG

āZiŠzÛzym”c*WyHNØŠX
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T.Y. B.A. EXAMINATION, 2011

SANSKRIT (G-III)

General Paper III

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts :— (i) izfrekukVde~-

(ii) Hkkfeuhfoykl-

1. Translate any two passages from Section ‘A’ and ‘B’ each :

^v* vkf.k ^c* foHkkxkrhy izR;sdh nksu osP;kaps Hkk"kkarj djk %

Section ‘A’

(foHkkx ^v*)

(i) jke% µ vUueksgeqixrLr=Hkoku~ A gUr fuosfnre~ izHkqRoe~ A eSfFkfy e≥~xykFksZ∑u;k

nŸkku~ oYdyk Lrkonku;A

djksE;U;Su`ZiS/kZeZ uSokIra uksiikfnre~˚

lhrk µ x`gÓRok;Ziq=%A

jke% µ eSfFkfy fda O;oflre~A

lhrk µ uuq lg/keZpkfj.kh [kYoge~A

jke% µ e;Sdkfduk fdy xUrO;e~A

lhrk µ vrks uq[kYouqxPNkfeA

jke% µ ous [kyqoLrO;e~A

P.T.O.
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lhrk µ rr~ [kyq es izklkn%A

jke% µ 'oJw'o'kqj'kqJw"kkf.k p rs fuoZrZf;rO;kA

lhrk µ ,rkeqfÌ'; nsorkuka iz.kke% fÿ;rsA

(ii) Hkjr% µ (lkosxe~) lwr fpja ekrqyifjp;knfoKkro`ŸkkUrks∑fLeA

Jqra e;k n`<edY;'kjhjks egkjkt bfrA rnqP;rka firqesZ dks O;kfËk%A

lwr% µ ‚n;ifjrki% [kyq egku~A

Hkjr% µ fdekgqLra oS|k%A

lwr% µ u [kyq fHk"ktLr= fuiq.kk%A

Hkjr% µ fdekgkja Hkq≥~Drs 'k;uefiA

lwr% µ HkwekS fuj'ku%A

Hkjr% µ fdek'kkL;kn~A

lwr% µ nSoaA

Hkjr% µ LQqjfr ‚n;a okgÓ jFke~A

(iii) Hkjr% µ vk;Z vU;efi oja grqZfePNkfeA

jke% µ oRl fdfePNflA fdega nnkfeA fdegeuq"BkL;kfeA

Hkjr% µ iknksiHkqDrs ro iknqds e

,rs iz;PN iz.krk; ew/ukZA

;kon~ Hkokus";fr dk;Zflfºa

rkon~ Hkfo";kE;u;ksfoZ/ks;%˚

Section ‘B’

(foHkkx ^c*)

(i) rks;SjYiSjfi d#.k;k HkheekukS funk?ks

ekykdkj O;jfp Hkork ;k rjksjL= iqf"V%A

lk fda 'kD;k tuf;rqfeg izko`"ks.;su okjka

/kkjklkjkufi fofdjrk fo'orks okfjnsu˚

[10]
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(ii) izkjEHks dqlqekdjL; ifjrks ;L;ksYylUe¥tjh

iq¥ts e¥tyeqf¥trkfu Lo;aLrkukruks#Rloku~A

rfLeUu| jlky'kkf[kfu n'kka nSokRœ'kke¥pfr

Roa psUeq¥pfl p¥pjhd fou;a uhpLRonU;ks∑fLr d%˚

(iii) vO;k[;s;ka forjfr ijka izhfreUrfuZeXuk

d.Bs yXuk gjfr furjka ;kUrj/okUrtkye~A

rka Êk{kkS?kSjfi cgqerka ek/kqjheqn~fxjUrha

œ".ksO;k[;ka dFk; jlus ;|fl Roa jlKk˚

2. Explain with reference to the context any two from Section ‘A’ and

‘B’ each :

^v* vkf.k ^c* foHkkxkrhy izR;sdh nksu okD;kaps llanHkZ Li"Vhdj.k djk %

Section A

(foHkkx ^v*)

(i) vk;Z uuq oDrO;esd'kjhjlaf{kIrk i`fFkoh jf{kŸkO;sfrA

(ii) f{kizekuh;rka iq=% ikia lQyefLRofrA

(iii) gLrLi'kkZs fg ekr`.kketyL; tyk¥tfy%A

(iv) thewrpUÊ bo [ks izHk;k fo;qDr%A

Section B

(foHkkx ^c*)

(i) mn~fxjrks ;n~xjya Qf.kuk iq".kkfl ifjeyksn~xkjS%A

(ii) rkufi ogfl iVhjt fda dFk;keLRonh;ekSUuR;e~A

(iii) ekdUn u izisns e/kqisu roksiek txfrA

(iv) psr% lj.kkoL;ka fda ukxUrk dnkfi uUnlqr%A

[10]

[10]
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3. Write descriptive notes on any two of the following : [16]

iq<hyiSdh dks.kR;kgh nksgksaoj lfoLrj Vhik fygk %

(i) The character of Hkjr in izfrekukVde~-

izfrek ukVdkrhy Hkjrkph O;fDrjs[kk-

(ii) izos'kd% in izfrekukVde~-

izfrek ukVdkrhy izos'kd-

(iii) Vrkshanyokti .

o`{kkU;ksDrh-

(iv) Kupanyokti .

dwikU;ksDrh-

4. Appreciate critically Act 6th of izfrekukVde~- [12]

izfrekukVdkP;k lgkO;k vadkaps fpfdRld jlxzg.k djk-

Or

(fdaok)

Appreciate critically Act 3rd of izfrekukVde~-

izfrekukVdkP;k frlÚ;k vadkaps fpfdRld jlxzg.k djk-

5. (i) Explain with detail ‘Gajanyokti ’ in 

Prastavikavilasa

. [12]

izkLrkfodfoyklkrhy xtU;ksDrh lfoLrj Li"V djk-

Or

(fdaok)

(ii) State the character sketch of Jagannatha Pandita and state

his date and works.

txUukFk iafMrkpk dkˇ&thou vkf.k dkyœrh Li"V djk-
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T.Y. B.A. EXAMINATION, 2011

SANSKRIT

(S-III)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts :— (i) y?kqflºkUrdkSeqnh-

(laKk] dkjd] lfU/k-)

(ii) History of Vedic Literature.

oSfnd ok≥~e;kpk bfrgkl-

(iii) Sanskrit Composition.

laLœr fucU/kys[ku-

1. Explain any three of the following : [15]

iq<hyiSdh dks.kR;kgh frghaps Li"Vhdj.k djk %

(i) gyUR;e~A

(ii) bdks ;.kfpA

(iii) vkn~ xq.k%A

(iv) ≈dkyks∑T>zLonh?kZIyqr%A

(v) /kzqoeik;s∑iknkue~A
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2. (A) Write notes on any three of the following : [6]

iq<hyiSdh dks.kR;kgh frghaoj Vhik fygk %

(i) lafgrkA

(ii) o`fº%A

(iii) la;ksx%A

(iv) drkZA

(v) miinfoHkfDr%A

(B) Split any two conjuncts of the following quoting relevant

rules : [4]

iq<hyiSdh nksgksapk lacaf/kr lw=s lkaxwu laf/k&foxzg djk %

(i) uk;d%A

(ii) txnh'k%A

(iii) nsoky;%A

(iv) gfja oUnsA

(C) Give any five vibhaktis of the underlined words from the following

sentences giving relevant rules : [5]

[kkyhy okD;krhy dks.kR;kgh ikp v/kksjsf[kr 'kCnkaP;k foHkfDr lacaf/kr lw=kP;k

vk/kkjs lkaxk %

(i) gfja HktfrA

(ii) jkes.k ck.ksu grks ckyhA

(iii) xzkee~ vtka u;frA
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(iv) HkwekS irfrA

(v) ouL; nwjsA

(vi) frys"kq rSye~A

(vii) jkK% iq#"k%A

(viii) o`{k% vofpuksfr QykfuA

3. (A) Point out the different names of the vFkoZosn- What light do they

throw on its nature ? [12]

vFkoZosnkph osxosxˇh ukos lkaxk- R;kP;k Lo:ikoj rh dks.krk izdk'k

Vkdrkr \

Or

(fdaok)

Write an essay on Rgveda and its branches. [12]

ΩXosn o ΩXosnkP;k 'kk[kk ;koj fuca/k fygk-

(B) Explain the fundamental tenets of the Upanisads. [12]

mifu"knkrhy HkwyHkwr rRRokaps Li"Vhdj.k djk-

Or

(fdaok)

Write an essay on vkj.;d- [12]

vkj.;ds ;koj fuca/k fygk-

.
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4. Write critical paragraph on any two of the following : [16]

iq<hyiSdh dks.kR;kgh nksgksaoj foospd ifjPNsn fygk %

(i) dYilw= and O;kdj.k Vedanga.

dYilw= vkf.k O;kdj.k osnkax-

(ii) czk„.ks-

(iii) ΩXosnkrhy vf‹oukS nsork-

vf‹oukS as deity in the Rgveda.

(iv) ΩXosnkrhy vfXu nsork-

vfXu as deity in the Rgveda.

5. Write a short essay in Sanskrit on any one of the following : [10]

[kkyhyiSdh dks.kR;kgh ,dkoj laLœrkr fucU/k fygk %

(i) lR;eso t;rsA

(ii) ee fe=e~A

(iii) dfodqyxq#% dkfynkl%A

.

.
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T.Y. B.A. EXAMINATION, 2011

SANSKRIT (S—IV)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts :— vkRekukRefoosd (Atmanatmaviveka)

rdZlaxzg (Tarkasamgraha)

1. (A) Explain with reference to the context (any three) of the

following : [15]

[kkyhyiSdh dks.kR;kgh frUghaps llanHkZ Li"Vhdj.k djk %

(i) frfr{kk uke nsgfoPNksnO;frfjDra 'khrks".kkfn }a}lgue~A

(ii) vfoosd% dLekn~ Hkofr vKkukr~A

(iii) Jn~/kk uke xq#osnkUrokD;s"kq vrho fo‹okl%A

(iv) vUr%dj.ka uke eukscqfºf‹pŸkeg¡kj‹psfrA

(v) eqeq{kRoa uke eks{ks vfrrhozsPNkoRoe~A

(B) Explain with reference to the context (any three) of the

following : [15]

[kkyhyiSdh dks.kR;kgh frUghaps llanHkZ Li"Vhdj.k djk %

(i) vkdka{kk ;ksX;rk lafuf/k‹p okD;kFkZKkugsrq%A
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(ii) izkP;kfnO;ZogkjgsrqfnZd~A

(iii) ;Rleosra dk;Ze~ mRi|rs rRleokf;dkj.ke~A

(iv) LokFk± Lokuqfefr gsrq%A

(v) laLdkjfL=fo/k%A osxks Hkkouk fLFkfrLFkkid‹psfrA

2. Explain fully the nature of Anatma. [15]

vukRE;kps Lo:i laiw.kZ Li"V djk-

Or

(fdaok)

Explain fully the ^"kM~fo/kfy¬* of ^rkRi;Zfu.kZ;*-

rkRi;Zfu.kZ;kph "kM~fo/kfyaxs Li"V djk-

3. Explain fully the ‘Pratyaksha Pramana’. [15]

izR;{kizek.k iw.kZi.ks Li"V djk-

Or

(fdaok)

Describe the seven Padarthas mentioned in Tarkasamgraha.

rdZlaxzgkrhy lIr inkFkk±ps foospu djk-
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4. Write critical notes on any two of the following : [10]

[kkyhyiSdh dks.kR;kgh nksgksaoj fpfdRld Vhik fygk %

(i) iaphdj.k

(ii) lw{e'kjhj

(iii) vf/kdkjh-

5. Write critical notes on any two of the following : [10]

[kkyhyiSdh dks.kR;kgh nksgksaoj fpfdRld Vhik fygk %

(i) deZ

(ii) vHkko

(iii) mifefr-



P.T.O.
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T.Y. B.A. EXAMINATION, 2011

ARDHAMAGADHI (Prakrit)

Paper G-III

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

    Section A—uydgk

    Section B—vat.kkio.kat;oqŸkarq (laf/k 18&19)

Note :— All questions are compulsory.

      loZ iz'u vko';d vkgsr-

Section A

(uydgk)

1. Translate into English or Marathi any two : [10]

dks.kR;kgh nksgksaps baxzth fdaok ejkBhr Hkk"kkarj djk %

(I) vÙks Oo esgeqÙks lqoUufiaMks Oo vuymfŸkUuksA

ne;arh, Hkkys fryvks rks Qqfjmekjºks˚

vg nso;kb ifMe Oo .gkfo;k fu;djsfga nsoh,A

iojalq;kba ifjgkfo≈.k uh;k uholehos˚

pantlk ne;arh ; nksfo jUuks lgkb mofoÎkA

rfEe le;fEe lwjks Hkqo.kibZoks xvks vRFka˚

frfejs.k dTtys.k o Hkk;.ka x;.keaMya Hkfj;aA

rgfo u jk;lgk, fo;afHkvks frfejyslks fo˚
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(II) oqŸkks uys.k ,lks nw;eqgs.kaµe, lea tqT>aA

gksm eg rqT> yPNh] eg yPNh ok gom rqT>˚

vg dwcjs.k iq.kjfo ikjºa tqT>Hkh#.kk tw;aA

lks lqd;ealys.ka uys.k gkjkfovks lOoa˚

dwjks fo dwcjks lks ee ygqca/kq fŸk dksojkfg,.kA

xq.kfuEeys.k fofgvks uys.k iqOoa Oo tqojkvks˚

yfg≈.k fu;a jTta ne;arhlatqvks uyks jk;kA

mÙafBvks uealb vmT>u;jhft.kgjkba˚

(III) rRFk #ºks dj/kfj;/k.kqck.k flYysfga fHkYysfgaA jga eqŸk.k <qÙks rk.k laeqgks djs.k

djokya uPpko;arks uyksA lhgLl o fl;kyslqa dks rqg beslq vD[ksoks \ Hkj&

gºfot;yPNhfoyklHko.ka rs fdok.kks fda u yTt, beslq ilqik,lq igjarks \

fŸk Hk.karh, Hkq;k, /kfjvks jga eqŸkw.k ne;arh, uyksA eqÙk ne;arh, lhyekgIinqLlgk

gqadkjkA gfj.k Oo gjhfga xqatarsfga i.kÎk fnlksfnla fHkYykA fHkYyfiÎvks uys.k

lea x;k ne;arh nwjaA

2. Explain with reference to the context any two : [10]

llanHkZ Li"Vhdj.k |k (dks.krsgh nksu) %

(I) lPpa [kq ,;a tks [khja ik,b lks fo MflTt, rqg tkbZ,A

(II) Hkks [kqTt ! vfRFkflD[kkfo;D[k.ka fdeUua fi foUuk.ka rs \

(III) ufg Hkksfx.kks d;kfo gq fu;dapqfy;k dq.kb HkkjaA

(IV) fda dq.kb iqfjl;kjks iqfjlLl fofgfEe foojh,A
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3. Give information about the author Somaprabhacarya along with his

works. [12]

ys[kd lkseizHkkpk;Z o R;kaP;k jpuk ;kcÌy ekfgrh |k-

Or

(fdaok)

Give the character sketch of ne;arh-

ne;arhps O;fDrfp=.k djk-

4. Give a note on any one : [8]

dks.kR;kgh ,dkoj Vhi fygk %

(i) fo|kikjaxr uyjktk-

(ii) uydFksrhy vn~Hkwr jl-

Supernatural elements in uydgk-

Section B

vat.kkio.kat;oqŸkarq (laf/k 18 & 19)

5. Translate any one of the following into English or Marathi : [10]

[kkyhyiSdh dks.kR;kgh ,dkps ejkBh fdaok baxzthr Hkk"kkarj djk %

(1) rks nqD[kq nqD[kq nqfEe;e.ks.k

fdm ikf.kXxg.kq igat.ks.kA

fFkm okjg ofjlb° ifjgjsfo

.kfo lqvb vkyob lqb.kos foA

okjs fo .k tkb .k tse tse
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f[kTtb f>Ttb iq.kq rse rseA

MT>arm m# fojgk.kys.k

.k oqT>kob valqvtys.kA

ifjokjfHkfŸkfpŸkkb° tkb°A

.khlkl/kweefy;kb° rkb°A

f<Yyb° vkgj.kb° ifj;yafr

.ka .ksg[kaM[kaMb° iMafrA

xm #fg# .koj fFkm vb.kq vfRFk

.km .kkob thfom vfRFk .kfRFkA

rfg° rsg,W dkys W nlk.k.ks.k

lqjojdqjaxiapk.k.ks.kA

?kŸkkµtks nqEeqgq nwm folfTt;

lks vk;m dIifoofTt;mA

g; lejHksfj jgojs W pfMm

j.ks W jko.kq o#.kgks W vfCHkfMm˚

(2) ,e oksYy fdj fofg fe ijksIi# tkos °fga

xhm xsm xa/kOos e.kg# rkosfg °̊

ra f.klq.ksfo ifjvksfl; f.k;e.ks W

^iPN..kq dks fo lqfg olb o.ks WA

vlekfgej.kq tsa .kkfl;m

v..kq fo xa/kOoq i;kfl;m*A

vojksIi# ,e poafr;gq°
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ify;adxqgfg ° vPNafr;gq°A

ekgoeklgks cgqyÎfe,°

j;f.kgs W ifPNeigjºs W fFk,WA

.kD[kŸks W lo.ks W mIi..kq lqm

gydeydqfyl>ldeytqmA

pDdadqldqEela[klfgm

lqgyD[k.kq voyD[k.kjfgmA

rk.karjs W ijoyf.kEegs.k

ifMlwjsa lwjleIigs W.kA

.kgs W tars os fo f.k;fPN;m

vksvjs W fo foek.kgks ° iqfPN;mA

?kŸkkµ^dfga tk;m dfg ° ofÔ;m

dgks /kh;m dgks dqˇmfŸk;m

dlq dsjm ,oÏq nqgq

o.ks W vPNgks W ts.k :vWfr;m*˚

6. Explain with reference to the context (any two) : [10]

llanHkZ Li"V djk (dks.krsgh nksu) %

(1) ljglq lkbm nsar,Wfga ta ,DdesDdq vkohfy;m

valq i.kkysa .khljb .ka dyq.kq egkjlq ihfy;mA

(2) g.kq#gnhos ° iofÔ;m ^g.kqoarq* .kkeq rsa rklq fdmA

(3) mIi,Wfo .kgax.ks ° os fo x; .ka fl;vfgflap.ks W eŸk x;A

(4) vPNars vfPNm thm egq tars tk,lb ib° ft lgq°A
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7. Define egkdkO; and evaluate imepfjm as a egkdkO;- [12]

egkdkO;kph O;k[;k ns≈u imepfjm ps ,d egkdkO; Eg.kwu ijh{k.k djk-

Or

(fdaok)

Critically evaluate 18th la/kh of vat.kkio.kat;oqŸkarq-

vat.kkio.kat;oqŸkarqP;k 18O;k la/khps foospd ewY;ekiu djk-

8. Write a note on any one : [8]

dks.kR;kgh ,dkoj Vhi f«gk %

(1) Lamentation of vatuk-

vatuspk foyki-

(2) Condemnation of vatuk by dsrqerh-

dsrqerhus vatusph dsysyh fuHkZRlZuk-



P.T.O.
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T.Y. B.A. EXAMINATION, 2011

PALI

Paper G-3

(mnku and pfj;kfiVd)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Part A

(mnku)

1. Translate into English or Marathi (any two) : [10]

ejkBh fdaok baxzthe/;s Hkk"kkarj djk (dks.krsgh nksu) %

(I) ,oa es lqraA ,da le;a Hkxok x;k;a fogjfr x;klhlsA rsu [kks iu le;su
lEcgqyk tVhyk lhrklq gsefUrdklq jŸkhlq vUrjÎds fgeikrle;s x;k;a mEeqTtfUr
fi fueqTtfUr fi meqTtfueqTta fi djksfUr vksfl¥pfUr fi vfXxa fi tqgfUrµ^^bfeuk
lqfºa* frA

vÌlk [kks Hkxok rs lEcgqys tfVys lhrklq gsefUrdklq jŸkhlq vUrjÎds fgeikrle;s
x;k;a meqTtUrs fi fueqTtUrs fi meqTtfueqTta fi djksUrs vksfl¥pUrs fi vfXxa
fi tqgUrsµ^^bfeuk lqºh** frA

(II) vLlkslqa [kks fHkD[kqµ^^vk;Lek fdj uUnks Hkxorks Hkkrk ekrqPNkiqŸkks vPNjkua
gsrq cz„pfj;a pjfr_ Hkxok fdjLl ikfVHkksxks i¥pUua vPNjklrkua ifVykHkk;
dqDdqViknkua** frA

vFk [kks vk;Lerks uUnLl lgk;dk fHkD[kw vk;LeUra uUna Hkrdoknsu p mifDdrdoknsu
p leqnkpjfUrµ^^Hkrdks fdjk;Lek uUnks] mifDdrdks fdjk;Lek uUnks vPNjkua

gsrq cz„pfj;a pjfr_ Hkxok fdjLl ikfVHkksxks i¥pUua vPNjklrkua ifVykHkk;

dqDdqVkiknkua** frA
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(III) vFk [kks vk;Lerks fifyUnoPNLl iqCcsfuokla eufl dfjRok fHkD[kw vkeUrsflµ

^^ek [kks rqEgs] fHkD[kos] oPNLl fHkD[kquks mT>kf;RFkA u] fHkD[kos] oPNks nkslUrjks

fHkD[kw olyoknsu leqnkpjfrA oPNLl] fHkD[kos] fHkD[kquks i¥p tkfrlrkfu

vCcksfd..kkfu czk„.kdqys iPpktkrkfuA lks rLl olyoknks nh?kjŸka leqnkfp..kksA

2. Explain any two with reference to the context : [10]

dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(I) ,oesra ;FkkHkwra] lEeIi¥¥kk; iLlrksA

HkorOgk igh;fr] foHkoa ukfHkuUnfr˚

(II) ;nk ldslq /kEeslq] ikjxq gksfr czk„.kksA

vFk ,ra filkpa p] iDdqy¥pkfrDrrh*frA

(III) lCca ijola nqD[ka] lCca bLlfj;a lq[kA

lk/kkj.ks fog¥¥kfUr] ;ksxk fg nqfjrDdek*fr˚

(IV) fnlks fnla ;a ra df;jk] osjh ok iu osjhuaA

fePNkif.kfgra fpŸka] ikfi;ks ua rrks djs*fr˚

3. Explain the concept of czk„.k with reference to czk„.klqŸka] egkdLlilqŸka

and vtdykidlqŸkaA [8]

czk„.klqŸka] egkdLlilqŸka o vtdykidlqŸkkauqlkj czk„.k gh ladYiuk Li"V djk-

Or

(fdaok)

Write a detailed note on eqpfyUnoXxks-

eqpfyUnoXxkoj lfoLrj Vhi fygk-
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4. Critically evaluate gqagqMdlqŸka- [12]

gqagqMdlqŸkkps fpfdRld foospu djk-

Or

(fdaok)

Write a detailed note on ^ifVPpleqIikn*-

^izfrR;leqRikn* ;koj lfoLrj Vhi fygk-

Part B

(pfj;kfiVd)

5. Translate any two into English or Marathi : [10]

dks.kR;kgh nksgksaps ejkBh vFkok baxzthr Hkk"kkarj djk %

(1) dsoya iFkfoa jTta] ¥kkfrifjtua ;laA

ptekuks u fpUrsfla] cksf/k;k;so dkj.kk˚

ekrk firk u es nsLlk] u fi es nsLla egk;laA

lCc¥¥kqra fi;a e∏ga] rLek jTta ifjPpfta fr˚

(2) iqukija ;nk gksfe] dklhua iqjo:ŸkesA

Hkfxuh p Hkkrjks lŸk] fuCcŸkk lksfRFk;s dqys˚

,rsla iqCctks vkfla] fgjhlqDdeqikxrksA

Hkoa fnLoku Hk;rks] usD[kEekfHkjrks vga˚

(3) ;a rsla opua oqŸka] fxgh/kEes lq[kkogaA

ra es vgksfl dfBua] rŸkQkylea fo;˚

rs ea rnk mfD[kiUra] iqfPNlqa ifRFkra eeA

fda Roa iRFk;ls lEe] ;fn dkes u Hkq¥tfl˚
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6. Explain any two with reference to the context : [10]

dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(1) ;ks es dfufÎdks Hkkrk] uUnks ukekfl if.MrksA

lks fi ea vuqflD[kUrks] iCcTta lejkspf;˚

(2) ;nk vga dfi vkfla] unhdqys njhl;sA

ihfˇrks laqlqekjsu] xeua u yHkkega˚

(3) vuqLlfjRok lra /kEea] ijeRFka fofpUr;aA

vdkfl lPpfdfj;a] ;a yksds /kqolLlra˚

(4) vuqLlfjRok lra /kEea iqCcda ftulsforaA

czk„.kLl /kua nRok] iksfjlkna mikxfea˚

7. Write a detailed note on any one : [8]

dks.kR;kgh ,dkoj lfoLrj Vhi fygk %

(1) d.gnhik;upfj;k-

(2) lkseuLlpfj;k-

8. Critically evaluate any one : [12]

dks.kR;kgh ,dkps foospd ijh{k.k djk %

(1) gfRFkukxoXx

(2) vfdfŸkoXxks-
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1. Translate into English or Urdu or Marathi any two of the following

passages : [16]

ZZ�ì³Øq³Û³^Âèö]Öj$³¡Ún„eÏ^Öè÷Òfn†é÷uör^æ…é÷ÖÛ‚…‰jôãÜÖnjÃ†Êç] E]ÖÌD

Â³×³oF]Öf³Ï^Öè!Ê^‰jÏf×ãöÜ‘^uôfã^ef�^�èõæ]ì„m�†|öÖøãöÜÎ^ñ¡÷V

]Öf³Ïù^Ùømöø̂æôù�öÒöÜe^ÖŠ%Óù†æ]Ö†ö‡ôùæ]Öù̂mkôæ]ÖÛ×xæ]Ö’$^eçáæ]Ö%̂q‚øéõ

]Ö³röfû³àæ]Ö³×ùf³à]Ö³r³³^Íùæ]Ö³Ûö³³†øeùn³³^lôæ]¢‰³Û³³^Õ]Ö³ÛvËç¾è

æÆn³³†ƒÖÔ!Ú³³à]Ö³³Û³ç]�ô]Ö¡$‡ôÚèôÖ³×³_$³Ãø³^ÝøæÖj³ß³¿nÌ]Ö³Û³ß³ˆÙ!

$ö³Üù]Öj³Ë³kÞ³v³ç]Ö³†%ÊøçÍ]Öjoæ•ÃkÂ×nã^æÎ^ÙV]ôÞùß^Þ†igöÒöØù

Þ³çÅõÚ³à]Öf³–³^ÂèæÞ³–³Ãäöæu‚åö!æÞ–ÄöÂ×näæ…Îè÷ÞÓjögöÂ×nã^

�Ûßäö!

P.T.O.



ZZæmøŠj³_nÄö]ÖrÛØö]ámíö̂áÊoqçÊä́Ú^ð÷mÓËnäÂ‚ùéœmù^Ýõ¢Þ$äöiÃøç$�ø EhD

œámø�û³†øhøÒ%n³†]÷Îf³Ø]ám³í³†ötÊo…u¡iä́]Ö_çm×èô]ÖjoŸmr‚öÊo

]$ß^ñãø^Úø^ð÷m�†øeäö!æm†ÂoF]ÖrÛØö]ÖÃ�gøæ]Ö�çÕæm^ÒöØö]ÖËçÙæ

]Öjôùn³àøæ]Öf³†‰ôn³Üøæ]Ö�³Ãôn³†Òø³Ûø³^i³^ÒöØö]ÖínØöæ]ÖfÇ^Ùöæ]ÖvÛn†öæø

]Ö³r³Û³Øm³_³†e³äöuö³‚ø]ðö]ÖrÛ^Ùô(Ê^ƒ]‰ÛôÃøäöÞ�¼Êo‰n†ǻ!æqÛØö

]Ö³†ùÒ³çh!æmŠ³Û³o#ZZ]Ö³„ùÖ³çÙXXmŠj_nÄö]ámÏ_ÄÊo]ÖnçÝ]Öç]u‚

Ú³^ñèÒn×çÚj†ÚàÆn†]ámjÃg!æ]Þ%oF]ŸeØiöŠøÛo$]Öß$^ÎèæmjÇ„ùp

]Öf³‚æöe³×fø³ßã³^æmjíô„ö]Ößù^ŒöÚàæe†]ÖrÛ^ÙÚ¡e‹øÚö‚ûÊòèq‚]÷Êo

]Ö�ôj^ðô!XX

ZZ]ôáùÖø³v³Ü]ŸÞŠ³^áÖnû³‹Òöj×øè÷æ]u‚øé÷ÒøÛø^mö†pF¾^a†÷]æÖFÓôß$äömjÓçùáö EtD

Ú³àÒöj³Ø‘³Çn†éõ!æi×Ôâo]ÖÃ–¡lö(æ¾nËjöã^içÖn‚ö]Öv†ÒèÊo

q³Ûn³Äô]q³ˆ]ðô]Ö³rŠÜ]ÖÛöíj×Ëè!æø]ÖÃ–¡löÂ¿nÛèö]ÖÃ‚�ôeÃ–öã^

Òfn³†ö]Ö³v³r³Üæe³Ã³–öã³^‘³Çn³†ö]Ö³vrÜ(æißÛnèö]ÖÃ–¡liˆm‚ö

Ê³oÎö³çùiôãø³^æe³Ïö³çùiôãø³^iø³ˆ�ø]�öÎ³çùéö]Öfø‚øáôæÒö×ùÛ^Îçp]Öf‚áö

Ò³^á]ŸÖ³ßŠ^áöœÎ‚…Â×oFi^�ômè]ÂÛ^Öäôæ]ÖÏn^Ýeç]qf^iä́!æÖô×†ôùm^•øèô

]Öf³‚Þôn$èÊ³^ñ³‚ø³éºÂ³¿n³ÛèºÊ³oi³ß³Ûnè]ÖÃ–¡lôæâo•†æ…ôm$èºÖ’ôv$èô

]ÖrŠÜô!XX
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2. (A) Explain with reference to the context any four of the following

couplets : [8]

]ƒ]ÒößkÊoÒöØôù]ŸÚç…ôÚöÃ^iôf÷̂ EMD

‘ø‚ômÏøÔÖÜiÃ×Ð]Ö„ùpŸiÃ^ifäö

æ]u‚]÷œæ‘Øœì^ÕÊ^Þ$äö ÊÃ� END

ÚöÏ^…ôÍöƒÞgõÚø†ùé÷æÚör^Þfäö

æÚàƒ]]Ö„ùpiö†•oF‰r^m^åöÒö×ùã^ EOD

ÒËoF]ÖÛ†ðöÞöf¡÷œáiöÃ‚ùÚøÃø^mfäö

æ‰^…ôÅÚ^…öÚkÚ^�öÚkÎ^�…]÷ EPD

Â×nä́æ]áÖÜiöf’†]Öß%rxÊ^‘f†

Âçù�ÚÏ^Ù]Ö’ù‚ÑÞËŠÔæœ…•äö æ EQD

i’‚$ÑæŸi†Òà]ÖoFÎçÙõÚöËj†

æŸiÏÌö‡Ÿùl]ÖÃf^�ôiÃö‚%â^ ERD

Ê×ŠkøÂ×oFâF„]]Öç…pFeÛöŠn_†ô

æÚ^œÞ^ÚôÛùàiª‰†ö]ÖíÛ†öÖöfùäö ESD

æmÛ×Ôö‰ÛÃnä]Ön†]Åö]ÖÛö%Ïgö
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(B) Write the short notes on any two of the following poets : [8]

eø�$^…eôàûqö†û� EMD

]Öf^…æ�p END

]ŸÚø^Ýö]Ö�$^ÊôÃo EOD

u^ÊÀ]e†]ânÜ EPD

3. (A) Explain with reference any one of the following Surahas : [8]

‰ç…éö]Övör†]l EMD

‰ç…éö]ÖË†Î^á END

‰ç…éö]ŸÞË_^… EOD

‰ç…éö]ÖÃ×Ð EPD

(B) Summarise any two of the following lessons : [8]

æ‘Ìö]Ö„ù]âô‚ EMD

]Ö‚ùmàö]Ö’ùß^Âo END

Êo‰fnØ]ÖŠùÃ^�éôæ]ÖnÏnà EOD

qç]ÚÄö]ÖÓ×Ü EPD

4. Define with examples any two of the following topics : [16]

]Övö†æÍö]ÖÛö�fäöe^ÖËÃØ EMD
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]Öj�fnäö END

]ÖÛÃ†æÍöæ]ÖÛrãçÙö EOD

]Ÿ‰jÃ^…éö EPD

5. (A) Translate into English of the following passage : [8]

ZZ]Ö³ßã³‚öæ›³ß³o!â³oÎ_†ºÆøßo'!]…•öã^ì’fèºæ‘^ÖvèºÖ×ù̂…]Âèæ]Ö%Û^…öâ^

Ò%n³†éº!æqøç%âø^ÚöÃj‚ôÙºæ‰øÛø^ðöâ^‘^Ênèº!æìn†]iã^Ò%n†éº!�Ãföã^Ò†mÜºmövg%

]Ö³–nÌæmöÓ†Ýö]ÖËÏ†]ð!]Öãß‚öÂ–çºÊoânòè]ŸqÜ]ÖÛjöv‚éæâoi×Ãgö�æ…]÷â^Úù÷̂

ÊoqÛnÄÞ�^›÷̂iã^!œÞ^ì^�ÝºÖç›ßo!XX

(B) Translate into Arabic of the following passage : [8]

‘‘Madras is a big city. Its in habitants exceed three million

persons. It is the capital of the state of Tamil Nadu. It is an

industrial and commercial city. It is a horticultural

(Agricultural) city. Cultivation of vegetables, fruits, and

coconut are found in its outskirts. Even as big gardens are also

found in the city. It is situated in South on the Bay of

Bengal.’’
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T.Y. B.A. EXAMINATION, 2011

ECONOMICS

(G-III : Indian Public Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :  [10]

(i) Explain the nature of Public Finance.

(ii) State the demerits of Direct Tax.

(iii) State the concept of Revenue Deficit and Fiscal Deficit.

(iv) State the sources of Internal Public Debt.

2. Write notes in 100 words each (any four) : [20]

(i) Types of Budget.

(ii) Causes of increasing Public Debt.

(iii) Sources of Public Revenue.

(iv) Principles of Public Expenditure.

(v) Adverse effects of Deficit Financing

(vi) Revenue sources of Central and State Government.

P.T.O.
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3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(i) Explain the causes of increasing public expenditure in

India.

(ii) Explain the determinants of Taxable Capacity.

(iii) Explain the recommendations of 13th Finance Commission.

(iv) Explain the constitutional provision of Central-State Financial

Relations.

(v) Explain the “Principle of Maximum Social Advantage” of

Dr. Dalton.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the effects of taxation on production, distribution and

employment.

(ii) What is Fiscal Policy ? Explain in detail the objectives of Fiscal

Policy.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) lkoZtfud vk;O;;kps Lo:i Li"V djk-

(ii) izR;{k djkps nks"k lkaxk-

(iii) eglq«h rqV vkf.k foŸkh; rqV ;k ladYiuk Li"V djk-

(iv) varxZr lkoZtfud dtkZps ekxZ lkaxk-
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2. izR;sdh 100 ðkCnkar Vhik f«gk (dks.krkgh pkj) % [20]

(i) vankti=dkps izdkj

(ii) lkoZtfud dtZok<hph dkj.ks

(iii) lkoZtfud eglq«kps ekxZ

(iv) lkoZtfud [kpkZph rRos

(v) rqVhP;k vFkZHkj.;kps izfrdw« ifj.kke

(vi) dsaÊ vkf.k jkT; ljdkjP;k eglq«kps ekxZ-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) % [30]

(i) Hkkjrkrh« lkoZtfud [kpZ ok<hph dkj.ks Li"V djk-

(ii) djns;{kersps fu/kkZjd ?kVd Li"V djk-

(iii) rsjkO;k foŸk vk;ksxkP;k fðkQkjðkh Li"V djk-

(iv) dsaÊ&jkT; ljdkjP;k fofŸk; laca/kkckcr lafo/kkukRed rjrqnh Li"V djk-

(v) MkW- MkYVu ;kaps egŸke lkekftd «kHkkps rRo Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukps 500 ðkCnkar mŸkj f«gk % [20]

(i) mRiknu] foHkktu vkf.k jkstxkj ;kojh« djkps ifj.kke Li"V djk-

(ii) jktdks"kh; /kksj.k Eg.kts dk; \ jktdks"kh; /kksj.kkph mfÌ"Vs lfoLrj Li"V

djk-
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the meaning and scope of International Economics.

(2) State the gain’s from International Trade.

(3) State the functions of IMF.

(4) State the demerits of Devaluation.

2. Write short notes in 100 words each (any four) : [20]

(1) Inter-regional trade.

(2) Leontief’s paradox.

(3) Terms of trade.

(4) World Trade Organization and India.

(5) Special Economic Zone [SEZ].

(6) World Bank.

P.T.O.
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3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(1) Explain the arguments in favour and against of protected

trade policy.

(2) Explain the ‘Trade as an Engine of Economic Development’.

(3) Explain India’s Import-Export trade policy.

(4) State the objectives and achievements of IMF.

(5) Explain the causes of deficit in Balance of Payment of

India.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the critical evaluation of Heckscher-Ohlin theory of

International Trade.

(2) Explain the role of Multinational Corporations in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) vkarjjk"V™h; vFkZðkkL=kpk vFkZ vkf.k O;kIrh foðkn djk-

(2) vkarjjk"V™h; O;kikjkiklqu feˇ.kkjs «kHk lkaxk-

(3) vkarjjk"V™h; uk.ksfu/khps dk;sZ lkaxk-

(4) voeqY;ukps nks"k lkaxk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(1) vkarj&izknsfðkd O;kikj-

(2) f«vkafVQpk fojks/kkHkkl-

(3) O;kikj ðkrhZ-

(4) tkxfrd O;kikj la?kVuk vkf.k Hkkjr-

(5) foðks"k vkfFkZd {ks= (ls>)-

(6) tkxfrd c°d-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) lajf{kr O;kikj /kksj.kkP;k cktwps vkf.k fo#º cktwps ;qDrhokn Li"V djk-

(2) ^^O;kikj gk vkfFkZd fodklkps ;a=@baftu vkgs-** foðkn djk-

(3) Hkkjrkps vk;kr&fu;kZr O;kikj /kksj.k Li"V djk-

(4) vkarjjk"V™h; uk.ksfu/khps mfÌ"VÓs vkf.k ;ðk lkaxk-

(5) Hkkjrkpk O;ogkj rks«krh« rqVhps dkj.ks foðkn djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) gsDðkpj&vksgf«u ;kaP;k vkarjjk"V™h; O;kikjkP;k flºkarkps fVdkRed ifj{k.k djk-

(2) Hkkjrkrh« cgqjk"V™h; dai.;kaph Hkwfedk foðkn djk-
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N.B. :— (i) All questions are compulsory.

(ii) Answers should be neat and to the point.

(iii) Figures to the right indicate full marks.

(iv) Use of calculator is allowed.

1. Answer the following (any two) : [10]

(1) State the objectives of Research.

(2) State the sources of collection data.

(3) Solve :

100 – 4y = y + 25, y = .......... ?

(4) Find simple interest on Rs. 1,000 for 5 years at Rs. 5% rate

of interest.

2. Answer the following (any two) : [10]

(1) State the demerits of Mode.

P.T.O.



[3901]-328 2

(2) Explain the formulation of Hypothesis.

(3) Find simple interest on Rs. 20,000 for 5 years at Rs. 10%

rate on interest.

(4) Solve :

25y = 1000, y = ............. ?

3. Answer the following (any two) : [16]

(1) What is meant by Tabulization ? State the types of

tabulization.

(2) Explain the types of classification.

(3) Find the compound interest on Rs. 20,000, for 4 years at

Rs. 5% p.a.

(4) Find Arithmetic Mean from the following frequency

distribution :

Mobile No. of Dealers

50 15

55 20

60 25

65 30

70 10

Total 100

4. Answer the following (any one) : [14]

(1) Explain the objectives and steps of reports writing.
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(2) Calculate the Median and Mode of the following information :

No. of Goals No. of Matches

Scored

0–10 18

10–20 52

20–30 36

30–40 29

40–50 10

50–60 02

60–70 01

(ejkBh :ikarj)

osˇ % 2 rkl ,dw .k xq.k % 50

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mŸkjs leiZd o eqÌslwn vlkohr-

(iii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iv) dW«D;w«sVj okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) laðkks/kukaps mfÌ"VÓs lkaxk-

(2) lkexzh lad«ukps lzksr@ekxZ lkaxk-

(3) lksMok %

100 – 4y = y + 25, y = .......... ?

(4) 1]000 #- jDdesoj 5 o"kZ eqnrhlkBh 5% O;ktnjkus ljˇ O;kt dk<k-
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2. [kk«h« izðukaph mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) cgw«dkaps nks"k lkaxk-
(2) x`fgrœR;kph ekM.kh Li"V djk-
(3) 20]000 #- jDdesoj 5 o"ksZ eqnrhlkBh n-lk-n- ðksdMk 10% O;ktnjkus ljˇ

O;kt dk<k-
(4) lksMok %

25y = 1000, y = ............. ?

3. [kk«h« izðukaph mŸkjs f«gk (dks.krsgh nksu) % [16]

(1) lkj.kh Eg.kts dk; \ lkj.khps izdkj lkaxk-
(2) oxhZdj.kkaps izdkj Li"V djk-
(3) 20]000 #- jDdesoj 4 o"ksZ eqnrhlkBh n-lk-n- ðksdMh 5% O;kt njkus p«uok<

O;kt dk<k-
(4) [kk«h« okjaokfjrk forj.kkP;k lkgÓkus xf.krh e/; dk<k %

eksckbZ« forjdkaph la[;k

50 15

55 20

60 25

65 30

70 10

,dw.k 100

4. [kk«h« izðukaph mŸkjs f«gk (dks.krkgh ,d) % [14]

(1) vgok« «s[kukph mfÌ"VÓs vkf.k VIis@ik;Ú;k Li"V djk-
(2) [kk«h« ekfgrhP;k vk/kkjs e/;kad vkf.k cgq«d dk<k %

ds«s«s xks«kaph la[;k eSpkaph la[;k

0–10 18

10–20 52

20–30 36

30–40 29

40–50 10

50–60 02

60–70 01
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1. Solve any two of the following : [10]

(1) If

A = {2, 3, 5, 6, 7} and B = {4, 5, 7, 8},

find A ∪ B and A ∩ B.

(2) A man bought a car for Rs. 8 lacs and sold it for Rs. 6.40

lacs, calculate the loss per cent.

(3) Solve the following equation :

2 3 4
1

3 4

x x− −
− = .

(4) Explain the basic concept of population and sample.

P.T.O.
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2. Solve any four of the following : [20]

(1) Ages of agriculture workers in a certain country were recorded

as below :

Age in Years Number of Workers

(in thousands)

18–20 20

20–60 400

60–70 100

Draw a histogram to display the data.

(2) 100 cars were tested to see how far they travelled on 10

litres of a certain petrol and their results are recorded

below :

Distance in km Number of Cars

100–109 5

110–119 15

120–129 25

130–139 35

140–149 20

Draw a less than and more than cumulative frequency

curves.

(3) Define and explain the concept of collection of data and types

of data.
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(4) Find the mean of the following :

x F

15 4

17 3

19 3

20 4

29 6

(5) A desk contains 3 pens, 7 ball pens and 2 pencils. What is

the probability that one object selected at random is a pen.

(6) Define and discuss the following terms :

Quartile deviation and Mean deviation.

3. Solve any three of the following : [30]

(1) Use a matrix method to solve the following pair of simultaneous

equations :

3x + y = 1

x + 2y = 2

(2) When will average variable cost [AVC] be at its minimum value

for the total cost [TC] function given as below :

TC = 40 + 82q – 6q2 + 0.2q3.

(3) In a competitive market where the supply price in Rs. is

P = 3 + 0.25q and demand price in Rs. is P = 15 – 0.75q.

If  the Govt. imposes a tax per unit of Rs. 4, how much

of a price rise will this tax mean to consumers ? What will

be the tax revenue raised ?
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(4) Calculate Karl Pearson’s coefficient of correlation for the data

given below, taking 66 and 63 as assumed means of X and

Y respectively.

Heights of Husbands Heights of Wives

(in inches) (in inches)

X Y

60 61

62 63

64 63

66 63

68 64

70 65

72 67

(5) Derive the determinant of matrix :

4 6 1

A = 2 5 2

9 0 4

 
 
 
 
 
  

.

4. Solve any one of the following : [20]

(1) Explain each of the following methods and for which component

of a time series is it used to estimate :

(i) Least square method

(ii) Moving average method
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(iii) Semi average method

(iv) Link relative method

(v) First difference method.

(2) State the merits and demerits of each of the following :

(i) Arithmetic mean

(ii) Geometric mean

(iii) Weighted mean

(iv) Median

(v) Mode.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs leiZd o fcupwd vlkohr-

(iv) lk/kk dWYD;q«sVj okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krsgh nksu lksMok % [10]

(1) tj

A = {2, 3, 5, 6, 7} vkf.k B = {4, 5, 7, 8},

rj A ∪ B vkf.k A ∩ B dk<k.

(2) ,dk O;Drhus ,d xkMh 8 «k[k #i;k«k ?ksr«h vkf.k 6-40 «k[k #i;kauk

fod«h] rj nj ðksdMk rksVk dk<k-
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(3) [kk«h« lehdj.k lksMok %

2 3 4
1

3 4

x x− −
− = .

(4) lexz vkf.k uewuk ;kaph ladYiuk Li"V djk-

2. [kk«h«iSdh dks.krsgh pkj lksMok % [20]

(1) ,dk nsðkkrh« ðksrkoj dke dj.kkÚ;k Jfedkaph o;s [kk«h« izek.ks uksan«h

xs«h vkgsr %

o; (o"ksZ) Jfedkaph la[;k (gtkjh)

18–20 20

20–60 400

60–70 100

rj vk;rfp= dk<k-

(2) izR;sd xkMhr 10 «hVj isV™ks« ?kkrY;kuarj rh xkMh fdrh fdeh tk≈ 'kdrs

gs igk.;klkBh 100 xkMÓkaps ijh{k.k ds«s xs«s vkf.k [kk«h«izek.ks uksanh dsY;k

xsY;k %

fdeh varj xkMÓkaph la[;k

100–109 5

110–119 15

120–129 25

130–139 35

140–149 20

rj nksUgh lapf;r okjaokfjrk oÿ dk<k-



[3901]-329 7 P.T.O.

(3) rF; lad«u o rF;kaps izdkj foðkn djk-

(4) [kk«h« vkdMsokjhph ljkljh dk<k %

x F

15 4

17 3

19 3

20 4

29 6

(5) ,dk isVhe/;s 3 isus] 7 ckW«isus o 2 isfUl«h vkgsr- ;kn`PN fuoMhus gkrkr

isu fuoM«s tkbZ« ;kph ðkD;rk dk<k-

(6) [kk«h« ðkCnkaph O;k[;k d:u ppkZ djk %

prqFkZd fop«u vkf.k ljkljh fop«u-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok % [30]

(1) eWfV™Dl iºrhus [kk«h« f}in lehdj.k lksMok %

3x + y = 1

x + 2y = 2

(2) ,dw.k [kpkZps lehdj.k [kk«hizek.ks fn«s«s vlrkuk ljkljh cn«rk [kpZ U;wure

dsOgk gksbZ« rs dk<k %

TC = 40 + 82q – 6q2 + 0.2q3.

(3) ,dk Li/kkZRed cktkjke/;s iqjoBk fdaer #i;ke/;s P = 3 + 0.25q vkf.k

ekx.kh fdaer P = 15 – 0.75q vkgs- tj ðkklukus izR;sd oLrqoj 4 #-

,o<k dj olo«k] rj xzkgdkalkBh fdaer fdrhus ok<s« vkf.k dj eglw«

fdrh gksbZ« \
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(4) [kk«h fn«sY;k vkdMsokjhdjrk dk«Z fivjlupk lglaca/k lgxq.kd dk<k- X

vkf.k Y djrk 66 vkf.k 63 vuqÿes ;kizek.ks x`fgr ljkljh /kjk-

irhaph maph (bapke/ks) iRuhaph maph (bapke/ks)

X Y

60 61

62 63

64 63

66 63

68 64

70 65

72 67

(5) [kk«h fn«sY;k eWfV™Dlph fdaer fu/kkZfjr djk %

4 6 1

A = 2 5 2

9 0 4

 
 
 
 
 
  

.

4. [kk«h«iSdh dks.krkgh ,d izðu lksMok % [20]

(1) dk«ekf«dsP;k dks.kR;k ?kVdklkBh [kk«h« iºrh mi;ksxh iMrkr rs Li"V

djk %

(i) fdeku oxZ iºrh

(ii) cn«rh ljkljh iºrh

(iii) mikUR; ljkljh iºrh

(iv) lk[kˇh lkis{k iºrh

(v) izFke Qjd iºrh

(2) [kk«h fn«sY;k izR;sdkps xq.k o nks"k lkaxk %

(i) xf.krh e/;

(ii) Hkwferh e/;

(iii) Hkkfjr e/;

(iv) e/;dk

(v) cgq«d-
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(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(i) National Security.

(ii) Objectives of United Nations Organization.

(iii) C.T.B.T.

(iv) Terrorism.

2. Answer any four questions (in 100 words each) : [20]

(i) Nature of Non-alignment.

(ii) ‘Tashkent Treaty’.

(iii) Principles of India’s Foreign Policy.

(iv) Indo-U.S. Nuclear Pact.

(v) Human Rights Commission.

(vi) International Monetary Fund.

P.T.O.
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3. Attempt any three questions (in 250 words each) : [30]

(i) Write utility of Non-alignment.

(ii) Write the contribution of India in U.N. peacekeeping force.

(iii) Explain India’s Nuclear Policy.

(iv) Explain the impacts of Globalization on India.

(v) Explain Indo-U.S.S.R. friendship relations.

4. Attempt any one question (in 500 words) : [20]

(i) Explain the determinant factors of India’s Foreign Policy.

(ii) Discuss the relations between India and United States.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) % [10]

(i) jk"V™h; lqjf{krrk-

(ii) la;qDr jk"V™ la?kkph mfÌ"Bs-

(iii) loZlekosðkd v.kqpkp.kh canh djkj (C.T.B.T.)-

(iv) ngðkrokn-

2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(i) vf«Irrsps Lo:i-

(ii) ^rkðdan djkj*-
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(iii) HkkjrkP;k ijjk"V™ /kksj.kkph ew«rRos-

(iv) Hkkjr&vesfjdk v.kq djkj-

(v) ekuoh gDd vk;ksx-

(vi) vkarjjk"V™h; uk.ksfu/kh-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkar) % [30]

(i) vf«Irrkoknkph mi;qDrrk f«gk-

(ii) la;qDr jk"V™kP;k ðkkarrkn«krh« Hkkjrkps ;ksxnku f«gk-

(iii) Hkkjrkps vkf.od /kksj.k Li"V djk-

(iv) tkxfrdhdj.kkps Hkkjrkoj >k«s«s ifj.kke Li"V djk-

(v) Hkkjr&lksfo,r jfðk;k eS=h laca/k Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj f«gk (500 ðkCnkr) % [20]

(i) HkkjrkP;k ijjk"V™ /kksj.kkps fu/kkZjd ?kVd Li"V djk-

(ii) Hkkjr&vesfjdk laca/kkaph ppkZ djk-
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[3901]-330

(International Organizations)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(i) Nature of International Organizations.

(ii) Structure of United Nations Organization.

(iii) G.A.T.T.

(iv) Objectives of European Union.

2. Attempt any four questions (in 100 words each) : [20]

(i) Objectives of U.N.O.

(ii) Collective Security.

(iii) Nuclear Terrorism.

(iv) Objectives of W.T.O.

(v) Human Rights.

(vi) C.T.B.T.

3. Attempt any three questions in 250 words each : [30]

(i) Explain the objectives of I.M.F.

(ii) Explain the functions of World Bank.

(iii) Discuss India’s role in ‘SAARC’.
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(iv) Explain the challenges before International Organization.

(v) Non-Governmental Organizations and Human Rights.

4. Answer any one question (in 500 words) : [20]

(i) Explain the efforts of U.N.O. for disarmament after cold

war.

(ii) Give a review of International Economic Organizations.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) % [10]

(i) vkarjjk"V™h; la?kVukaps Lo:i-

(ii) la;qDr jk"V™ la?kkph jpuk-

(iii) xWV djkj-

(iv) ;qjksfi;u la?kkph mfÌ"Vs-

2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(i) ;quksph mfÌ"Bs-

(ii) lkewfgd lqjf{krrk-

(iii) vkf.od ngðkrokn-

(iv) tkxfrd O;kikj la?kVusph (W.T.O.) mfÌ"Bs-
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(v) ekuoh gDd-

(vi) loZlekosðkd v.kqpkp.kh canh djkj (C.T.B.T.)

3. [kk«h«iSdh dks.kR;kgh rhu izðu lksMok (izR;sdh 250 ðkCnkar) % [30]

(i) vkarjjk"V™h; uk.ksfu/khph mfÌ"Bs Li"V djk-

(ii) tkxfrd c°dsph dk;sZ Li"V djk-

(iii) HkkjrkP;k ^lkdZ* ef/k« Hkwfedsph ppkZ djk-

(iv) vkarjjk"V™h; la?kVukiq<h« vkOgkus Li"V djk-

(v) fcxj ðkkldh; la?kVuk vkf.k ekuoh gDd-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj f«gk (500 ðkCnkar) % [20]

(i) la;qDr jk"V™ la?kVusps fðkr;qºksŸkj dkˇkrh« fuðkL=hdj.kkps iz;Ru Li"V djk-

(ii) vkarjjk"V™h; vkfFkZd la?kVukapk vk<kok ?;k-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-331

T.Y. B.A. EXAMINATION, 2011

POLITICS

(Special Paper III)

(Introduction to Public Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Scope of Public Administration.

(2) Comparative Approach.

(3) Unity of Command.

(4) Decision Making.

2. Write short notes in 100 words each (any four) : [20]

(1) New Public Administration

(2) Role of Civil Service

(3) Hierarchy

(4) Estimate Committee

(5) Political Neutrality

(6) Lokayukta.

P.T.O.
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3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(1) Write the difference between Public and Private

Administration.

(2) State the traditional approaches to the study of Public

Administration.

(3) Explain the difference between Staff and Line agencies.

(4) Discuss the composition, power and functions of Union Public

Service Commission.

(5) State the nature of Public Policy.

4. Answer any one question in 500 words : [20]

(1) Define Management. Explain the nature and functions of

management.

(2) What is Delegated Legislation ? Describe the merits and demerits

of Delegated legislation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) «ksdizðkklukph O;kIrh-

(2) rq«ukRed n`f"Vdksu-

(3) vkKSD;-

(4) fu.kZ; fu/kkZj.k-



[3901]-331 3 P.T.O.

2. dks.kR;kgh pkjoj FkksMD;kr fVik f«gk (izR;sdh 100 ðkCnkar) % [20]

(1) uo«ksdizðkklu

(2) lunh lsosph Hkwfedk

(3) inlksiku

(4) vuqeku lferh

(5) jktdh; rVLFkrk

(6) «ksdk;qDr-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnki;±r

f«gk % [30]

(1) «ksdizðkklu o [kktxh izðkklukrh« Qjd f«gk-

(2) «ksdizðkklukP;k vH;klkrh« ijaijkoknh n`f"Vdksu lkaxk-

(3) LVkQ o js"kk vfHkdj.kkrh« Qjd Li"V djk-

(4) dsafÊ; «ksdlsok vk;ksxkph jpuk] vf/kdkj o dk;sZ foðkn djk-

(5) lkoZtuhd /kksj.kkps Lo:i lkaxk-

4. [kk«h«iSdh ,dk izðukaps mŸkj 500 ðkCnkar f«gk % [20]

(1) O;oLFkkiukph laKk djk- O;oLFkkiukps Lo:i vkf.k dk;sZ Li"V djk-

(2) iznŸk fof/kfu;e Eg.kts dk; \ iznŸk fof/kfu;ekps xq.k&nks"k o.kZu djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-332

T.Y. B.A. EXAMINATION, 2011

POLITICS

S-4 : Special Paper IV

(Political Concepts and Ideologies)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Types of Equality.

(2) Fabianism.

(3) Types of Nationalism.

(4) Welfare State.

2. Write short notes in 100 words each (any four) : [20]

(1) Marxian concept of the State

(2) Meaning of the term Political Obligation

(3) Syndicalism

(4) Gram Swaraj

(5) Nature of Nationalism

(6) Liberal Perspective of the Feminism.

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(1) Define the terms ‘Power’ and ‘Authority’. Explain relationship

between Power and Authority.

P.T.O.
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(2) Explain the bases of Political Obligation.

(3) Discuss the various features, merits and demerits of

Nationalism.

(4) Explain meaning and nature of feminism.

(5) Discuss the various features of Democratic Socialism.

4. Answer any one question in 500 words : [20]

(1) Define the term ‘State’. Explain various functions of liberal

state.

(2) Define the term ‘Sarvodaya’ ? Explain various features of Sarvodaya

it is relevant today. Discuss.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) lersps izdkj-

(2) Qsfc;u lektokn-

(3) jk"V™oknkps izdkj-

(4) dY;k.kdkjh jkT; ladYiuk-

2. dks.kR;kgh pkjoj FkksMD;kr Vhik f«gk (izR;sdh 100 ðkCnkar) % [20]

(1) ekDlZph jkT;kph ladYiuk

(2) jktdh; vkca/ku (mŸkjnkf;Ro) ;k ladYiuspk vFkZ

(3) Jfed la?kokn

(4) xzke Lojkt

(5) jk"V™oknkps Lo:i

(6) mnkjeroknh L=hoknh n`f"Vdksu-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk % [30]

(1) ^lŸkk* vkf.k ^vf/klŸkk* ladYiukph O;k[;k d:u lŸkk o vf/klŸksrh« ijLij

laca/k Li"V djk-

(2) jktdh; vkca/kukps (mŸkjnkf;Rokps) fofo/k vk/kkj Li"V djk-

(3) jk"V™oknkph oSfðk"VÓs] xq.k vkf.k nks"k o.kZu djk-

(4) L=hoknkpk vFkZ vkf.k Lo:i Li"V djk-

(5) «ksdðkkgh lektoknkP;k fofo/k oSfðk"VÓkaph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) ^jkT;* ladYiusph O;k[;k djk- mnkjeroknh jkT;kph fofo/k dk;sZ Li"V djk-

(2) ^loksZn;* laKsph O;k[;k f«gk- loksZn;ph fofo/k oSf'k"VÓs lkaxwu loksZn;ps

rRoKku vktP;k dkˇkr la;qfDrd vkgs dk; \ ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-333

T.Y. B.A. EXAMINATION, 2011

HISTORY

General Paper III

[History of the Marathas (1630-1818)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the concept of ‘Maharashtra Dharma’.

(2) What is meant by ‘Vatan’ ?

(3) Explain the concept of ‘Sardeshmukhi’.

(4) What is meant by ‘Balutedar’ ?

2. Write short notes in 100 words each (any four) : [20]

(1) Jedhe Shakawali.

(2) Historical contribution of saint Tukaram.

(3) Importance of Sack of Surat.

(4) Barbhai Council.

(5) Jati Sabha.

(6) Panditi Literature.

P.T.O.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the significance of coronation of Chh. Shivaji

Maharaj.

(2) Bring out the achievements of Maharani Tarabai in Maratha

War of Independence.

(3) State the importance of ‘Ajñapatra’ of Ramachandra Pant

Amatya.

(4) Explain the nature and significance of Maratha Confederacy.

(5) Evolute the Judicial system under the Peshwa.

4. Answer the following question in 500 words (any one) : [20]

(1) Explain the Military Administration under the Chh. Shivaji

Maharaj.

(2) Examine the factors responsible for the downfall of Maratha

Power.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ^egkjk"V™ /keZ* gh ladYiuk Li"V djk-

(2) ^oru* Eg.kts dk; \

(3) ^ljnsðkeq[kh* gh ladYiuk Li"V djk-

(4) ^c«qrsnkj* Eg.kts dk; \
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(1) ts/ks ðkdko«h-

(2) lar rqdkjkekaps ,sfrgkfld ;ksxnku-

(3) lqjr «wVhps egRo-

(4) ckjHkkbZ eaMˇ-

(5) tkrh lHkk-

(6) iafMrh ok≥~e;-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) N=irh fðkokth egkjktkaP;k jkT;kfHk"ksdkps egRo Li"V djk-

(2) ejkBÓkaP;k Lokra´; ;qºkrh« egkjk.kh rkjkckbZ ;kaP;k ;ksxnkukpk vk<kok

?;k-

(3) jkepaÊiar vekR; ;kaP;k vkKki=kps egRo lkaxk-

(4) ejkBkeaMˇkps Lo:i o egRo Li"V djk-

(5) isðkosdk«hu U;k;O;oLFksps eqY;ekiu djk-

4. [kk«h«iSdh dks.krkgh ,d izðukaps 500 ðkCnkar mŸkj f«gk % [20]

(1) N=irh fðkokth egkjktkaph «"djh izðkklu O;oLFkk Li"V djk-

(2) ejkBh lŸksP;k Úgklkl dkj.khHkwr Bj«sY;k ?kVdkaps ijh{k.k djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-334

T.Y. B.A. EXAMINATION, 2011

HISTORY

Special Paper III

(History of Medieval India : 1206-1707 A.D.)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the concept of ‘Medievalism’.

(2) What was Sultan Balban’s theory of Kingship ?

(3) State the importance of battle of Khanuwa.

(4) Explain the social structure during the Mughal period.

2. Write short notes in 100 words each (any four) : [20]

(1) Feudalism.

(2) Amir Khusrau.

(3) Kutub-ud-din Aibak.

(4) Mansabdari System.

(5) Revenue system of the Mughals.

(6) Literature during the Mughal period.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Examine the economic reforms of Sultan Ala-ud-din Khalji.

(2) Discuss the contribution of Muhammed Gawan for the Bahmani

Empire.

(3) Critically examine the Rajput Policy of Emperor Akbar.

(4) Describe the central and provincial administration of the Mughals.

(5) Review the development of an Architecture during the Mughal

period.

4. Answer the following question in 500 words (any one) : [20]

(1) Examine the various experiments of Sultan Muhammed-bin-

Tughluq.

(2) Discuss the trade and industry during the Mughal period.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ^e/;;qx* gh ladYiuk Li"V djk-

(2) lq«rku cYcupk jktinkpk flºkar dk; gksrk \

(3) [kkuqokP;k «<kbZps egRo lkaxk-

(4) eq?k«dk«hu lektjpuk Li"V djk-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) ljatkeðkkgh

(2) vehj [kqljks

(3) dqrqcqÌhu ,scd

(4) eulcnkjh iºr

(5) eq?k«kaph eglq« O;oLFkk

(6) eq?k«dk«hu lkfgR;-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) lq«rku v«kmÌhu f[k«thP;k vkfFkZd lq/kkj.kkaps ifj{k.k djk-

(2) cgkeuh lkezkT;klkBh eqgEen xokuus fn«sY;k ;ksxnkukph ppkZ djk-

(3) lezkV vdcjkP;k jtiqr /kksj.kkps fVdkRed ifj{k.k djk-

(4) eq?k«kaP;k dsaÊh; o izkarh; izðkklu O;oLFksps o.kZu djk-

(5) eq?k«dk«hu LFkkiR;d«sP;k fodklkpk vk<kok ?;k-

4. [kk«h« izðukps 500 ðkCnkar mŸkj f«gk (dks.krsgh ,d) % [20]

(1) lq«rku eksgEen&fcu&rq?k«dkP;k fofo/k iz;ksxkaps eqY;ekiu djk-

(2) eq?k«dk«hu O;kikj o mnÓksxkaph ppkZ djk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

[3901]-335

T.Y. B.A. EXAMINATION, 2011

HISTORY

Special Paper IV

(History of Transformation in Modern Maharashtra : 1818-1960)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain in brief the revolt under Umaji Naik.

(2) Discuss in brief the contribution of Karmaveer Bhaurao Patil

to the Education.

(3) Write a short note on ‘Satyashodhak Samaj’.

(4) Explain in brief commercialization of agriculture.

2. Write short notes in 100 words each (any four) : [20]

(1) Process of the foundation of the Swarajya.

(2) Pune Sarvajanik Sabha.

(3) Nagpur Pact.

(4) Prarthana Sabha.

(5) Marathi literature and social change.

(6) Experiments in Mass Education.
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3. Answer the following questions in 250 words each

(any three) : [30]

(1) Review the social contribution of ‘Bhakti Movement’.

(2) Discuss the contribution of the revolutionaries in the National

Movement.

(3) Discuss the Non-Brahmin Movement in Maharashtra.

(4) Review the Co-operative Movement in the Maharashtra.

(5) Review the workers’ movement in the Maharashtra.

4. Answer the following questions in 500 words (any one) : [20]

(1) Discuss the factors responsible for the rise of Indian National

Congress.

(2) Evaluate the movement for Emanicipation of women in the

Maharashtra.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) mekth ukbZd ;kaP;k usr`Rok[kk«h« mBkokph FkksMD;kr ekfgrh nÓk-

(2) deZohj Hkk≈jko ikVh« ;kaP;k fðk{k.k {ks=krh« ;ksxnkukph ppkZ djk-

(3) ^lR;ðkks/kd lekt* ;koj FkksMD;kr fVi f«gk-

(4) ^ðksrhps O;kikjhdj.k* FkksMD;kr Li"V djk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) ^LojkT;* LFkkiusph izfÿ;k-

(2) iq.ks lkoZtfud lHkk-

(3) ukxiwj djkj-

(4) izkFkZuk lekt-

(5) ejkBh lkfgR; vkf.k lkekftd ifjorZu-

(6) cgqtukaP;k fðk{k.kkps iz;ksx-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) HkDrh pˇoˇhP;k lkekftd ;ksxnkukpk vk<kok ?;k-

(2) jk"V™h; vkanks«ukrh« ÿkarhdkjdkaP;k ;ksxnkukph ppkZ djk-

(3) egkjk"V™krh« czk„.ksrj pˇoˇhph ppkZ djk-

(4) egkjk"V™krh« lgdkj pˇoˇhpk vk<kok ?;k-

(5) egkjk"V™krh« dkexkj pˇoˇhpk vk<kok ?;k-

4. [kk«h« izðukps mŸkj 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) Hkkjrh; jk"V™lHksP;k LFkkiusl dkj.khHkwr Bj«sY;k ?kVdkaph ppkZ djk-

(2) egkjk"V™krh« L=h ca/k eqDrh pˇoˇhps eqY;ekiu djk-
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[3901]-335

(History of Modern China and Japan)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) What is meant by ‘Open Door Policy’ ?

(2) State the political philosophy of Dr. Sun Yat-Sen.

(3) Explain the role of Japan played in the World War I.

(4) What is meant by Rome-Berlin-Tokyo Axis ?

2. Write short notes in 100 words each (any four) : [20]

(1) Boxer Rebellion.

(2) Yuan-Shih-Kai.

(3) May Fourth Movement.

(4) Anglo-Japanese Alliance (1902).

(5) Washington Conference.

(6) Rise of Militarism in Japan.

3. Answer the following questions in 250 words each

(any three) : [30]

(1) Explain the causes of Taiping Rebellion.

(2) Examine the domestic policy of Chiang-Kai-shek.
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(3) Evaluate the role played by Mao-Tse Tung in the history of

China.

(4) State the causes of the rise of militarism in Japan.

(5) Discuss the role played by Gen Mac Arthur in the reconstruction

of Japan.

4. Answer the following question in 500 words (any one) : [20]

(1) State the causes and consequences of the Chinese Revolution

of 1911.

(2) Evaluate the various reforms during the period of Meiji Restoration.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ^eqDr}kj* /kksj.k Eg.kts dk; \

(2) MkW- lu~ ;r~&lsu ;kaps jktdh; rRoKku lkaxk-

(3) tikuph ifgY;k egk;qºkrh« Hkwfedk Li"V djk-

(4) ^jkse&cf«Zu&Vksfdvks* v{k Eg.kts dk; \
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2. [kk«h« izðukaph izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(1) ckWDlj caM-

(2) ;qoku&fðk&dkbZ-

(3) pkj es ph pˇoˇ-

(4) baX«aM&tiku djkj (1902)-

(5) okWfðkaXVu ifj"kn-

(6) tiku e/kh« «"djoknkpk mn;-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) rk;fiax caMkph dkj.ks foðkn djk-

(2) p°x&dkbZ&ðksdP;k varxZr /kksj.kkps ifj{k.k djk-

(3) phuP;k bfrgklkrh« ekvks&Rls&rqax ;kaP;k Hkwfedsps eqY;ekiu djk-

(4) tikue/kh« «"djoknkP;k mn;kph dkj.ks lkaxk-

(5) tikuP;k iqujZpuse/kh« tuj« eWd&vkFkZjP;k Hkwfedsph ppkZ djk-

4. [kk«h« izðukps 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(1) lu 1911P;k phue/kh« ÿkarhph dkj.ks vkf.k ifj.kke lkaxk-

(2) esbZth dk«[kaMkr tikue/;s >k«sY;k fofo/k lq/kkj.kkaps ifj{k.k djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-336

T.Y. B.A. EXAMINATION, 2011

ANTHROPOLOGY

(G-3 : Maharashtra : A Cultural Region)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) Write the meaning of Maharashtra Dharma.

(2) State in brief about Religious Festivals of Maharashtra.

(3) Give the importance of Warli Painting.

(4) What is Right to Information ?

2. Write short notes on any four of the following in 100 words each : [20]

(1) Saint Dnyaneshwar.

(2) Balutedari System.

(3) Kokan : Cultural Region.

(4) Lavni and Tamasha.

(5) Leni.

(6) Ek Gaon-Ek Panvatha.
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3. Answer any three of the following in 250 words each : [30]

(1) Review the history of Maharashtra in short.

(2) Describe the contribution of Mahatma Jyotiba Phule about female

education.

(3) Elaborate the Tribal Movement under the leadership of Godavari

Parulekar.

(4) Describe the contribution of Warkari cult in Maharashtra.

(5) Evaluate the Industrial Development of Maharashtra.

4. Answer any one of the following in 500 words : [20]

(1) Explain the contribution of Dr. Babasaheb Ambedkar in Social

Reform Movement.

(2) Discuss the role of Lokmanya Tilak and Vir Savarkar in

Revolutionary Movement.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k n”kZforkr-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 50 ðkCnkai;±r mŸkjs f«gk % [10]

(1) egkjk"V™/keZ ladYiuspk vFkZ f«gk-

(2) egkjk"V™krh« /kkehZd l.kkaph FkksMD;kr ekfgrh lkaxk-

(3) okj«h fp=d«sps egRo lkaxk-

(4) ekfgrhpk vf/kdkj Eg.kts dk; \
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2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r fVik f«gk % [20]

(1) lar Kkusðoj-

(2) c«qrsnkjh O;oLFkk-

(3) dksd.k % ,d lkaLœfrd iznsðk-

(4) «ko.kh o rekðkk-

(5) «s.kh-

(6) ,d xko&,d ik.koBk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sd 250 ðkCnkai;±r mŸkjs f«gk % [30]

(1) egkjk"V™kP;k bfrgklkpk FkksMD;kr vk<kok ?;k-

(2) L=h fðk{k.kkckcr egkRek T;ksrhck Qq«s ;kaps ;ksxnku foðkn djk-

(3) xksnkojh i#ˇsdjkaP;k usr`Rok[kk«h« vkfnoklh pˇoˇhps o.kZu djk-

(4) egkjk"V™krh« okjdjh laiznk;kps ;ksxnku Li"V djk-

(5) egkjk"V™krh« vkSn~Óksxhd fodklkps eqY;ekiu djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) MkW- ckcklkgsc vkacsMdjkaps lkekftd lq/kkj.kk pˇoˇhrh« ;ksxnku Li"V djk-

(2) «ksdekU; fVˇd vkf.k ohj lkodjkaph ÿkarhdkjh pˇoˇhrh« Hkwfedsph ppkZ

djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—7

[3901]-337

T.Y. B.A. EXAMINATION, 2011

GEOGRAPHY (G-3)

(Gg-310 : Geography of Travel and Tourism)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any ten) : [20]

(1) What is the difference between Travel and Tourism ?

(2) What do you mean by the mathematical location of the tourist place

?

(3) What is heritage tourism ?

(4) Name any two planned cities of India.

(5) Give any two characteristics of an ideal tourist-guide.

(6) Give any two characteristics of the Rail-Yatri-Bhavan.

(7) State any two ill-effects of tourism on land.

(8) What do you mean by national level tourism-planning ?

(9) In which states are Dive-Agar and Kalangut located ?

(10) What are the main attractions of the tourist place ‘Mahabaleshwar’ ?

(11) State any two  effects of tourism on coastal water.

(12) Name any two tourism policies of India.

(13) Name any two national parks of India.

P.T.O.



[3901]-337 2

2. Write notes in about 50 words each (any two) : [10]

(1) Motel

(2) Advantages of Rail-transport

(3) Tourism and Language

(4) Tourism and Health

3. Answer the following questions in about 150 words each (any two) : [20]

(1) With suitable examples from India, explain how the centres

of tribal-culture attract the tourists.

(2) Write a note on the adventure tourism.

(3) Explain, how deforestation is caused due to tourism.

(4) Explain, how the ability of the region to attract the tourists

is assessed.

4. Answer the following questions in about 300 words each (any two) : [30]

(1) Explain the relation between Geography and Tourism.

(2) Explain the role of water-transport in tourism.

(3) Explain the economic impacts of tourism.

(4) Describe ‘Shimla’ as a tourist place.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k o vkjk[kMs dk<k-

(iv) udkðkk LVsfUl« okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1. [kk«h« izðukaph izR;sdh lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) izokl o i;ZVu ;kr dk; Qjd vkgs \

(2) i;ZVuLFkˇkps xf.krh LFkku Eg.kts dk; \

(3) ijaijk&i;ZVu Eg.kts dk; \

(4) Hkkjrkrh« nksu la;ksftr ðkgjs lkaxk-

(5) vknðkZ izoklh&okVkMÓkph dks.krhgh nksu oSfðk"VÓs lkaxk-

(6) jsYos&;k=h&Hkoukph dks.krhgh nksu oSfðk"VÓs lkaxk-

(7) tfeuhoj gks.kkjs i;ZVukps dks.krsgh nksu nq"ifj.kke lkaxk-

(8) jk"V™h; Lrjkojh« i;ZVu fu;kstu Eg.kts dk; \

(9) fnos vkxj o dyaxqV dks.kR;k jkT;kae/;s vkgsr \

(10) egkcˇs'oj ;k i;ZVuLFkˇkph izeq[k vkd"kZ.ks dks.krh \

(11) fdukjiÍhP;k toˇh« ik.;koj gks.kkjs i;ZVukps nksu ifj.kke lkaxk-

(12) Hkkjrkph dks.krhgh nksu i;ZVufo"k;d /kksj.ks lkaxk-

(13) Hkkjrkrh« nksu jk"V™h; m|kus lkaxk-

2. izR;sdh lqekjs 50 ðkCnkar Vhik f«gk (dks.kR;kgh nksu) % [10]

(1) eksVs«

(2) jsYos okgrwdhps Qk;ns

(3) i;ZVu o Hkk"kk

(4) i;ZVu o vkjksX;

3. [kk«h« izðukaph izR;sdh lqekjs 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) ;ksX; mnkgj.kkaP;k lkgk∏;kus Hkkjrkrh« vkfnoklh laLœfrph dsaÊs i;ZVdkauk dðkh

vkdf"kZr djrkr rs Li"V djk-

(2) lkglh i;ZVu ;koj Vhi f«gk-
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(3) fuoZuhdj.kkl i;ZVu dls dkj.khHkwr Bjrs rs Li"V djk-

(4) iznsðkkph i;ZVdkauk vkdf"kZr dj.;kph {kerk dðkh vH;klyh tkrs rs Li"V

djk-

4. [kk«h« izðukaph izR;sdh lqekjs 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) Hkwxks« o i;ZVu ;krh« laca/k Li"V djk-

(2) i;ZVukrh« t«okgrwdhph Hkwfedk Li"V djk-

(3) i;ZVukps vkfFkZd ifj.kke Li"V djk-

(4) ^fðke«k* ;k fBdk.kkps ,d i;ZVuLFkˇ Eg.kwu o.kZu djk-
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[3901]-337

(Gg-310 : Geography of Tropical Agriculture)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following in about 20 words each (any ten) : [20]

(1) Name any two approaches to the study of Agricultural Geography.

(2) What is the meaning of commerical agriculture ?

(3) Name any two methods used for irrigation.

(4) What is crop rotation ?

(5) What is meant by mixed farming ?

(6) What is meant by over-irrigation ?

(7) Name products obtained from food processing.

(8) Name any two physical factors which affect agriculture.

(9) What is meant by agro-tourism ?

(10) Define ‘dryland farming’.

(11) What is a polyhouse ?

(12) Give two advantages of drip-irrigation.

(13) What is meant by nala bunding ?

2. Write notes on the following in about 50 words each (any two) : [10]

(1) Food security.

(2) Importance of agriculture in the Indian economy.

(3) Organic farming.

(4) Economic factors affecting agriculture.

P.T.O.



[3901]-337 6

3. Answer the following questions in 150 words each (any two) : [20]

(1) Characteristics of plantation farming.

(2) Green revolution in India.

(3) Extent and significance of dryland farming in India.

(4) Causes and effects of droughts.

4. Answer the following questions in 300 words each (any two) : [30]

(1) Characteristics and problems of subsistence agriculture.

(2) Describe the various methods used for watershed management.

(3) Nature and scope of Agricultural Geography.

(4) Which factors determine Indian Agriculture ? Discuss.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) ;ksX; R;k fBdk.kh lqcd vkœR;k/udkðks dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

1. [kk«h« izðukaph lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) œ"kh Hkwxks«krh« dks.kR;kgh nksu vH;kliºrhph ukos lkaxk-

(2) O;kikjh ðksrh Eg.kts dk; \

(3) t«flapukaP;k nksu iºrh lkaxk-

(4) fidkaps Qsjik«V Eg.kts dk; \

(5) ^̂ feJ** ðksrh Eg.kts dk; \

(6) vfro t«flapu Eg.kts dk; \

(7) vUuizfÿ;srwu mi«C/k gks.kkjs inkFkZ lkaxk-



[3901]-337 7 P.T.O.

(8) œ"khoj fu;a=.k dj.kkjs dks.krsgh nksu HkkSrhd ?kVd lkaxk-

(9) œ"kh i;ZVu Eg.kts dk; \

(10) dksjMokgw ðksrhph O;k[;k lkaxk-

(11) ikW«hgk≈l (Polyhouse) Eg.kts dk; \

(12) fBcd flapukps nksu Qk;ns lkaxk-

(13) uk«k cafMax (Nala bunding) Eg.kts dk; \

2. izR;sdh lqekjs 50 ðkCnkar O;k[;k f«gk (dks.krsgh nksu) % [10]

(1) vUulqj{kk-

(2) Hkkjrh; vFkZO;oLFksrh« ðksrhps egRo-

(3) lsUÊh; ðksrh-

(4) ðksrhoj ifj.kke dj.kkjs vkfFkZd ?kVd-

3. [kk«h« izðukaph izR;sdh lqekjs 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) eˇ;kP;k ðksrhps oSfðk"VÓs-

(2) Hkkjrkrh« gfjr ÿkarh-

(3) Hkkjrkrh« dksjMokgw ðksrhph O;kIrh vkf.k egRo-

(4) vo"kZ.kkph dkj.ks o ifj.kke-

4. [kk«h« izðukaph izR;sdh lqekjs 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) fuokZg ðksrhph oSfðk"VÓs o leL;k-

(2) ik.k«ksV {ks=kps fofo/k izdkj-

(3) œ"kh Hkwxks«kps Lo:i o O;kIrh-

(4) œ"kh fu;a=d ?kVd dks.krs \ lfoLrj f«gk-



Total No. of Questions—4+4] [Total No. of Printed Pages—7

[3901]-338

T.Y.B.A. EXAMINATION, 2011

GEOGRAPHY (S-3)

(Gg-320 : Fundamental Concepts in Geography)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following in about 20 words each (any ten) : [20]

(1) What is possibilism ?

(2) What is weather forecasting ?

(3) Name the stages of Rostov’s theory.

(4) Give the names of substances causing ozone depletion.

(5) Which are the economic measures of development ?

(6) Define fertility and mortality.

(7) Define Human Geography.

(8) What is a satellite town ?

(9) Name the scholars who believed in determinism.

(10) What is meant by CBD ?

(11) What is a rural-urban fringe ?

(12) Define the term frontier.

(13) Name the stages of population growth in the theory of Demographic

transition.

P.T.O.
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2. Write notes on the following in about 50 words each (any

two) : [10]

(1) Contribution of Carl Ritter in Geography.

(2) Mackinder’s concept of Heartland.

(3) Dualism in Geography.

(4) Effects of sea level changes.

3. Answer the following in 150 words each (any two) : [20]

(1) Ptolemy’s contribution to Geography.

(2) Characteristics of rural-urban fringe.

(3) Compare determinism and possibilism.

(4) What is globalisation ?

4. Answer the following in about 300 words (any two) : [30]

(1) Explain the Von Thunen theory of landuse.

(2) Discuss the factors responsible for climate change.

(3) Examine the contribution of four scholars to the field of

Geography.

(4) Explain the characteristics of CBD with suitable

examples.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl~ okij.;kl ijokuxh vkgs-

1. [kk«h« izðukaph izR;sdh lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) %  [20]

(1) ^laHkookn* Eg.kts dk; \

(2) gokeku vankt Eg.kts dk; \

(3) jksLVksOgP;k flºkarkrh« VIis lkaxk-

(4) vks>ksu {k;kl dkj.khHkwr ?kVd lkaxk-

(5) fodklkph vkfFkZd ifjek.ks dks.krh vkgsr \

(6) ^tuu* o ^eR;Zrk* O;k[;k nÓk-

(7) ekuoh Hkwxks«kph O;k[;k f«gk-

(8) mixzg ðkgj Eg.kts dk; \

(9) fulxZokn ekuukÚ;k vH;kldkaph ukos f«gk-

(10) lh-ch-Mh- Eg.kts dk; \

(11) v/kZukxjh iznsðk Eg.kts dk; \

(12) vk?kkMh O;k[;k nÓk-

(13) «ksdla[;k laÿe.k flºkarke/kh« «ksdla[;k ok<hps VIis lkaxk-

2. [kk«h«iSdh izR;sdh lqekjs 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) dk«Z fjVjps Hkwxks«krh« ;ksxnku-

(2) eWdsaMjph ^Úgn; Hkweh* ladYiuk-

(3) Hkwxks«krh« }Srokn

(4) lkxjikrˇhrh« cn«kps ifj.kke-
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3. [kk«h« izðukaph izR;sdh lqekjs 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) Vks«ehps Hkwxks«krh« ;ksxnku-

(2) v/kZukxjh {ks=kph oSfðk"VÓs lkaxk-

(3) laHkookn o fulxZokn ;kaph rq«uk djk-

(4) tkxfrdhdj.k Eg.kts dk; \

4. [kk«h« izðukaph izR;sdh lqekjs 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) OgkWu Fkquupk Hkwehmi;kstu flºkar Li"V djk-

(2) gokeku cn«k«k dkj.khHkwr ?kVdkaph ppkZ djk-

(3) Hkwxks«ke/;s ;ksxnku ns.kkÚ;k pkj vH;kldkaps ;ksxnku-

(4) lh-ch-Mh-ph oSfðk"VÓs mnkgj.kklghr Li"V djk-
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[3901]-338

(Gg-320 : Contemporary Issues and Geography)

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following in about 20 words each (any ten) : [20]

(1) What is meant by mechanical weathering ?

(2) Name two types of unemployment.

(3) What are renewable resources ?

(4) Give two advantages of hydel power.

(5) Name two types of migration.

(6) What is a tsunami ?

(7) Give any two effects of deforestation.

(8) State any two causes of drought.

(9) Name the epidemics.

(10) Define the term natural calamity.

(11) Give two main causes of marine pollution.

(12) Define the term resource.

(13) Name two Indian weapons.

2. Write notes on the following in about 50 words each (any

two) : [10]

(1) Causes of terrorism.

(2) Causes of unemployment.

(3) Consequences of migration.

(4) Effects of weathering.
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3. Answer the following questions in about 150 words each (any

two) : [20]

(1) Importance of the study of contemporary issues in Geography.

(2) Effects of overpopulation.

(3) Causes and effects of earthquakes.

(4) What is EL NINO ? Give its causes and effects.

4. Answer the following questions in about 300 words each (any two) :

[30]

(1) Explain the causes and effects of droughts.

(2) Swine Flu in Maharashtra.

(3) Explain the causes and effects of Migration.

(4) What is poverty ? Examine the causes and effects.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) ;ksX; R;k fBdk.kh lqcd vkœR;k o udkðks dk<k-

(iv) udkðkk LVsfUlYl~ okij.;kl ijokuxh vkgs-

1. [kk«h« izðukaph izR;sdh lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) %  [20]

(1) dkf;d fonkj.k Eg.kts dk; \

(2) csdkjhps nksu izdkj dks.krs rs lkaxk-

(3) uqruhdj.kh; lalk/kus Eg.kts dk; \

(4) t«fon~;qr ðkDrhps nksu Qk;ns lkaxk-

(5) LFk«karjkps nksu izdkj lkaxk-

(6) ^Rlqukeh* Eg.kts dk; \

(7) fuoZuhdj.kkps dks.krsgh nksu ifj.kke lkaxk-
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(8) vo"kZ.kkph dks.krhgh nksu dkj.ks lkaxk-

(9) lkFkhP;k jksxkaph ukos lkaxk-

(10) vkiŸkhph O;k[;k f«gk-

(11) lkxjh iznq"k.kkph dks.krhgh nksu dkj.ks lkaxk-

(12) lk/ku laiŸkhph O;k[;k f«gk-

(13) Hkkjrh; {ksi.kkL=kaph nksu ukos f«gk-

2. izR;sdh lqekjs 50 ðkCnkar fVik f«gk (dks.krsgh nksu) % [10]

(1) ngðkroknkph dkj.ks

(2) csjkstxkjhps dkj.ks

(3) LFk«karjkps ifj.kke

(4) fonkj.kkps ifj.kke-

3. [kk«h« izðukaph izR;sdh lqekjs 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) Hkwxks«krh« l|%dk«hu ?kMkeksMhaP;k vH;klkps egRo-

(2) vfrfjDr «ksdla[;sps ifj.kke-

(3) Hkwdaikph dkj.ks o ifj.kke-

(4) ,«&fuuks Eg.kts dk; rs lkaxwu ,«&fuuksph dkj.ks o ifj.kke lkaxk-

4. [kk«h« izðukaph lqekjs 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) vo"kZ.kkph dkj.ks o ifj.kke lfoLrj Li"V djk-

(2) egkjk"V™krh« ^LokbZu ∂«Ów* lkfFkpk jksx-

(3) LFk«karjkph dkj.ks o ifj.kke lfoLrj f«gk-

(4) nkfjÊÓ (Poverty) Eg.kts dk; \ nkfjÊÓkph dkj.ks o ifj.kke lfoLrj

f«gk-
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T.Y. B.A. EXAMINATION, 2011

MUSIC (laxhr) (lkekU;) (G&3)

(2008 PATTERN)

fo'ks"k lwpuk :—;k lapkrh« jkxlaxhr xk;u] rc«k fdaok lrkj ;kiSdh dks.krhgh ,d

izðuif=dk lksMok-

(jkxlaxhr xk;u)
oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) vfuok;Z izðu ,d vf/kd moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k

pkj izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr canhðk@cMk [;k« Lojf«ficº

djk-  [5]

2. ðkadjk fdaok jkxsJh ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh vkjksg&vojksg&idM

;klg f«gk-  [5]

3. fo«afcr rhurk« fdaok fo«afcr ,drk« ;kiSdh dks.kR;kgh ,dk rk«kps «s[ku

djk-  [5]

4. [kk«h«iSdh dks.kR;kgh nksu fVik f«gk %  [5]

(1) fucº xku

(2) tksM jkx

(3) Lo;aHkw Lrj

(4) tud jkx

(5) o.kkZps izdkj

P.T.O.



[3901]-339 2

5. [kk«h«iSdh dks.kR;kgh nksuoj FkksMD;kr f«gk %  [5]

(1) izca/k
(2) laf/kizdkfðkr jkx
(3) xkule; flºkar
(4) rkukaps izdkj-

6. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou pfj= f«gk %  [5]

(1) ia- Hkhelsu tksðkh
(2) ia- ftrsaÊ vfHk"ksdh
(3) Jherh eksxqckbZ dqMhZdj

7. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk %  [5]

(1) laxhr fðk{k.kkps Lo:i
(2) ikðoZxk;u
(3) laxhr vkf.k vk/kqfud oSKkfud midj.ks-
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(rc«k)
oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :—izFke izðu vfuok;Z vkgs- ,dw.k pkj izðu lksMok-

1. :id fdaok ,drk« ;kiSdh dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh
f«gwu ,diV] nqIiV vkf.k pkSiV f«gk-  [5]

2. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk %  [5]

(1) pÿnkj
(2) js«k
(3) rqdMk
(4) «;dkjh

3. ok| oxhZdj.k ;k fo"k;koj foLrkjkus f«gk-  [5]

4. rc«k vkf.k i[kokt ;k nksUgh ok|kaoj rq«ukRed foospu djk-  [5]

5. ikðpkR; rk«ok|kaph FkksMD;kr ekfgrh |k-  [5]

6. rqeP;k vkoMR;k d«kdkjkP;k oknukph oSfðk"VÓs f«gk-  [5]
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(lrkj)
oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-
(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMokosr-

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« eflr[kkuh xr Lojf«ihcº djk-  [5]

2. jkx&ðkadjk o jkx&t;t;oarh ;kiSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg lfoLrj
ðkkL=ksDr ekfgrh f«gk-  [5]

3. fo«achr rhurk«] e/;«; ,drk«] :id ;kiSdh dks.kR;kgh ,dk rk«kps ek=k] [kaM]
Vkˇh] dk« ;kizek.ks «s[ku djk-  [5]

4. Vhik f«gk (dks.krkgh ,d) %  [5]

(1) izca/k
(2) fucº] vfucº xku
(3) laf/kizdkfðkr jkx

5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) %  [5]

(1) ijes« izosðkd jkx
(2) jkxkax jkx
(3) frjksHkko&vkfoHkkZo

6. fuca/k f«gk (dks.krkgh ,d) %  [5]

(1) laxhr o vk/kqfud oSKkfud midj.ks
(2) laxhr fðk{k.kkps Lo:i
(3) jkx laxhrkph «ksdfiz;rk (jkxlaxhr vkf.k tu#ph)-

7. pfj= f«gk (dks.krkgh ,d) %  [5]

(1) ia- ftrsaÊ vfHk"ksdh
(2) ia- Hkhelsu tksðkh
(3) mLrkn fcfLeY«k [kku-
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MUSIC (Special) (S-3)

(2008 PATTERN)

fo'ks"k lwpuk : ;k lapkrh« jkx laxhr xk;u] rc«k] lrkj ;kaiSdh rqEgh fðkd«sY;k fo"k;kph

dks.krhgh ,d izðuif=dk lksMokoh

jkx laxhr xk;u

osˇ % 1 rkl 30 fefuVs (nhM rkl) ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMokosr-

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« fo«achr [;k«kps Loj«s[ku djk- [5]

2. jkx fe;keYgkj o jkx&njckjh dkuMk ;kiSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg

lfoLrj ðkkL=ksDr ekfgrh f«gk- [5]

3. fo«achr ,drk«kps ek=k] [kaM] Vkˇh] dk« ;k izek.ks «s[ku djk- [5]

fdaok

vºk/kqekˇh] tr] lrok] >qejk ;kiSdh dks.kR;kgh nksu rk«kaps ek=k] [kaM] Vkˇh]

dk« ;k izek.ks «s[ku djk-

4. Vhik f«gk (dks.krkgh ,d) % [5]

(1) izca/k

(2) tkrh xk;u

(3) oSfnd laxhr-
P.T.O.
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5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) gkeZuh vkf.k es«Mh

(2) izkphu o vk/kqfud vk«ki iºrh

(3) daB laLdkj-

6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) daBlk/kuk

(2) laxhrfo"k;d izkphu xzaFkµHkjrequhœr ukVÓðkkL=

(3) eh ,sd«s«h eSfQ«-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) MkW- xaxqckbZ gax«

(2) iUuk«k« ?kks"k

(3) ia- dqekj xa/koZ-
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rc«k

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :—izFke izðu vfuok;Z vkgs- ,dw.k pkj izðu lksMok-

1. iape lokjh vkf.k #Ê ;kiSdh dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh f«gwu

,diV] nqIiV vkf.k pkSiV f«gk- [5]

2. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk % [5]

(1) frgkbZ

(2) js«k

(3) dk;nk

(4) pÿnkj

3. ok| oxhZdj.k ;k fo"k;koj foLrkjkus f«gk- [5]

4. rcY;kP;k cukjl vkf.k iatkc ;k nksUgh cktkaoj rq«ukRed foospu djk- [5]

5. ikðpkR; rk«ok|kaph FkksMD;kr ekfgrh |k- [5]

6. dks.kR;kgh ,dk rc«koknd d«kdkjkps lkaxhfrd thou&pfj= f«gk- [5]
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[3901]-340
(lrkj)

osˇ % 1 rkl 30 fefuVs (nhM rkl) ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-
(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMokosr-

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« elhr[kkuh xr Lojf«ficº djk- [5]

2. vH;klÿekrh« jkx rksMh (fe;k dh rksMh) o iqfj;k ;kiSdh dks.kR;kgh ,dk jkxkph
oSfðk"VÓkalg lfoLrj ðkkL=ksDr ekfgrh f«gk- [5]

3. lrok] f=rk«] ,drk«] pkSrk« ;kiSdh dks.kR;kgh ,dk rk«kps ek=k] [kaM] Vkˇh]
dk« ;k izek.ks «s[ku djk- [5]

4. Vhik f«gk (dks.krkgh ,d) % [5]

(1) /ouhðkkL= (Acoustics)

(2) oSfnd dkˇkrh« ok|s
(3) izca/k-

5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) tkrh xk;u
(2) fganqLFkkuh o nkf{k.kkR; laxhr iºrh
(3) gkeZuh vkf.k es«Mh

6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) laxhrfo"k;d izkphuxzaFkµHkjrequhœr ukVÓðkkL=
(2) gos«h laxhr (v"VNki doh)
(3) laxhr&xq#eq[kh fo/kk-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) ia- efY«dktqZu eUlwj
(2) «rk eaxsðkdj
(3) ia- gfjizlkn pkSjfl;k-
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T.Y. B.A. EXAMINATION, 2011

MUSIC (laxhr)

Special Paper-IV

(2008 PATTERN)

fo'ks"k lwpuk :— ;k lapkrh« jkx laxhr xk;u] rc«k] lrkj ;kaiSdh rqEgh fðkd«sY;k

fo"k;kph dks.krhgh ,d izðuif=dk lksMokoh-

jkx laxhr xk;u

osˇ % 1 rkl 30 fefuVs (nhM rkl) ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vkoð;d vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMokosr-

(iii) loZ izðukauk leku xq.k vlwu rs mtO;k cktwl nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« fo«achr [;k«kps Loj «s[ku djk- [5]

2. vH;klÿekrh« ek:fogkx fdaok e/kqoarh ;kiSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg

lfoLrj ðkkL=ksDr ekfgrh f«gk- [5]

3. >qejk] vkMkpkSrk«] /kekj] ,drk« ;kiSdh dks.kR;kgh nksu rk«kaps ek=k] [kaM] Vkˇh]

dk« ;k izek.ks «s[ku djk- [5]

4. [kk«h« ladYiuk Li"V djk (dks.krkgh ,d) % [5]

(1) laxhrklkBh xzaFkk«;s

(2) ikðoZ xk;u

(3) /ouh eqÊ.kA
P.T.O.
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5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) laxhr eSfQ« lknjhdj.kkps ra=

(2) laxhr vkf.k vU; «f«r d«kapk rkS«fud vH;kl

(3) laxhr Li/kk�±ps egRoA

6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) laxhr&lHkk] lEes«u] ifj"kn] egksRlo bZ- ps vk;kstu

(2) laxhr fðk{k.k Lo:i] leL;k] vk/kqfud dkˇkpk izHkko

(3) laxhr vkf.k O;olk;kP;k la/khA

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) fgjkckbZ cMksnsdj

(2) vkðkk Hkksl«s

(3) ia- gfjizlkn pkSjfl;kA
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rc«k

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— izFke izðu vfuok;Z vkgs- ,dw.k pkj izðu lksMok-

1. rhurk« vkf.k vkMk pkSrk« ;kiSdh dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh

vkf.k nksu izdkjP;k «;dkjh f«gk- [5]

2. leku ek=kaP;k vusd rk«kaP;k fufeZrhph dkj.kfeekalk djk- [5]

3. rcY;krh« ?kjk.kh ;k fo"k;koj FkksMD;kr foospu djk- [5]

4. dukZVd rk« iºrhps FkksMD;kr foospu djk- [5]

5. rc«k ;k ok|kps Hkkjrh; laxhrkrh« LFkku vkf.k egRo foðkn djk- [5]

6. rqeP;k vkoMR;k d«kdkjkps lkaxhfrd ;ksxnku foðkn djk- [5]
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lrkj

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðððððu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh nksu vls ,dw.k pkj izðu lksMokosr-

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« elhr[kkuh xr Lojf«ficº djk- [5]

2. jkx&vfgj&HkSjo o jkx&ek:fcgkx ;kiSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg lfoLrj

ðkkL=ksDr ekfgrh f«gk- [5]

3. >qejk] ,drk«] /kekj ;kiSdh dks.kR;kgh ,dk rk«kps ek=k] [kaM] Vkˇh] dk« ;k

izek.ks «s[ku djk- [5]

4. Vhik f«gk (dks.krkgh ,d) % [5]

(1) /ouh eqÊ.k

(2) laxhrklkBh xzaFkk«;s

(3) laxhr Li/kk±ps egRo-

5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) laxhr eSfQ« lknjhdj.kkps ra=

(2) laxhr vkf.k O;olk;kP;k la/kh

(3) laxhrkr nwjfðk{k.k iºrhl oko
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6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) laxhr lHkk] lEes«u] ifj"kn] egksRlo bZ- ps vk;kstu

(2) laxhr fðk{k.k Lo:i] leL;k o vk/kqfud dk«kpk izHkko

(3) xq#dq« fðk{k.k iºrh o vk/kqfud dkˇ-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) ia- jkekJ; >k

(2) mLrkn >kdhj gqlSu

(3) ia- gfjizlkn pkSjfl;kA



P.T.O.
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T.Y. B.A. EXAMINATION, 2011

PUBLIC ADMINISTRATION

(G-3 : Local Self-Government in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the meaning of Local Self-Government.

(2) Explain the merits of Democratic Decentralization.

(3) Explain the importance of Panchayat Raj Institutions.

(4) State the functions of Block Development Officer.

2. Write notes in 100 words each (any four) : [20]

(1) Explain the powers of District Collector.

(2) State the composition of Mayor.

(3) Role of Decentralization.

(4) Explain power and functions of Divisional Commissioner.

(5) State the importance of 74th Amendment.

(6) Write the functions of Gram Sevak.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) State the structure and functions of Municipal Corporation.

(2) Explain the composition and functions of Cantonment Board.

(3) Explain the problems of Urbanization.

(4) State the functions of C.E.O. in Zilla Parishad.

(5) Explain the features of Local Government.

4. Answer the questions in 500 words (any one) : [20]

(1) Explain the nature and scope of Local Self-Government.

(2) Discuss the composition, power and functions of Gram Panchayat.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) LFkkfud Loðkklukpk vFkZ lkaxk-

(2) «ksdðkkgh fodsaÊhdj.kkps xq.k Li"V djk-

(3) iapk;rjkt laLFksps egRo Li"V djk-

(4) xVfodkl vf/kdkÚ;kph dkes lkaxk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) ftYgkf/kdkÚ;kps vf/kdkj Li"V djk-

(2) egkikSjkph jpuk lkaxk-

(3) fodsaÊhdj.kkph Hkwfedk-

(4) foHkkfx; vk;qDrkph lŸkk vkf.k vf/kdkj Li"V djk-

(5) 74O;k ?kVuknq#Lrhps egRo lkaxk-

(6) xzkelsodkph dkes f«gk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) egkuxjikf«dsph jpuk vkf.k dkes lkaxk-

(2) dWUVkWuesUV cksMZph jpuk vkf.k dkes Li"V djk-

(3) ðkgjhdj.kkP;k leL;k Li"V djk-

(4) ftYgkifj"knsrh« eq[;kf/kdkÚ;kph dkes lkaxk-

(5) Loðkklukph oSfðk"VÓs Li"V djk-

4. [kk«h« izðukph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) LFkkfud Loðkklukps Lo:i vkf.k O;kIrh Li"V djk-

(2) xzkeiapk;rhP;k jpuk] vf/kdkj vkf.k dk;kZph ppkZ djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-343

T.Y. B.A. EXAMINATION, 2011

PUBLIC ADMINISTRATION (S-3)

(Development Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the meaning of Development Administration.

(2) State the objectives of Planning.

(3) Explain the importance of Land Reforms.

(4) State the meaning of Community Development.

2. Write the notes in 100 words each (any four) : [20]

(1) Concept of Development.

(2) State the objectives of Development Administration.

(3) Concept of Social Welfare.

(4) Explain the meaning of Public Opinion.

(5) Explain the nature of Bureaucracy.

(6) State the functions of Voluntary Organization.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the functions of National Development Council.

(2) Explain the role and functions of Bureaucracy in Development

Administration.

(3) State the policies of Social Welfare Development in India.

(4) State the objectives of Planning in India.

(5) Explain the features of Development Administration.

4. Answer the questions in 500 words (any one) : [20]

(1) Explain the nature and scope of Development Administration.

(2) Discuss the role and functions of Non-official and Voluntary

Organizations.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) fodkl izðkklukpk vFkZ Li"V djk-

(2) fu;kstukph mfÌ"VÓs lkaxk-

(3) tfeu lq/kkj.ksps egRo Li"V djk-

(4) lkeqnkf;d fodklkpk vFkZ lkaxk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) fodkl ladYiuk-

(2) fodkl izðkklukph mfÌ"VÓs lkaxk-

(3) lekt dY;k.kkph ladYiuk-

(4) «ksderkpk vFkZ Li"V djk-

(5) uksdjðkkghps Lo:i Li"V djk-

(6) Lo;alsoh laLFkkaph dk;sZ lkaxk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) jk"V™h; fodkl ifj"knsph dkes Li"V djk-

(2) fodkl izðkklukr uksdjðkkghph Hkwfedk o dk;sZ Li"V djk-

(3) Hkkjrkrh« lektdY;k.k fodklkps /kksj.k lkaxk-

(4) Hkkjrkrh« fu;kstukph mfÌ"VÓs lkaxk-

(5) fodkl izðkklukph oSfðk"VÓs Li"V djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) fodkl izðkklukps Lo:i vkf.k O;kIrh Li"V djk-

(2) fcxj ljdkjh ;a=.kk vkf.k Lo;alsoh laLFksph Hkwfedk o dk;kZph ppkZ djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-344

T.Y. B.A. EXAMINATION, 2011

PUBLIC ADMINISTRATION (S-4)

(Comparative Public Administration)

(India, U.K. and U.S.A.)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the meaning of Comparative Public Administration.

(2) Explain the Right to Strike.

(3) State the objectives of Training.

(4) Write the importance of Recruitment.

2. Write the notes in 100 words each (any four) : [20]

(1) Write the evolution of Comparative Public Administration.

(2) Nature of Comparative Public Administration.

(3) Fred Rigg’s ‘Ecological approach’.

(4) State the importance of Integrity in Administration.

(5) State the importance of Central Vigilance Commission in India.

(6) Explain the scope of Administrative Law.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the methods of Recruitment.

(2) Explain the Rigg’s Theory of Prismatic Society.

(3) State the functions of Administrative Tribunals.

(4) Discuss the problems of corruption in India.

(5) Explain the employer-employee relations.

4. Answer any one of the following questions in 500 words : [20]

(1) Discuss the various approaches to the study of Comparative

Public Administration.

(2) Explain the types of training in India, U.K. and U.S.A.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.kR;kgh nksu) % [10]

(1) rq«ukRed «ksdizðkklukpk vFkZ lkaxk-

(2) laikpk vf/kdkj Li"V djk-

(3) izfðk{k.kkpk mÌsðk lkaxk-

(4) Hkjrhps egRo f«gk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) rq«ukRed «ksdizðkklukpk izkjaHk f«gk-

(2) rq«ukRed «ksdizðkklukps Lo:i-

(3) ›sMfjXtpk ^okrkoj.kkRed n`f"Vdks.k*-

(4) izðkkldh; ,dkRersps egRo lkaxk-

(5) Hkkjrkrh« dsafÊ; lrdZrk vk;ksxkps egRo lkaxk-

(6) izðkkldh; dk;nÓkph O;kIrh Li"V djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) HkjrhP;k iºrh Li"V djk-

(2) fjXt ;kapk leikfð Zod lekt flºkar Li"V djk-

(3) izðkkldh; U;k;kf/kdj.kkph dk;sZ lkaxk-

(4) Hkkjrkrh« Hkz"VkpkjkP;k leL;kaph ppkZ djk-

(5) ek«d&lsod laca/k Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukph mŸkj 500 ðkCnkar f«gk % [20]

(1) rq«ukRed «ksdizðkklukP;k vH;klkP;k fofo/k n`f"Vdks.kkph ppkZ djk-

(2) Hkkjr] baX«aM vkf.k vesfjdsrh« izfðk{k.kkps izdkj Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-345

T.Y. B.A. EXAMINATION, 2011

PSYCHOLOGY

General Paper III

[Industrial and Organizational (I/O) Psychology]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) State the concept of ‘work motivation’.

(2) What are the steps for designing training program ?

(3) State the concept of ‘job satisfaction’.

(4) What is the scope of Engineering Psychology ?

2. Write notes in 100 words each (any four) : [20]

(1) Standard Application Blanks.

(2) Uses of Job Information.

(3) Use of motivation theory for behaviour modification.

(4) Job characteristic model of job satisfaction.

(5) Time and motion study.

(6) Criterion measures of training effectiveness.
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3. Answer in 200-250 words each (any three) : [30]

(1) Explain realistic job preview method as recruitment technique.

(2) Explain Herzberg’s two-factor theory of motivation.

(3) Explain leadership as behavioural style.

(4) Explain peer-appraisal and self-appraisal as source of evaluation.

(5) Explain pay as a measure of job satisfaction.

4. Answer in 500 words (any one) : [20]

(1) What is subject matter of I/O Psychology ? Write in detail

about development of I/O Psychology.

(2) Define leadership. Discuss Fiedler’s contingency model of

leadership.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

1. [kk«h« izðukaph 50 ðkCnkar mŸkjs f«gk (QDr nksu) % [10]

(1) dk;Z&izsj.kk laKk foðkn djk-

(2) izfðk{k.k dk;Zÿe r;kj dj.;kP;k ik;Ú;k lkaxk-

(3) dk;Z lek/kku laKk foðkn djk-

(4) vfHk;kaf=dh ekulðkkL=kph O;kIrh dk; \
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2. izR;sdh 100 ðkCnkar fVik f«gk (QDr pkj) % [20]

(1) izekf.kr vkosnu i=-

(2) dk;Z ekfgrhps mi;ksx-

(3) orZu lq/kkj Eg.kwu izsj.kk miiŸkhpk mi;ksx-

(4) dk;Z lek/kkukps dk;Z xq.k foðks"k izk:i-

(5) dk«&xrh vH;kl-

(6) izfðk{k.k ifj.kke dkjdrsph fud"kkRed ekiu lk/kus-

3. [kk«h« izðukaph 200 rs 250 ðkCnkar mŸkjs |k (QDr rhu) % [30]

(1) izR;{k dk;Z v<kok ,d Hkjrh ra= Eg.kwu foðkn djk-

(2) gtZcxZ ;kapk izsj.kk f}?kVd flºkar Li"V djk-

(3) usr̀Ro ,d orZu ðkS«h Eg.kwu Li"V djk-

(4) lgdk;k±}kjs o oS∏;Drhd xq.keqY;kadu gs xq.k eqY;kaps lzksr Eg.kwu Li"V djk-

(5) vkfFkZd ekscn«k gs dk;Z lek/kkukps lk/ku Eg.kwu Li"V djk-

4. 500 ðkCnkar mŸkjs f«gk (QDr ,d) % [20]

(1) vkS|ksfxd vkf.k la?kVu ekulðkkL=kpk vH;kl fo"k; dk; vkgs \ vkS|ksfxd

o la?kVu ekulðkkL=kP;k fodklkoj lfoLrj f«gk-

(2) usr`Rokph O;k[;k djk- fQM«j ;kaps usr`Rokfo"k;hps vkuq"kafxd izfrekukaph ppkZ

djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-346

T.Y. B.A. EXAMINATION, 2011

PSYCHOLOGY

Special Paper III

(Experimental Psychology and Scientific Research)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the kinds of thinking.

(2) What is an operational and constitutive definition of variable ?

(3) Explain the role of insight in thinking.

(4) State the nature of Questionnaire method of data collection.

2. Write short notes in 100 words each (any four) : [20]

(1) Signal Detection theory.

(2) Creative thinking.

(3) Types of psychological test.

(4) Criteria of Hypothesis.

(5) Survey method.

(6) Sources of ideas for research.
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3. Answer the following questions in 200-250 words each

(any three) : [30]

(1) Describe the basic concepts in psychophysics.

(2) Discuss various types of validity.

(3) Explain the types of scientific research.

(4) Discuss approaches in scientific research.

(5) Illustrate field experiment and field study.

4. Answer any one of the following questions in 500 words : [20]

(1) Define attention. Discuss the nature and types of attention.

(2) What is sampling ? Explain the types of non-probability sampling.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) fopkjizfÿ;sps izdkj Li"V djk-

(2) ifjoR;kZph lafÿ;kRed vkf.k ladYiuk/kkfjr O;k[;k Eg.kts dk; \

(3) fopkjizfÿ;srh« eeZn`"Vhph Hkwfedk Li"V djk-

(4) iznŸk lad«ukrh« izðuko«h iºrhps Lo:i lkaxk-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) ladsrðkks/k miiŸkh-

(2) ltZuðkh« fopkj&izfÿ;k-

(3) ekulðkkL=h; pkp.khps izdkj-

(4) vH;qixekps fud"k-

(5) losZ{k.k iºrh-

(6) laðkks/ku dYiusph mxeLFkkus-

3. [kk«h« izðukaph mŸkjs izR;sdh 200&250 ðkCnkar f«gk (dks.krsgh rhu ) % [30]

(1) euksHkkSfrdhrh« ew«Hkwr ladYiukaps o.kZu djk-

(2) ;FkkFkZrsP;k (oS/krk) fofo/k izdkjkaph ppkZ djk-

(3) ðkkL=h; laðkks/kukps izdkj Li"V djk-

(4) ðkkL=h; laðkks/kukrh« n`"Vhdksukaph ppkZ djk-

(5) {ks=h; iz;ksx vkf.k {ks=h; vH;kl lksnkgj.k Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) vo/kkukph O;k[;k |k- vo/kkukps Lo:i vkf.k izdkjkaph ppkZ djk-

(2) uequkp;u Eg.kts dk; \ fouklaHkkO;rk uequkp;ukps izdkj Li"V djk-
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[3901]-348

T.Y. B.A. EXAMINATION, 2011

GANDHIAN THOUGHT

General Paper III

(Relevance of Gandhian Thought)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Explain Dada Dharmadhikari’s concept of ‘Survodaya’.

(2) Explain Vinoba’s views on Gita.

(3) Introduce briefly the work of Syu Ki in Myanmar.

(4) Explain the limitations of Gandhian Movements.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Jayprakash Narayan’s idea of Total Revolution.

(2) Bhoodan Movement of Vinoba Bhave.

(3) Work of Nelson Mandela.

(4) Chipko Andolan.

(5) Women Empowerment Movement.

(6) Nature of Anti-racist Movements.
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3. Answer any three of the following in 200 to 250 words each : [30]

(1) Explain briefly the work of N. G. Gore as a social worker.

(2) Explain S. D. Javdekar’s views on Synthesis of Gandhi and

Marx.

(3) Explain the various limitations of Bhoodan Movement.

(4) Bring out the relationship within Dada Dharmadhikari and

Gandhiji.

(5) Explain the importance of Anti-imperialist Movements.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain and critically evaluate Acharya Javdekar’s idea of Satyagrahi

Samajwada.

(2) Explain the importance of Narmada Bachao Andolan as an

Environmental Movement.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk % [10]

(1) nknk /kekZf/kdkjhaph loksZn; gh ladYiuk Li"V djk-

(2) fouksckapk xhrsoÌ«pk n`"Vhdksu Li"V djk-

(3) E;kuekje/kh« L;wa dh ;kaP;k dk;kZpk laf{kIr ifjp; |k-

(4) xka/khoknh pˇoˇhaP;k e;kZnk Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVik f«gk % [20]

(v) t;izdkðk ukjk;.k ;kaph lexz ÿkarhph dYiuk-

(c) fouksckaph Hkwnku pˇoˇ-

(d) usYlu eaMs«k ;kaps dk;Z-

(≥) fpidks vkanks«u-

(b) efg«k lc«hdj.k pˇoˇ

(Q) oaðkokn fojks/kh pˇoˇhaps Lo:i-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph 200&250 ðkCnkar mŸkjs f«gk % [30]

(1) ,d lkekftd dk;ZdrkZ Eg.kwu uk- x- xksjs ;kaps dk;Z FkksMD;kr Li"V djk-

(2) xka/kh&ekDlZ leUo;kcÌ« tkoMsdjkapk n`"Vhdksu Li"V djk-

(3) Hkwnku pˇoˇhP;k fofo/k e;kZnk Li"V djk-

(4) xka/khth vkf.k nknk /kekZ/khdkjh ;kaP;karh« ijLijlaca/k foðkn djk-

(5) lkezkT;ðkkgh fojks/kh pˇoˇhps egRo Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) vkpk;Z tkoMsdjkaph lR;kxzgh lektokn gh dYiuk Li"V d:u rhps fpfdRld

ewY;ekiu djk-

(2) ,d i;kZoj.kfo"k;d pˇoˇ Eg.kwu ueZnk cpkvks vkanks«ukps egRo Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-349

T.Y. B.A. EXAMINATION, 2011

YOGAVIDYA (;ksxfo|k) (G-3)

(Vyavharik Yoga)

(2008 PATTERN)

Time : 2 Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]

(i) What is final objective of Patanjal Yoga.

(ii) Mental health.

2. Write short notes (any two) : [10]

(i) School of Yoga Pranali

(ii) Objectives of Shuddhikriya

(iii) Ashtakumbhaka

(iv) Importance of various Bandhas.

3. Answer any two questions from the following in 200 to 250

words each : [15]

(i) What is the meaning of ‘Asana’ ? Write with example types

and benefits of Asanas.

P.T.O.
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(ii) Discuss, how Yoga is helpful to keep social health.

(iii) State the application of Yoga science to higher level persons.

4. Answer any one question in detail : [10]

(i) State the role of Yoga in sports.

(ii) How does Yoga help to old age.

(ejkBh :ikarj)

osˇ % 2 rkl ,dw .k xq.k % 40

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dkps 50 ðkCnkr Li"Vhdj.k |k % [5]

(i) irat« ;ksxkps vafre /;s; dks.krs \

(ii) ekufld LokLF;-

2. FkksMD;kr Vhik |k (dks.kR;kgh nksu) % [10]

(i) ;ksx iz.kk«haps izdkj

(ii) ðkwfºÿh;kapk mÌsðk Li"V djk

(iii) v"VdqEHkd

(iv) fofo/k ca/kkps egRo-
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3. [kk«h«iSdh dks.kR;kgh nksu izðukaps izR;sdh 200 rs 250 ðkCnkr mŸkj |k %  [15]

(i) vklukapk vFkZ dk; vkgs \ vklukaps fofo/k izdkj lkaxwu R;kaps Qk;ns dk;

vkgs- lksnkgj.k nsowu Li"V djk-

(ii) lkekftd LokLF; lao/kZuklkBh ;ksxkpk mi;ksx gksbZ« dk \ ppkZ djk-

(iii) ;ksxðkkL=kpk mPpinLFk vf/kdkÚ;kauk gks.kkjk mi;ksx Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps lfoLrj mŸkj |k % [10]

(i) ;ksxðkkL=kph [ksˇkrhy Hkqehdk Li"V djk-

(ii) ok/kZD;kr gks.kkjk ;ksxkpk mi;ksx lkaxk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-350

T.Y. B.A. EXAMINATION, 2011

HISTORY OF CIVILIZATION

General Paper III

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :

[10]

(i) Proto-historic period

(ii) Discovery of Harappa Civilization

(iii) Four Aryasatyas

(iv) Counter-reformation.

2. Write short notes in 100 words each (any four) : [20]

(i) Code of Hammurabi

(ii) Varnashram System

(iii) Roman Society

(iv) Teaching of Jesus Christ

(v) Renaissance in Literature

(vi) Newton.

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(i) State about the progress made by human beings in Neolithic

Age.

P.T.O.
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(ii) Explain the progress of Roman Civilization in the field of state,

architecture and science.

(iii) Describe the life and teaching of Bhagwan Buddha.

(iv) Write in detail the causes for the Renaissance.

(v) Discuss the Geographical Discoveries.

4. Answer any one of the following questions in 500 words : [20]

(i) Write about social life, economic life, religion and philosophy

in Egyptian Civilization.

(ii) Describe the rise and nature of Feudalism.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(i) bfrgkliwoZ dk« [kaM

(ii) gjIik laLœrhpk ðkks/k

(iii) pkj vk;ZlR;s

(iv) izfr/keZlq/kkj.kk pˇoˇ-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) gEeqjkchph dk;nslafgrk

(ii) o.kkZJe O;oLFkk

(iii) jkseu lekt

(iv) ;sðkwph fðkdo.k

(v) izcks/kudkˇkrh« lkfgR;

(vi) U;wVu-
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3. [kk«h«iSdh izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) %

[30]

(i) uokðe;qxkr ekuokus ds«s«h izxrh lkaxk-

(ii) jkseu laLœrhrh« jkT;] LFkkiR;d«k o foKku ;k {ks=krh« izxrh Li"V

djk-

(iii) Hkxoku cqº ;kaps thou o fðkdo.k o.kZu djk-

(iv) izcks/ku ?kMwu ;s.;kph dkj.ks lfoLrj f«gk-

(v) HkkSxks«hd ðkks/kkaph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) bftfIðk;u laLœrhrh« lkekftd thou] vkfFkZd thou] /keZ o rRoKku ;k

fo"k;h f«gk-

(ii) ljatkeðkkghpk mn; o frps Lo:i o.kZu djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-351

T.Y. B.A. EXAMINATION, 2011

HOME ECONOMICS

(G-3 : Dynamics and Challenges of Indian Society)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following concepts in 50 words each (any two) : [10]

(1) Social change process

(2) Traditional society

(3) Social value conflict

(4) Divorce.

2. Write short notes in 100 words each (any four) : [20]

(1) Social Change

(2) Inter-marriage

(3) Passive and Active deviation

(4) Social Conformity

(5) Principles of Indian Family

(6) Communication and Social Change.

P.T.O.



[3901]-351 2

3. Answer the following questions in 200 words each (any three) : [30]

(1) Explain the role of Education and Technology in Social

Change.

(2) Explain the causes of Social Deviation

(3) Explain the characteristics of Modern Society.

(4) Explain the causes of social value conflict in Indian Society.

(5) “The status of Women is changing in Indian Society.”

Explain.

4. Answer the following questions in 500 words (any one) : [20]

(1) Explain the factors influencing on social change process.

(2) Explain the causes and effects of Dowry System.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« ladYiukph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) lkekftd ifjorZu izfÿ;k

(2) ijaijkxr lekt

(3) lkekftd ewY; la?k"kZ

(4) ?kVLQksV-
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2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(1) lkekftd ifjorZu

(2) vkarjfookg

(3) fu"ÿh; vkf.k lfÿ; fop«u

(4) lkekftd vuqp«u

(5) Hkkjrh; dqVwackph rRos

(6) lansðkogu vkf.k lkekftd ifjorZu-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(1) lkekftd ifjorZukr fðk{k.k vkf.k ra=Kku ;kaph Hkwfedk Li"V djk-

(2) lkekftd fop«ukph dkj.ks Li"V djk-

(3) vk/kqfud lektkph oSfðk"VÓs Li"V djk-

(4) Hkkjrh; lektkrh« lkekftd ewY; la?k"kkZph dkj.ks Li"V djk-

(5) ^^Hkkjrh; lektkr fL=;kapk ntkZ cn«r vkgs-** Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukph mŸkj 500 ðkCnkr f«gk % [20]

(1) lkekftd ifjorZu izfÿ;soj ifj.kke dj.kkjs ?kVd Li"V djk-

(2) gqaMk iºrhph dkj.ks o ifj.kke Li"V djk-



Total No. of Questions—4+4+4] [Total No. of Printed Pages—8

[3901]-352

T.Y. B.A. EXAMINATION, 2011

DEFENCE AND STRATEGIC STUDIES

D.S. G-3 (A) : International Security

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) What is International Security ?

(2) Define cold war.

(3) Explain the characteristics of Post-Cold War Period.

(4) What is Balance of Power ?

2. Write short notes in 100 words each (any four) : [20]

(i) Prevention of War

(ii) New Cold War

(iii) Concept of Non-Alignment

(iv) Functions of Diplomats

(v) Concept of Disarmament

(vi) Nature of Terrorism.

P.T.O.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the various environmental problems.

(ii) State the concept and nature of Ethnic Conflict.

(iii) Explain the nature and problems of Arms Control and

Disarmament.

(iv) Describe the theory to Detente.

(v) Explain the means and types of balance of power.

4. Answer any one of the following questions in 500 words : [20]

(a) Explain the meaning, nature and causes of Terrorism.

(b) Discuss the causes of War.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) vkarjjk"V™h; lqj{kk Eg.kts dk; \

(2) ðkhr ;qºkph O;k[;k |k-

(3) ðkhr ;qºksŸkj dkˇkph oSfðk"Vs Li"V djk-

(4) lŸkspk lerks« Eg.kts dk; \
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) ;qº jks[k.;kps mik;

(ii) ufou ðkhr ;qº

(iii) vf«Irrsph ladYiuk

(iv) jktu;Kkaph dk;sZ

(v) fu%ðkL=hdj.kkph ladYiuk

(vi) ngðkroknkps Lo:i-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) % [30]

(i) i;kZoj.kkP;k fofo/k leL;k Li"V djk-

(ii) okafðkd la?k"kkZph ladYiuk vkf.k Lo:i lkaxk-

(iii) ðkL= fu;a=.k vkf.k fu%ðkL=hdj.kkps Lo:i vkf.k leL;k Li"V djk-

(iv) ^r.kkoðkSfFkY;@l«ks[kk* flºkUr foðkn djk-

(v) lŸkk lerks«kph lk/kus vkf.k izdkj Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) ngðkroknkpk vFkZ] Lo:i vkf.k dkj.ks Li"V djk-

(ii) ;qºkP;k dkj.kkaph ppkZ djk-
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[3901]-352

D.S. G-3 (B) : Military Geography

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the problems of Desert Warfare.

(2) State the importance of National Power.

(3) Explain the scope of Military Geography.

(4) State the concept of Strategy.

2. Write short notes in 100 words each (any four) : [20]

(1) Importance of Jammu and Kashmir

(2) Concept of Grand Strategy

(3) Strategic importance of Andaman and Nicobar Islands

(4) Natural Gas

(5) Characteristics of Plain

(6) Uses of Military Geography.

3. Answer in 200 to 250 words each (any three) : [30]

(1) Explain the impact of Geography on Air Warfare.

(2) Explain in detail the geostrategic importance of oil in West

Asia.
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(3) Describe the characteristics and logistic problems in Jungle.

(4) Explain in detail the principles of logistics.

(5) Explain the meaning and importance of Geo-strategy.

4. Answer any one in 500 words : [20]

(1) Describe in detail the geo-strategic position and importance

of Diego-Garcia.

(2) Explain in detail the factors of National Power.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ok«qdke; ;qº/kkj.ksP;k leL;k Li"V djk-

(2) jk"V™h; ðkDrhps egRo Li"V djk-

(3) «"djh Hkwxks«kph O;kIrh Li"V djk-

(4) ;qºuhrhph ladYiuk lkaxk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) tEew&dkðehjps egRo

(2) foðkk« ;qºuhrhph ladYiuk

(3) vaneku fudksckj csVkaps lkefjd egRo
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(4) uSlfxZd ok;w

(5) eSnkuh iznsðkkph oSfðk"VÓs

(6) «"djh Hkwxks«kps mi;ksx-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) % [30]

(1) gokbZ ;qºiºrhoj Hkwxks«kpk iM.kkjk izHkko Li"V djk-

(2) ifðpe vkfðk;krh« rs«kps Hkwlkefjd egRo lfoLrj Li"V djk-

(3) tax«h iznsðkkph oSfðk"Vs vkf.k iqjoBÓkP;k leL;k foðkn djk-

(4) iqjoBk O;oLFksph rRos lfoLrj Li"V djk-

(5) Hkw;qºuhrhpk vFkZ vkf.k egRo Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukph mŸkj 500 ðkCnkar f«gk % [20]

(1) fnxks xflZ;kps Hkwlkefjd LFkku o egRo lfoLrj Li"V djk-

(2) jk"V™h; ðkDrhps ?kVd lfoLrj Li"V djk-
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[3901]-352

D.S. G-3 (C) : Geopolitics

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) State the Geopolitical thought of Karl Houshopher.

(ii) Explain the importance of Wartime Geopolitics.

(iii) Explain cultural boundaries.

(iv) State importance of Territorial Water.

2. Write short notes in 100 words each (any four) : [20]

(i) Admiral A.T. Mahan

(ii) State

(iii) Boundaries

(iv) Buffer state

(v) War and Climate

(vi) Nature of Political Geography.

3. Answer in 200 to 250 words each (any three) : [30]

(i) What is Landlocked state ? Explain its problems.

(ii) Explain the elements of Nation.

(iii) State the scope of Geopolitics.

(iv) “Political Geography is a dynamic science.” Discuss.

(v) Explain contrast between Frontiers and Boundaries.

4. Answer any one in 500 words : [20]

(i) Describe in detail the Heartland theory of MacKinder.

(ii) Explain in detail the basic elements of State.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) dk«Z gkSðkksQj ;kaps Hkwjktdh; fopkj lkaxk-

(ii) ;qºdk«hu Hkwjktfurhps egRo Li"V djk-

(iii) lkaLœrhd lhek Li"V djk-

(iv) izknsðkhd t«kðk;kps egRo lkaxk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) vWMfej« ,-Vh- egku

(ii) jkT;

(iii) lhek

(iv) e/;Lr nsðk

(v) ;qº o gokeku

(vi) jktdh; Hkwxks«kps Lo:i-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krhgh rhu) % [30]

(i) Hkwos"Vhr nsðk Eg.kts dk; \ R;kaP;k leL;k Li"V djk-

(ii) jk"V™kps ?kVd Li"V djk-

(iii) Hkwjktfurhph O;kIrh lkaxk-

(iv) ^^jktdh; Hkwxks« ,d xfreku ðkkL= vkgs-** ppkZ djk-

(v) lhek iznsðk o lhek ;krh« Qjd Li"V djk-

4. dks.krkgh ,dpk 500 ðkCnkar mŸkjs f«gk % [20]

(i) eWfdUMj ;kaP;k ^eeZHkweh* flºkarkps lfoLrj o.kZu djk-

(ii) jkT;kps ?kVd lfoLrj Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

[3901]-353

T.Y. B.A. EXAMINATION, 2011

DEFENCE AND STRATEGIC STUDIES

D.S. S-3 (A) Maratha Military System (1630-1818 A.D.)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Why did Shivaji adopt Guerrilla tactics ?

(2) State the articles of Treaty of Purandar.

(3) What is the role of Dadoji Kondadeo in making of Shivaji ?

(4) State the strategic importance of forts.

2. Write short notes in 100 words each (any four) : [20]

(1) Types of Cavalry

(2) Karnataka campaign

(3) Santaji

(4) Jijabai

(5) Raid on Shahistekhan

(6) Strategy of battle of Pratapgad.

P.T.O.
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3. Answer in 200 to 250 words each (any three) : [30]

(1) State the causes of downfall of Maratha Power.

(2) Evaluate the military leadership of Sambhaji.

(3) Explain the Jawali incident.

(4) “Shivaji as a Master of Guerrilla tactician”. Discuss.

(5) State the causes of Third Anglo-Maratha War.

4. Answer in 500 words (any one) : [20]

(1) Describe the social, geographical, economic background of

Maharashtra before Shivaji.

(2) Assess the role of Maratha Navy under Kanhoji Angre.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) eqˇ baxzth izðuif=dk xzk· /kjkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) fðkokth egkjktkauh xfueh dkO;kpk okij dk ds«k \

(2) iqjanjP;k rgkph d«es lkaxk-

(3) fðkokth egkjktkaP;k tM.k?kM.khr nknksth dkasMnso ;kaph Hkwfedk dks.krh

gksrh \

(4) fdYY;kaps lkefjd egRo lkaxk-
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2. [kk«h« izðukaph izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(1) ?kksMnˇkps izdkj

(2) dukZVd eksghe

(3) larkth

(4) fttkckbZ

(5) ðkkfgLrs[kkukojh« gY«k

(6) izrkixMP;k «<k;kph ;qºuhrh-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(1) ejkBh lŸksP;k irukph dkj.ks lkaxk-

(2) laHkkthP;k «"djh usr`Rokps ewY;ekiu djk-

(3) tkoˇh izdj.k Li"V djk-

(4) ^^fðkokth egkjkt ,d dqðk« xfueh usrs gksrs-** ppkZ djk-

(5) baxzt&ejkBk frlÚ;k ;qºkph dkj.ks lkaxk-

4. [kk«h« izðukaph mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) fðkoiwoZdk«hu egkjk"V™kP;k lkekthd] HkkSxks«hd] vkfFkZd ikðoZHkwehps o.kZu

djk-

(2) dkUgksth vkaxzsP;k fu;a=.kk[kk«h« ejkBÓkaP;k ukSn«kP;k dk;kZps ewY;ekiu

djk-
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[3901]-353

D.S. S-3 (B) Disaster Management

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the objectives of study of Disaster Management.

(2) State the characteristics of Natural Disaster.

(3) What is Environmental Disaster ?

(4) Explain the role of Volunteers in local bodies of Disaster

Management.

2. Write short notes in 100 words each (any four) : [20]

(1) Relief work in Disaster

(2) Process of Resettlement

(3) Yokohama Message

(4) Elements of Disaster Management

(5) Nature of Man-made Disaster

(6) Meaning of Disaster.

3. Answer in 200 to 250 words each (any three) : [30]

(1) What are the significant studies of Disaster Management ?

(2) Explain the nature and types of Natural Disaster.

(3) State the characteristics of Man-made Disaster.

(4) Describe in brief the various types of Pollution.

(5) Discuss the Traditional war and Disaster.
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4. Answer any one of the following questions in 500 words : [20]

(a) Explain the possible solutions in Disaster.

(b) Discuss the psychological and social consequences of Disaster.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) vkiŸkh O;oLFkkiukP;k vH;klkph mfÌ"Vs Li"V djk-

(2) uSlfxZd vkiŸkhph oSfðk"Vs lkaxk-

(3) i;kZoj.kh; vkiŸkh Eg.kts dk; \

(4) vkiŸkh O;oLFkkiukrh« LFkkfud la?kVusrh« Lo;alsodkaph Hkwfedk Li"V

djk-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(1) vkiŸkhrh« enr dk;Z

(2) iquoZlukph izfÿ;k

(3) ;ksdksgkek lansðk

(4) vkiŸkh O;oLFkkiukps ?kVd-

(5) ekuo fufeZr vkiŸkhps Lo:i-

(6) vkiŸkhpk vFkZ-
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3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(1) vkiŸkh O;oLFkkiukP;k vH;klkps dk; egRo vkgs \

(2) uSlfxZd vkiŸkhps Lo:i vkf.k izdkj Li"V djk-

(3) ekuo fufeZr vkiŸkhph oSfðk"Vs lkaxk-

(4) iznw"k.kkps fofo/k izdkj laf{kIri.ks Li"V djk-

(5) ^ikjaikjhd ;qº vkf.k vkiŸkh* ;koj ppkZ djk-

4. [kk«h« izðukaps mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(v) vkiŸkhrh« mik; ;kstuk Li"V djk-

(c) vkiŸkhP;k lkekftd vkf.k ekulðkkL=h; ifj.kkekaoj ppkZ djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

[3901]-354

T.Y. B.A. EXAMINATION, 2011

DEFENCE AND STRATEGIC STUDIES

D.S. S-4 (A) : Industrial Security

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) What are the objectives of Industrial Security ?

(ii) How do we get warning of fire break ?

(iii) What is Power of Arrest ?

(iv) State the role of Control Room.

2. Write short notes in 100 words each (any four) : [20]

(i) Cognizable crimes

(ii) Main gate

(iii) First aid box

(iv) Search room

(v) Court procedure

(vi) Indian Penal Code.

P.T.O.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) State the scope of Industrial Security.

(ii) What is investigation ? How does it take place ?

(iii) Describe in brief Industrial espionage.

(iv) What is fire ? Explain the classification of fire.

(v) State the duties of Security Inspector.

4. Answer any one in 500 words : [20]

(i) Explain the Security Planning and its implementation.

(ii) Describe in brief various types of First Aid.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) vkS|ksxhd lqj{ksph mfÌ"VÓs dks.krh \

(ii) vkxhph lqpuk dðkh feˇrs \

(iii) vVd dj.;kpk vf/kdkj Eg.kts dk; \

(iv) fu;a=.k d{kkph Hkwfedk lkaxk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) n[k«ik= xqUgs
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(ii) eq[; izosðk}kj

(iii) izFkeksipkj isVh

(iv) >Mrh d{k

(v) U;k;k«;hu izfÿ;k

(vi) Hkkjrh; naM lafgrk-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) % [30]

(i) vkS|ksxhd lqj{ksph O;kIrh lkaxk-

(ii) pkSdðkh Eg.kts dk; \ rh dðkh ds«h tkrs \

(iii) vkS|ksxhd gsjfxjh FkksMD;kr foðkn djk-

(iv) vkx Eg.kts dk; \ vkxhps oxhZdj.k djk-

(v) lqj{kk fufj{kdkph drZO;s lkaxk-

4. dks.krkgh ,dpk mŸkj 500 ðkCnkar f«gk % [20]

(i) vkS|ksfxd lqj{ksps fu;kstu o vae«ctko.kh Li"V djk-

(ii) izFkeksipkjkP;k fofo/k izdkjkaps FkksMD;kr o.kZu djk-
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[3901]-354

D.S. S-4 (B) : Research Methodology

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the Reports Writing Contains.

(2) State the scope of Research.

(3) State the importance and need of objectivity.

(4) Explain the meaning of Social Research.

2. Write short notes in 100 words each (any four) : [20]

(1) Descriptive Research Design

(2) Secondary Sources

(3) Objectivity

(4) Survey

(5) Types of hypothesis

(6) Characteristics of facts.

3. Answer in 200 to 250 words each (any three) : [30]

(1) State the objectives of Report Writing.

(2) Explain in brief characteristics of hypothesis.

(3) Why is an interview essential during research process ?

(4) Explain the phases of Research Design.

(5) Explain the subject matter of Survey.
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4. Answer in 500 words each (any one) : [20]

(1) What is collection of data ? Explain in detail the sources of

collection of data.

(2) Describe the meaning and importance of concept.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) vgok« «s[kukpk vkðk; Li"V djk-

(2) laðkks/kukph O;kIrh lkaxk-

(3) laðkks/kukr oLrqfu"Brsps egRo o vkoð;drk lkaxk-

(4) lkekthd laðkks/kukpk vFkZ Li"V djk-

2. [kk«h« izðukaph izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(1) o.kZukRed laðkks/ku vkjk[kMk

(2) nq∏;e lk/kus

(3) oLrqfu"Brk

(4) lOgsZ{k.k

(5) x`fgrdkaps izdkj

(6) rF;kaph oSfðk"Vs-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk (dks.kR;kgh rhu) % [30]

(1) vgok« «s[kukph mfÌ"Vs lkaxk-

(2) x`fgrdkaph oSfðk"VÓs FkksMD;kr Li"V djk-

(3) laðkks/ku izfÿ;sr eq«k[kr dk vkoð;d vlrs \

(4) laðkks/ku vkjk[kMÓkP;k ik;Ú;k Li"V djk-

(5) lOgsZ{k.kk«k vkoð;d vl.kkjh lkeqxzh Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukph mŸkj 500 ðkCnkr f«gk % [20]

(1) ekfgrh lad«u Eg.kts dk; \ ekfgrh lad«ukps lzksr lfoLrj Li"V djk-

(2) ladYiuspk vFkZ o egRo foðkn djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

[3901]-355

T.Y. B.A. EXAMINATION, 2011

SOCIAL WORK (G-3)

I–Introduction to Youth Welfare

II–Introduction to Rural and Urban Welfare

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two questions in 50 words each : [10]

(i) Explain the meaning of Youth Welfare.

(ii) Explain the responsibilities of Youth in National Development.

(iii) Explain the problems of Tribal Community.

(iv) Explain the functions of Youth Club.

2. Answer any four questions in 100 words each : [20]

(i) Explain the impact of unemployment on youth.

(ii) State the role of Mahila Mandal in women empowerment.

(iii) Explain the importance of premarital counselling.

(iv) State the importance of training for youth leadership.

P.T.O.
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(v) Discuss on “various government schemes for welfare of backward

class youth”.

(vi) Explain problems of handicapped youth and Government provision

for them.

3. Attempt any three questions in 200 to 250 words each : [30]

(i) Explain the role of agencies for urban welfare in urban

development.

(ii) Explain the problems of rural community and highlight on the

schemes for rural development.

(iii) Discuss the problems of unemployed educated youth and its

impact on society.

(iv) Write an essay on ‘Sex Education and its importance”.

(v) Write a detailed note on various provisions made by the

Government in the field of youth welfare.

4. Answer any one question in 500 words : [20]

(i) Write an essay on “Youth and Challenges”.

(ii) Discuss on “Vocational training and its importance”.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) eqˇ baxzth izðuif=dk xzk· /kjkoh-
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1. dks.krsgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(i) ;qok dY;k.k ;kpk vFkZ Li"V djk-

(ii) jk"V™h; fodklkrh« ;qodkaP;k tckcnkÚ;k foðkn djk-

(iii) vkfnoklh leqnk;kP;k leL;k foðkn djk-

(iv) r:.k eaM«kps dk;Z foðkn djk-

2. dks.krsgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk % [20]

(i) csjkstxkjhpk ;qodkoj gks.kkjk ifj.kke foðkn djk-

(ii) efg«k l{kehdj.kklkBh efg«k eaMˇkph Hkwehdk Li"V djk-

(iii) fookgiwoZ leksinsðkukps egRo foðkn djk-

(iv) ;qok usr`RoklkBh izfðk{k.kkps egRo Li"V djk-

(v) ^^ekxkloxhZ; ;qodkaP;k dY;k.kklkBh vl«sY;k fofo/k ðkkldh; ;kstuk** ;koj

ppkZ djk-

(vi) viax ;qodkaP;k leL;k foðkn d:u R;kaP;klkBh vl«sY;k ðkkldh; rjrwnh

Li"V djk-

3. dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk % [30]

(i) ukxjh dY;k.kklkBh vl«sY;k laLFkkaph ukxjh fodklkrh« Hkwehdk Li"V

djk-

(ii) xzkeh.k leqnk;kP;k leL;k foðkn d:u xzkeh.k fodklklkBh vl«sY;k ;kstuk

;koj izdkðk Vkdk-

(iii) fðk{khr csdkj (unemployed) r#.kkP;k leL;k vkf.k R;kpk lektkoj gks.kkjk

ifj.kke ;kph ppkZ djk-
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(iv) ^^«Saxhd fðk{k.k vkf.k R;kps egRo** ;koj fuca/k f«gk-

(v) ;qok dY;k.kklkBh ðkklukus ds«sY;k fofo/k rjrwnh ;koj lfoLrj fVIi.kh

f«gk-

4. dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) ^^;qod vkf.k vkokg.ks** ;koj fuca/k f«gk-

(ii) ^^O;kolk;hd izfðk{k.k vkf.k R;kps egRo** ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-357

T.Y. B.A. EXAMINATION, 2011

COMMERCE (General)

(Business Management)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) What is Business Management ?

(2) What is Line-Organisation ?

(3) What is Participative Leadership Style ?

(4) Meaning of Control.

2. Answer the following questions in 100 words each (any four) : [20]

(a) Explain the levels of planning.

(b) Explain the importance of Motivation.

(c) Explain the types of decisions.

(d) Meaning of co-operation and co-ordination.

(e) Explain the importance of Communication.

3. Answer any two questions from the following in 300 words

each : [30]

(1) ‘Management is a Science and an Art.’ Explain.

P.T.O.
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(2) Explain the types of Delegation of Authority.

(3) Discuss ‘Management of Change’.

(4) Explain the areas of Control.

4. Answer the following questions in 500 words (any one) : [20]

(1) Explain the merits and demerits of Autocratic Leadership.

(2) Explain the techniques of Direction.

(3) Explain the Prof. Maslow’s Need Hierarchy theory.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) O;olk; O;oLFkkiu Eg.kts dk; \

(2) ^js"kk&la?kVu* Eg.kts dk; \

(3) lgHkkxh usr̀Ÿo ðkS«h Eg.kts dk; \

(4) ^fu;a=.k* vFkZ lkaxk-

2. [kk«h« izðukaph izR;sdh 100 ðkCnkr mŸkjs f«gk (dks.krsgh pkj) % [20]

(v) fu;kstukps Lrj Li"V djk-

(c) laizsj.ksps egRo Li"V djk-

(d) fu.kZ;kaps izdkj Li"V djk-

(M) ^lgdkj* vkf.k ^leUo;* vFkZ lkaxk-

(b) lansðkogukps egRo Li"V djk-
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3. [kk«h« izðukaph izR;sdh 300 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) ^O;oLFkkiu gs ðkkL= vkf.k d«k vkgs-* Li"V djk-

(2) vf/kdkj iznkukps izdkj Li"V djk-

(3) ^O;oLFkkiukrh« cn«* ppkZ djk-

(4) fu;a=.kkps {ks= Li"V djk-

4. [kk«h« izðukaph 500 ðkCnkr mŸkjs f«gk (dks.krkgh ,d) % [20]

(1) gqdqeðkkgh usr`Rokps Qk;ns&rksVs Li"V djk-

(2) fnXn~nðkZukph ra=s Li"V djk-

(3) izks- vczkge ekL«kspk xjtkfo"k;d flºkUr Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

[3901]-358

T.Y. B.A. EXAMINATION, 2011

EDUCATION (G-3)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]

(1) What is Image ?

(2) Write the meaning of Action Research.

(3) What is Disaster ?

(4) Write the meaning of Mental Health.

(5) What is Guidance ?

(6) What is concept formation ?

(7) Write the meaning of individual differences.

(8) Which are the three aspects of discipline ?

(9) Write the meaning of Globalization.

(10) Write the definition of indiscipline.

(11) Write the meaning of Educational Guidance.

(12) What is social discipline ?

(13) What is imagination ?

2. Answer the following questions in 50 words each (any two). [10]

(1) Explain the causes of riots.

(2) Explain the educational importance of Action Research.

(3) Explain the importance of Councelling.

(4) Write the causes of individual differences.

P.T.O.
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3. Answer the following questions in 150 words (any two) : [20]

(1) What is school indiscipline ? What are the causes of indiscipline ?

Write the ways to overcome them.

(2) What is mental conflict ? Explain the types and causes of

mental conflicts.

(3) What is perception ? Explain the educational importance of

perception.

(4) Explain the concept and need of vocational guidance.

4. Answer the following questions in 300 words each (any two) : [30]

(1) What is demonstration method ? Explain its nature, advantages

and limitations.

(2) What is Higher Education ? What are the problems in Higher

Education ? Write the ways  to overcome them.

(3) What is Personality ? Explain the factors affecting on personality

development.

(4) What is project method ? Explain the nature, advanatages and

limitations of project method.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 20 ðkCnkr mŸkjs f«gk (dks.krsgh ngk) [20]

(1) izfrek Eg.kts dk; \

(2) œrhlaðkks/kukpk vFkZ f«gk-
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(3) vkiŸkh Eg.kts dk; \

(4) ekufld vkjksX;kpk vFkZ f«gk-

(5) ekxZnðkZu Eg.kts dk; \

(6) lacks/k Eg.kts dk; \

(7) O;DrhHksnkpk vFkZ f«gk-

(8) fðkLrhps rhu iS«w dks.krs \

(9) tkxrhdhdj.kkpk vFkZ f«gk-

(10) csfðkLrhph O;k[;k f«gk-

(11) ðkS{kf.kd ekxZnðkZukpk vFkZ f«gk-

(12) lkekftd fðkLr Eg.kts dk; \

(13) dYiuk Eg.kts dk; \

2. [kk«h« dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk % [10]

(1) nax«hph dkj.ks Li"V djk-

(2) œrhlaðkks/kukps ðkS{kf.kd egŸo foðkn djk-

(3) leqinsðkukps egŸo Li"V djk-

(4) O;fDrHksnkph dkj.ks f«gk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 150 ðkCnkr f«gk % [20]

(1) ðkk«s; csfðkLr Eg.kts dk; \ csfðkLrhph dkj.ks dks.krh \ rh nwj dj.;klkBh

mik; f«gk-

(2) ekufld la?k"kZ Eg.kts dk; \ ekufld la?k"kkZph dkj.ks o izdkj Li"V djk-

(3) vocks/k Eg.kts dk; \ vocks/kkps ðkS{kf.kd egŸo foðkn djk-

(4) O;kolkf;d ekxZnðkZukph ladYiuk foðkn d:u O;kolkf;d ekxZnðkZukph xjt

Li"V djk-

P.T.O.
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4. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 300 ðkCnkr f«gk % [30]

(1) fnXnðkZu iºrh Eg.kts dk; \ ;k iºrhps Lo:i] Qk;ns o e;kZnk Li"V djk-

(2) mPp fðk{k.k Eg.kts dk; \ mPp fðk{k.kkrh« leL;k dks.kR;k \ R;k nwj

dj.;klkBh mik; f«gk-

(3) O;fDreŸo Eg.kts dk; \ O;fDreŸo fodklkoj ifj.kke dj.kkjs ?kVd Li"V

djk-

(4) izdYi iºrh Eg.kts dk; \ izdYi iºrhps Lo:i] Qk;ns o e;kZnk Li"V

djk-



Total No. of Questions—5] [Total No. of Printed Pages—4

[3901]-359

T.Y. B.A. EXAMINATION, 2011

INDUSTRIAL MATHEMATICS

FMG–3 : C-Programming

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(i) Which of the following are valid identifiers ? Justify.

(a) for

(b) FLOAT

(c) 123a

(d) a123

(ii) Write the syntactic translation of the following :

(a)
23 4

2

x x−

(b)
4

ac bc a

b

+   
       .

(iii) Find the value of the following expression :

3 * 4 / 3 * 4 + 12 % 5.

P.T.O.
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(iv) Explain the meaning of each of the following function

declarations :

int f (float a);

float g(char s, float x);

(v) Explain the meaning of the following array initialization

char n[ ] = “Hello”;

(vi) Write a macro SQUARE (a) to find the square of a number.

(vii) State the meaning of the following declaration :

int c(int *, int);

(viii) Define a structure consisting of two floating point members,

called real and imaginary. Include the tag complex within the

definition.

(ix) Explain the use of function : fclose( ).

(x) Write the general form of malloc( ) and calloc( ) functions.

2. (A) Attempt any one of the following : [6]

(i) Write a short note on while loop. Explain by giving an

example.

(ii) Write a short note on increment and decrement operators.

(B) Attempt any two of the following : [10]

(i) Write a short note on two-dimensional array.

(ii) Write a short note on switch statement.

(iii) Write a C program to check whether the given number

is prime or composite.
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3. (A) Attempt any two of the following : [8]

(i) Write a C program to reverse a string.

(ii) Write a C program to find transpose of a square

matrix.

(iii) Write a short note on function recursion.

(B) Attempt any two of the following : [8]

(i) Write a short note on structures.

(ii) Write a short note on automatic variables.

(iii) Write a short note on shift operators.

4. (A) Attempt any one of the following : [6]

(i) Write a short note on array of pointers.

(ii) Write a C program to find addition of two complex numbers.

Define complex number using structure.

(B) Attempt any two of the following : [10]

(i) Write a short note on fgetc( ) and fputc( ).

(ii) Write a C program to add two integers using command

line arguments.

(iii) Write a C program to create a data file.

5. (A) Attempt any one of the following : [6]

(i) Write a short note on C preprocessor.

(ii) Write a short note on passing structures to functions.
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(B) Attempt any two of the following : [10]

(i) Write an algorithm to sort given n numbers in ascending

order.

(ii) Write a short note on enumerations.

(iii) Write a short note on typedef.
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[3901]-360

T.Y. B.A. EXAMINATION, 2011

MATHEMATICAL STATISTICS

(General)

Statistical Inference

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator and statistical table is allowed.

(iv) Symbols and abbreviations have their usual meaning.

1. Attempt any two of the following : [2×5=10]

(a) Examine whether the sample mean is a consistent estimator

of the parameter θ of the following distribution :

1 1( , ,
1 (

f x x
x 2

θ) = −∞ < < ∞
π + − θ) .

(b) If T is a sufficient statistic for θ, show that log
∂

∂θ
 L is a

function of T and θ only, L being the likelihood function. Is

the converse true ?

(c) Suggest a suitable pivotal quantity to construct a confidence

interval for σ2 in N(µ, σ2) distribution, µ known and hence

construct 100(1 – α)% (0 < α < 1) confidence interval for σ2

based on a random sample of size n.

(d) Write a note on ‘Mann-Whitney’ Test.

P.T.O.
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2. Attempt any four of the following : [4×5=20]

(a) For the gamma distribution with p.d.f.

( ; , ) ; 0x
f x e x x

λ
−α λ−1α

α λ = ≤ < ∞
λ

= 0 otherwise

Find the asymptotic variance of the m.l.e of α when λ is

known.

(b) Obtain the estimates of µ and σ2 by the method of moments

for N(µ, σ2).

(c) Let p be the probability that a coin will fall head in a single

toss. In order to test H0 : p = 0.5, the coin is tossed 10

times and H0 is rejected if number of heads X are less than

3 and more than 7. Find the probability of type I error. If

the alternative hypothesis H1 : p = 0.8, find the probability

of type I error and power of the critical region.

(d) The following data represents the number of hours that a

rechargeable hedge trimmer operates before a recharge is

required :

1.5, 2.2, 0.9, 1.3, 2.0, 1.6, 1.8, 1.5, 2.6, 1.2, 1.7.

Use sign test to test the hypothesis that the trimmer operate

on an average 1.8 hours before recharge at 5% l.o.s.

(e) Examine whether the sample mean X  is the MVBUE of θ

for the Poisson distribution with parameter θ.
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(f) A random sample of size 15 drawn from the distribution with

p.d.f.

|1
( , )

2
xf x e− − θ|θ =

                         , – ∞ < x < ∞

                           – ∞ < µ < ∞

is as follows :

17.6, 12.4, 15.4, 11.3, 13.5, 1.5, –23.2, 16.5, –17.5, 9.2, 15.6,

–11.6, 19.5, 31.5, 19.7.

Estimate θ by the method of maximum likelihood.

3. Attempt any three of the following : [3×10=30]

(a) Let X1, X2, X3,.............,Xn be a random sample of size n drawn

from N(µ, σ2) distribution, σ2 known. Obtain the likelihood

ratio test to test the simple H0 : µ = µ0 at α l.o.s.

(b) In what respect does a non-parametric test differ from the

parametric tests ? Write down the advantages of non-parameter

test over parameter tests.

(c) Let X1, X2, X3,.............,Xn be a random sample of size n

from N(µ, σ2) distribution, where σ2 is known. Construct UMP

level α test for testing H0 : µ = µ0 against H1 : µ = µ1

(µ1 > µ0).

(d) Explain Kolmogorov-Smirnov test for testing whether a given

random sample may be regarded as drawn from a completely

specified distribution.
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How does it differ from chi-square test for goodness of

fit ?

(e) Construct a SPRT for testing H0 : θ = 4 against :

H1 : θ = 3, if f(x, θ) = θe–θx, x > 0. Take α = β = 0.10.

4. Attempt any one of the following : [1×20=20]

(a) (i) If B(θ) is the bias in the estimator of θ, then show that

under certain regularity conditions to be stated :

2
2 2[1 B ( ]

E (T ) [B( )] .
I(n

′+ θ)
− θ ≥ + θ

θ)

Where I(θ) is Fisher’s information and n is the sample

size. [10]

(ii) A person has planted 18 plants around his garden fencing.

He observed healthy plan (H) and diseased plan (D) as

follows :

H H H H D H D D D D H H H H H D D D

Test the hypothesis that the disease struck at random

to the plants. Use 10% l.o.s. [5]

(iii) Find I(α) for G(α, λ) distribution, λ known. [5]

(b) (i) Explain the concept of a sufficient statistic. Give a suitable

illustration. State Neyman factorisation criterion. [8]

(ii) Find the m.l.e. of the parameter θ based on a random

sample of size n from U (– θ, 2θ); θ > 0. [7]

(iii) Define observed level of significance (p-value) with an

illustration. [5]
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1. (A) Answer any three of the following in about twenty (20) words

each : [6]

(i) What is Downward Communication ?

(ii) How is personal appearance important in communication ?

(iii) What is Formal Communication ?

(iv) What is Grapevine Communication ?

(v) What is an Informal Communication ?

(B) Attempt any three of the following : [6]

(i) Identify the contrast of sounds in the following pairs

of words :

(a) Price—Prize

(b) Sleep—Slip.
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(ii) Mark the accent :

(a) Private

(b) Captain.

(iii) Identify the weak forms in the following sentences :

(a) This is a pen.

(b) They came for help.

(iv) Mark intonation in the following sentences :

(a) We’re late for office.

(b) Is the water cool ?

(v) How would you close a conversation in the following

situation :

You are seeing someone off at the railway station.

2. (A) Attempt any three of the following : [6]

(i) Make two words with each of the following suffixes :

(a) .....er

(b) .....able.

(ii) Make antonyms with the help of prefixes :

(a) accurate

(b) legal.

(iii) Identify the parts of speech of the underlined words :

(a) This is a kind of bread.

(b) They are kind people.
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(iv) Identify the acceptable combinations of the words

below :

(a) fluent English/easy English

(b) gossip writer/gossip columnist.

(v) Fill in the blanks with the appropriate word :

(a) He bought some ........................ .

(stationary, stationery)

(b) She gave ........................ to twins. (birth, berth)

(B) Attempt any three of the following : [6]

(i) Write a set of two words each closely related in meaning

to the following words :

(a) road

(b) clever.

(ii) Match the synonyms in the two columns :

  Column A  Column B

(1) abate (a) annually

(2) yearly (b) seem

(3) meticulous (c) lessen

(4) appear (d) careful

(iii) Frame sentences by using the following phrases :

(a) look up to

(b) look into.
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(iv) Coin as many words as possible from the letters used

in the words below :

(a) imagine

(b) waterfall.

(v) Identify whether the meaning of the underlined word is

literary or figurative :

(a) It is a cold day.

(b) He gave a lame excuse.

3. Attempt any two of the following : [12]

(a) Imagine that you are facing an interview for the post of manager

in a company. Anticipate any six questions and write down

your responses to them.

(b) Imagine that you are going to interview Sachin Tendulkar. List

down ten questions you would ask.

(c) A group of three friends is having a discussion on the Cricket

World Cup matches. Write a dialogue anticipating two utterances

for each of the participants.

4. Attempt any two of the following : [12]

(a) Write a paragraph of about 100 words on any one of the

following topics :

(i) Deforestation

(ii) My idea of happiness.
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(b) Write a review of the film you watched recently.

(c) Summarise the following passage :

‘Religion, as it is generally understood, is supposed to be the

spirit of science. The method of science is empirical while that

of religion is dogmatic. Science does not rely on authority but

appeals to communicable evidence that any trained mind can

evaluate. Science does not admit any barriers to freedom of

thought and inquiry. It welcomes new knowledge and new

experience. A true scientist does not take refuge in dogmatism.

His outlook is marked by modesty, self-criticism and readiness

to learn from others. If we esteem freedom of inquiry, we

find that it is incompatible with authoritarianism, which is the

dominant feature of religion.

5. (A) Attempt any two of the following : [6]

(i) Punctuate the following passage :

only about three per cent of the earths water is fresh

but most land plants and animals depend on this water

for their survival water continuously moves around the

earths surface changing from one form to another.
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(ii) Rearrange the jumbled sentences below to form well-written

paragraph :

(1) It contains, of course, the meanings of ‘difficult

words’.

(2) One of the most important reference books that

you must possess is a dictionary.

(3) It also gives you the pronunciation of the words.

(4) You do possess one, perhaps, but I doubt whether

you are aware of the different kinds of information

it contains.

(5) The dictionary can be referred to for the various

grammatical forms of the words.

(6) Finally, a good dictionary contains illustrative

sentences or phrases showing how words are

actually used.

(iii) Explain the use of any one of the punctuation marks

given below :

(a) Comma

(b) Question mark.
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(B) Attempt any two of the following : [6]

(i) Match the following expressions of telephonic

conversation :

Mr. A Mr. B

(1) Hello (a) Yes

(2) May I talk to the (b) Will you hold on, please

Principal ?

(3) Take your own time (c) Good morning

(4) Thank you (d) You are welcome

(ii) Complete the telephonic conversation below :

A : .................... Department of English.

B : .................... Could I speak to Professor Patil, please.

A : ............................... ............................. ?

B : I’m Sanjay Kadam from University Press.

A : .................... I’ll .................... .

B : Thank you.

(iii) Write a transcript of a power point presentation you

would make on ‘Education : Past and Present’.
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1. Answer any four of the following : [16]

(i) Explain the role of Morphology in the study of language.

(ii) Explain Compounding and Blending as word formation

processes.

(iii) Explain the processes of Prefixation and Suffixation.

(iv) Describe the physiology of articulatory system used for the

speech production.

(v) Define the terms ‘phoneme’, ‘allophone’ and ‘minimal pair’ with

examples.

(vi) Explain the dipthongs of English.

2. Write short notes on any four of the following : [16]

(i) Code mixing and code switching
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(ii) Creole and Pidgin

(iii) Features of Multilingualism

(iv) Speech Acts

(v) Sentence and Utterance

(vi) Bilingualism.

3. Write short notes on any four of the following : [16]

(i) Tone groups

(ii) Uses of Falling Tone

(iii) Accent in connected speech

(iv) The Progressive Aspect

(v) The uses of ‘Genitive’

(vi) Expressions of Frequency.

4. Write short notes on any four of the following : [16]

(i) Register

(ii) Politeness Principle

(iii) Person, Place and Time Deixis

(iv) Style

(v) Major characteristics of American English

(vi) Features of Indian English.

5. (A) Answer any two of the following : [8]

(i) Discuss ‘Indian English’ as a non-native variety.
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(ii) Point out the difference between British and American

English at the level of vocabulary.

(iii) Explain the major characteristics of British English.

(B) Do as directed (any four) : [8]

(i) Form two words each by using the following affixes :

(a) ....ship

(b) anti....

(c) ....ness

(d) post....

(ii) Transcribe the following words phonemically :

teacher, creation, invite, reason.

(iii) Use the correct tense form of the verb given in the

brackets :

The parcel (arrive) last week.

(iv) Identify the register of the following utterance and mention

its markers :

Mix all ingredients in the mixie and make a paste.

(v) Identify the deixis in the following utterance and mention

its type :

You and I have the same problem.
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1. (A) Attempt any two of the following in about 50 words

each : [8]

(i) What are the qualifications of an ideal critic ?

(ii) Write a short note on useful arts.

(iii) Discuss briefly Aristotle’s views on ‘imitation’.

(B) Attempt any two of the following in about 50 words

each : [8]

(i) Discuss the sociological approach to literature.

(ii) How is a psychological approach useful to our under-

standing of literary text ?

(iii) Comment on the merits and demerits of biographical

criticism.
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2. Attempt any four of the following in about 50 words each : [16]

(i) Discuss Wordsworth’s views on the language of poetry.

(ii) Why does Sidney remark that poetry is the best in teaching

of virtue ?

(iii) What, according to Arnold, are three kinds of estimates of

poetry ?

(iv) In what sense does Eliot call tradition dynamic ?

(v) “Tragi-comedy is nearer to life than either tragedy or comedy.”

Discuss this view in the light of ‘Preface to Shakespeare’.

(vi) How does Sidney establish the superiority of poetry over history

and philosophy ?

3. Attempt any four of the following : [16]

(i) Explain the term ‘Allusion’.

(ii) What do you mean by ‘Connotation’ ?

(iii) Explain the term ‘Sarcasm’.

(iv) Explain ‘Onomatopoeia’ with example.

(v) What is an ‘imagery’ ?

(vi) Discuss the term ‘wit’.

4. Attempt any four of the following : [16]

(i) Define the term ‘Poetic Justice’.

(ii) What is an ‘Allegory’ ?

(iii) Explain the term ‘Round Characters’.

(iv) What do you mean by ‘Romanticism’ ?

(v) Explain the term ‘Stream of Consciousness’.

(vi) What do you understand by the term ‘Intentional Fallacy’ ?
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5. Read the following poem and answer the questions given below it

(any eight) : [16]

I love to rise in a summer morn

When the birds sing on every tree

The distant huntsman winds his horn

And the skylark sings with me

O ! What sweet company.

But to go to school in a summer morn

O ! it drives all joy away;

Under a cruel eye outworn

The little ones spend the day

In singing and dismay.

Ah ! then at times I drooping sit,

And spend many an anxious hour,

Nor in my book can I take delight

Nor sit in learning’s bower,

Worn through with the dreary shower.

How can the bird that is born for joy

Sit in a cage and sing ?

How can a child when fears annoy

But droop his tender wing

And forget his youthful spring ?
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O ! father and mother, if buds are nipped

And blossoms blown away.

And if the tender plants are stripped

Of their joy in the springing day,

By sorrow and care’s dismay.

How shall the summer arise in joy,

Or the summer fruits appear ?

Or how shall we gather what griefs destroy,

Or bless the mellowing year,

When the blasts of winter appear ?

Questions :

(i) What does the boy enjoy ?

(ii) What is the sweet company for the schoolboy ?

(iii) How do the little children spend their day in the school ?

(iv) What are the feelings and mood of a boy in the first stanza ?

(v) Why does the schoolboy revolt ?

(vi) What does the phrase ‘a cruel eye’ suggest ?

(vii) Identify and explain the figure of speech in the following

line :

‘And blossoms blown away.’

(viii) How does the poet sympathise with the schoolgoing children ?

(ix) What do the words ‘the bird’ and ‘a cage’ symbolise ?

(x) What appeal is made to the parents in the poem ?

(xi) Write down the rhyme scheme of the first two stanzas.
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1. Attempt any eight of the following : [16]

(i) Let G be a group such that (ab)2 = a2b2 for all,

a, b ∈ G. Show that G is abelian group.

(ii) Let G be a group of even order. Prove that G has an element

of order 2.

(iii) Show that every subgroup of an abelian group is normal.

(iv) Let G be a group and g ∈ G. Define Q : G → G by

Q(x) = gxg–1. Prove that  Q is one-one homomorphism.

(v) Express (1, 2, 3) (4, 5) (1, 6, 7, 8, 9) (1, 5) as product of

disjoint cycles.

(vi) Give an example of a finite, non-commutative ring.

(vii) Show that every non-zero element of Zn is a unit or a zero-

divisor.

(viii) Is the ring 2Z isomorphic to the ring 3Z ? Justify.
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(ix) Give an example of an irreducible polynomial in Z2[x] of

degree 2.

(x) Is 5 an irreducible element in Z[i] ? Is 5 a prime element

in Z[i] ? Justify.

2. (a) Attempt any one of the following : [6]

(i) Show that the subgroup N of G is a normal subgroup

of G if and only if every left coset of N in G is a

right coset of N in G.

(ii) Let φ be a homomorphism of G onto G′ with kernel

K. Then prove that G/K is isomorphic to G′.

(b) Attempt any two of the following : [10]

(i) If G has no non-trivial subgroups, show that G must

be finite of prime order or G = {e}.

(ii) If G is a group in which (a . b)i = ai . bi for three consecutive

integers i for all a, b ∈ G, show that G is abelian.

(iii) If N, M are normal subgroups of group G, prove that

NM/M ≈ N/N ∩ M.

3. (a) Attempt any one of the following : [8]

(i) Show that every permutation in Sn is the product of

its cycles. Further, prove that every cycle can be written

as product of transpositions.
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(ii) Let G be a finite group and H be a subgroup of G.

Prove that O(H) divides O(G). Show that if a ∈ G, then

O(a)|O(G).

(b) Attempt any one of the following : [8]

(i) Let R be a commutative ring with unity and let A be

an ideal of R. Prove that R/A is a field if and only

if A is maximal.

(ii) Let φ be a homomorphism from a ring R to a ring S.

Let A be a subring of R. Prove that φ(A) = {φ(a)|a ∈ A}

is a subring of S. If A is an ideal of R, then is φ(A)

an ideal of S ? Justify.

4. (a) Attempt any one of the following : [6]

(i) Define an integral domain. Show that every finite integral

domain is a field.

(ii) Show that a polynomial of degree n over a field has

at most n zeros counting multiplicity.

(b) Attempt any two of the following : [10]

(i) Let R be a commutative ring with unity and

  N = {a ∈ R|an = 0 for some n ∈ N}.

Show that N is an ideal of R.
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(ii) Let I = {f(x) ∈ Z[x]|f(0) is an even integer}. Prove that

I = 〈x, 2〉. Further, show that I is an maximal ideal.

(iii) Show that 1 + 3  is an irreducible element in Z 3 − 

but it is not a prime element.

5. (a) Attempt any one of the following : [6]

(i) Let F be a field and let P(x) ∈ F[x]. Prove that 〈p(x)〉

is a maximal ideal in F[x] if and only if p(x) is irreducible

over F.

(ii) Show that xP – 1 + xP – 2 + ....... + 1 is an irreducible

polynomial over Q, where P denotes a prime.

(b) Attempt any two of the following : [10]

(i) Prove that 
[ ]

2 2

x

x −

Q
 is ring isomorphic to Q 2   , where

Q 2    = {a + b 2 |a, b ∈ Q}.

(ii) Prove that Z[i] = {a + bi|a, b ∈ Z} is a Euclidean domain

with d(a + bi) = a2 + b2.

(iii) If D is an integral domain, then prove that D[x] is an

integral domain.
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1. Attempt any eight of the following : [16]

(i) Give an example of sets A, B, C such that A ∈ B,

B ⊆  C and A ∉ C.

(ii) State whether the following statement is true or false with

justification. Every infinite set contains a countable subset.

(iii) Show that ¬(p → q) and p ∧ ¬q are logically equivalent.

(iv) Determine the truth value of each of the following statements :

(a) ∀n (n + 1 > n)

(b) ∃n (n = –n)

where the domain consists of all integers.

(v) Prove that if n is an integer and n2 is odd, then n is odd.

(vi) What are the dense subsets of a discrete metric space.

(vii) Give an example of a matric space X in which only the open

sets are φ and X.

(viii) Show that if B is totally bounded and A ⊂ B, then A is

totally bounded.
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(ix) State whether the following statement is true or false with

justification. Every finite subset of a metric space is compact.

(x) Give an example where 

B ,

 is a proper subset of

B[x, r].

2. (A) Attempt any one of the following : [6]

(i) If 〈x, y〉 = 〈u, v〉, then show that x = u, y = v.

(ii) If n is a finite cardinal, then show that n < N0.

(B) Attempt any two of the following : [10]

(i) Prove that, if domain of a function is countable, then

its range is also countable.

(ii) Let A = {1, 2, ........., n}. Prove that if f : A → A

is an onto map, then it is one-to-one and if a map

g : A → A is one-to-one, then it is onto.

(iii) Show that the conditional statement [¬p ∧ (p ∨ q)] → q

is a tautology by using truth tables.

3. (A) Attempt any two of the following : [8]

(i) Prove that a countable union of countable sets is countable.

(ii) Show that the hypotheses “If you send me an e-mail

message, then I will finish writing the program”, “If you

do not send me an e-mail message, then I will go to

sleep early.” and “If I go to sleep early then I will wake

up feeling refreshed” lead to conclusion “If I do not

finish writing the program, then I will wake up feeling

refreshed.”



[3901]-366 3 P.T.O.

(iii) Show that ¬∀x (P(x) → Q(x)) and ∃x (P(x) ∧ ¬Q(x))

are logically equivalent.

(B) Attempt any two of the following : [8]

(i) Let F(x, y) be the statement “x can fool y” where the

domain consists of all people in the world. Use quantifiers

to express each the following statements :

(a) Everybody can fool Fred.

(b) Everybody can fool somebody.

(c) There is exactly one person whom everybody can

fool.

(d) No one can fool himself or herself.

(ii) Prove that if n is an integer and 3n + 2 is odd, then

n is odd. Use any method of proof.

(iii) Use a proof by cases to show that |xy| = |x||y|, where

x and y are real numbers. (Note that, |a| is equal to

a if a ≥ 0, and is equal to –a if a < 0).

4. (A) Attempt any one of the following : [6]

(i) Prove that every non-empty open set in R is the union

of a countable family of pairwise disjoint open intervals.

(ii) For P(x1, y1), Q(x2, y2) ∈ R2 we define d(P, Q) = max{|x1 – x2|,

|y1 – y2|}. Show that d is a metric for R2.

(B) Attempt any two of the following : [10]

(i) Let X = R2 with standard metric. Let A = {(x, y) ∈

R2|xy = 0}. Show that A is closed.
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(ii) Let X be a metric space. Let A and B be two connected

subsets of X such that A ∩ B ≠ φ, then show that

A ∪ B is connected.

(iii) Let (x, d) be a metric space. Show that, if a Cauchy

sequence (xn) in X has a convergent subsequence then

the Cauchy sequence (xn) is convergent.

5. (A) Attempt any two of the following : [8]

(i) Let A and B be subsets of a metric space (X, d). Show

that A  B = A  B∪ ∪ . Is A  B = A  B∩ ∩  ? Justify.

(ii) If f is a continuous function from a compact metric space

(X, d) to another metric space (Y, d) show that f(X)

is a bounded subset of Y.

(iii) Show that any closed subset of a compact metric space

is compact.

(B) Attempt any two of the following : [8]

(i) If a set J ⊆ R is connected, then show that J is an

interval.

(ii) Show that R2 is complete.

(iii) Let Y be a subset of a metric space X. Show that

A ⊂ Y is open in Y if and only if there exists an open

set U in X such that A = Y ∩ U.
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1. Attempt any eight of the following : [16]

(i) Show that :

( )
2 2

0

x
x ty x e e dt−= ∫

is a solution of

2 1.
dy

xy
dx

= +

(ii) Solve :

( ) ( )3 3 0.y x dx x y dy− + + =

(iii) Sketch the family of curves x + y = c. Also sketch family

of its orthogonal trajectories.

(iv) Find an integrating factor for :

( ) ( )21 0.xy dx x xy dy− + − =
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(v) Write the regular singular points of Legendre’s equation.

(vi) Find the integral curves of :

( ) ( ) ( )2 3 3 2 2 3 2 3 3
.

dx dy dz

x y z y z x z x y
= =

− − −

(vii) Find the integral of :

yz dx + 2xz dy – 3xy dz = 0.

(viii) Write Charpit’s auxiliary equations for :

p2 + q2 = 4z.

(ix) Show that xpq + yq2 = 1 has the complete integral :

(z + b)2 = 4(ax + y)

where a and b are arbitrary constants.

(x) Prove that x dx + y dy + z dz = 0 is exact.

2. (A) Attempt any one of the following : [6]

(i) State and prove the exactness condition for the differential

equation :

M dx + N dy = 0.

(ii) Explain method of variation of parameters to find general

solution of :

y′′ + p(x) y′ + q(x) y = r(x).
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(B) Attempt any two of the following : [10]

(i) Let y1 = y1(x) be one solution of :

y′′ + p(x) y′ + q(x) y = 0.

Show that y2(x) = vy1(x) is another solution of the same

equation, where :

( )
2
1

1
.

p x dx
v e dx

y

−∫= ∫

(ii) Show that displacement of mass M from mean position

is given by :

x(t) = x0 cos at

where mass M performing S.H.M. along X-axis with

mean position x = 0 and initial position x = x0 and

a is constant.

(iii) Find power series solution of :

y′′ – y′ + xy = 0

around x0 = 0.

3. (A) Attempt any two of the following : [8]

(i) Suppose x0 = 0 is a regular singular point of y′′ + py′

+ qy = 0 then show that :

1
1

0

m j
j

j

y x a x
∞

=

 
=  

  
∑

is a series solution of y′′ + py′ + qy = 0 on interval

of convergence of series of functions xp(x), x2q(x) and

m1 is root of initial equation.
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(ii) Show that :

( ) 1 2
1 1 2 2A A

m t m t
x t c e c e= +

( ) 1 2
1 1 2 2B B

m t m t
y t c e c e= +

represents set of all solutions of the system :

1 1

dx
a x b y

dt
= +

2 2

dy
a x b y

dt
= +

where m1, m2 are roots of associated auxiliary equation

and c1, c2 are arbitrary constants.

(iii) Find general solution of :

y′′ + 3y′ – 10y = 6e4x

by using method of undetermined coefficients.

(B) Attempt any two of the following : [8]

(i) Solve z2 = pqxy by using Charpit’s method.

(ii) Find general integral of :

z(xp – yq) = y2 – x2

by using Lagrange’s method.

(iii) Show that a necessary and sufficient condition for existence

of a relation F(u, v) = 0 between two functions

u = u(x, y), v = v(x, y) is :

( )
( )

,
0.

,

u v

x y

∂
≠

∂
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4. (A) Attempt any one of the following : [6]

(i) Explain Natani’s method to solve :

P dx + Q dy + R dz = 0.

(ii) Explain method of finding a surface orthogonal to system

of surfaces f(x, y, z) = c.

(B) Attempt any two of the following : [10]

(i) (a) Show that the integral curves of :

2 2

dx dy dz

xy az xz ayx a
= =

− ++

are conics.

(b) Solve ( )2 2 .p q x pz+ =

(ii) (a) Solve :

( ) ( ) ( )2 2 2 0.y yz dx xz z dy y xy dz+ + + + − =

(b) Find integral surface of :

  (x – y) p + (y – x – z) q = z

passing through z = 1, x2 + y2 = 1.

(iii) Show that the equations :

f = p2 + q2 – 1 = 0, g = (p2 + q2) x – pz = 0

are compatible and find one-parameter family of common

solutions.
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5. (A) Attempt any one of the following : [6]

(i) Explain Charpit’s method for solving a partial differential

equation :

f(x, y, z, p, q) = 0.

(ii) Explain the method of solving first order partial differential

equations :

(a) g(x, p) = h(y, q) (separable type)

(b) z = px + qy + g(p, q) (Clairaut form).

(B) Attempt any two of the following : [10]

(i) Find integral surface of the equation :

(2xy – 1) p + (z – 2x2) q = 2(x – yz)

which passes through the line :

x0(s) = 1, y0(s) = 0, z0(s) = 3.

(ii) Solve the equation by Jacobi’s method :

( )22 0.
z x y

z u u u+ − + =

(iii) Solve the Pfaffian differential equation :

(1 + yz) dx + z(z – x) dy – (1 + xy) dz = 0.
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[3901]-369

T.Y. B.A. EXAMINATION, 2011

LOGIC

(G-3 : Logic and Methodology of Science)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(i) What is the subject-matter of Social Sciences ?

(ii) What is inductive leap ?

(iii) State the three stages of evolution of human thought according

to August Comte.

(iv) What is the mechanical approach to the Universe ?

2. Write short notes on any four of the following in 100 words each : [20]

(i) Probabilistic model of explanation.

(ii) Methodological holism.

(iii) The basic features of a scientific theory.

(iv) Consistency as a condition of acceptability of a scientific hypothesis.

(v) Durkheim’s understanding of social reality.

(vi) Motivational explanation.

P.T.O.
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3. Answer any three of the following questions in 200-250 words each : [30]

(i) Explain the realist’s views about the cognitive status of theories.

(ii) What are the difficulties regarding prediction in social sciences ?

(iii) Explain the basic features of a scientific law.

(iv) Discuss Hume’s views about causation.

(v) What are the objectives of social sciences ? Discuss.

4. Answer any one of the following questions in 500 words : [20]

(i) Can social sciences be value neutral  according to you ? Give

reasons for your views.

(ii) Elaborately discuss the difference between science and common

sense.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(i) lkekftd foKkukapk vH;kl fo"k; dks.krk vkgs \

(ii) ^oSxefud >si* Eg.kts dk; \

(iii) ekuoh fopkjkaP;k mRÿkarh vkWxLV dkWEV ;kauh ekaM«sY;k rhu voLFkk lkaxk-

(iv) fo‹okdMs c?k.;kpk ;a=oknh n`f"Vdksu dk; vkgs \
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2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVi.k f«gk % [20]

(i) Li"Vhdj.kkps ^laHkkO;rk* izk:i-

(ii) iºrhðkkL=h; iw.kZokn-

(iii) oSKkfud miiŸkhps ew«Hkwr ?kVd-

(iv) lqlaxrrk % oSKkfud vH;qixekP;k LohdkjkgZrsph ,d vV-

(v) lkekftd okLrokcÌ«ps Mqj[kkbZeps vkd«u-

(vi) gsrwvk/kkfjr Li"Vhdj.k-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200&250 ðkCnkar |k % [30]

(i) miiŸkhaP;k cks/kulaca/kh ntkZcÌ«ph okLrooknkph Hkwfedk Li"V djk-

(ii) lkekftd foKkukrh« HkkfdrkalanHkkZr dks.kR;k vMp.kh vkgsr \

(iii) oSKkfud fu;ekps ew«Hkwr xq.k/keZ Li"V djk-

(iv) ·weP;k dkj.krklaca/khP;k fopkjkaph ppkZ djk-

(v) lkekftdðkkL=kaph mfÌ"Vs dks.krh vkgsr \ ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar |k % [20]

(i) rqeP;k erkuqlkj lkekftd foKkus ewY;fujis{k vlw ðkdrkr dk \ rqeP;k

Hkwfeds ekxph dkj.ks |k-

(ii) foKku vkf.k lkekU; /kkj.kk ;kae/kh« Hksnkaph foLr`r ppkZ djk-
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[3901]-370

T.Y. B.A. EXAMINATION, 2011

SOCIOLOGY

Group A (G-3) : Work, Industry and Society

Or

Group B (G-3) : Crime and Society

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt Group ‘A’ or Group ‘B’.

(ii) All questions are compulsory.

(iii) Figures to the right indicate full marks.

Group ‘A’

1. Answer any two of the following in maximum 50 words each : [10]

(1) Guild system.

(2) Flexibility in post-Fordist production.

(3) Work related stress.

(4) Problems of labour in informal sector.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Importance of work.

(2) Balutedari system.

P.T.O.
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(3) Scientific management.

(4) Feminization of work.

(5) Features of globalization.

(6) Unemployment in contemporary India.

3. Answer any three of the following in maximum 250 words each : [30]

(1) Explain the features of Japanese model.

(2) Write the impacts of Information Revolution on work.

(3) Discuss the present challenges faced by Trade Unions.

(4) Describe the characteristics of unorganized sector.

(5) Discuss the features of factory system of production.

4. Answer any one of the following in maximum 500 words : [20]

(1) Elucidate the impact of information age on social institutions.

(2) Define Liberalization and Privatization. Explain the effects of

both on workers in formal sector.

Or

Group ‘B’

1. Answer any two of the following in maximum 50 words each : [10]

(1) Meaning and definition of Crime.

(2) Merton’s Anomie theory of Crime.
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(3) Causes of Juvenile delinquency.

(4) Characteristics of terrorism.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Features of organic deficiency theory of crime.

(2) White collar crime.

(3) Environmental crimes.

(4) Human Rights perspective to crime.

(5) Alternative imprisonment.

(6) Features of organized crime.

3. Answer any three of the following in maximum 250 words each : [30]

(1) Explain the characteristics of crime.

(2) Discuss the free will theory of crime.

(3) Describe the types of crime against women.

(4) Explain new forms of crime.

(5) What is correction ? State the importance of correction of

criminals.

4. Answer any one of the following in maximum 500 words : [20]

(1) Discuss the meaning and forms of crime against caste and

tribe.

(2) Write an essay on theories of punishment.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) xV ^v* fdaok xV ^c* lksMok-

(ii) loZ izðu lksMfo.ks vkoð;d vkgsr-

(iii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

xV ^v*

1. [kk«h«iSdh dks.kR;kgh nksgksaph izR;sdh dek« 50 ðkCnkr mŸkjs f«gk % [10]

(1) la?k mRiknu iºrh-

(2) mŸkj&QksfMZLV mRiknukrh« «ofpdrk-

(3) dkeklaca/kh rk.k-

(4) vukSipkfjd {ks=krh« JfedkaP;k leL;k-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkar fVik f«gk % [20]

(1) dkekps egRo-

(2) c«qrsnkjh iºr-

(3) ðkkL=h; O;oLFkkiu-

(4) dkekps L=hdj.k-

(5) tkxfrdhdj.kkph oSfðk"VÓs-

(6) ledk«hu Hkkjrkrh« csdkjhph leL;k-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkar mŸkjs f«gk % [30]

(1) tikuh izk:ikph oSfðk"VÓs Li"V djk-

(2) ekfgrh ÿkarhps dkekojh« ifj.kke f«gk-

(3) dkexkj la?kVukaleksjh« l| vkOgkukph ppkZ djk-
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(4) vla?kfVr {ks=kP;k oSfðk"VÓkaps o.kZu djk-

(5) dkj[kkuk mRiknu iºrhP;k oSfðk"VÓkaph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps dek« 500 ðkCnkar mŸkj f«gk % [20]

(1) ekfgrh ;qxkpk lkekftd laLFkkojh« izHkko foðkn djk-

(2) mnkjhdj.k o [kktxhdj.kkph O;k[;k f«gk- la?kfVr {ks=krh« dkexkjkaojh« nksUghaps

ifj.kke Li"V djk-

fdaok

xV ^c*

1. [kk«h«iSdh dks.kR;kgh nksu ladYiuk izR;sdh 50 ðkCnkai;±r Li"V djk % [10]

(1) xqUgÓkaph O;k[;k vkf.k vFkZ-

(2) eVZupk xqUgÓakpk izek.kdðkqU; flºkar-

(3) ck«xqUgsxkjhph dkj.ks-

(4) ngðkroknkph oSfðk"VÓs-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkai;±r fVik f«gk % [20]

(1) xqUgÓkaP;k tSfod U;wurk flºkarkph oSfðk"VÓs-

(2) ika<jisðkk xqUgsxkjh-

(3) i;kZoj.kh; xqUgs-

(4) xqUgÓkapk ekuoh gDd n`"Vhdksu-

(5) i;kZ;h rq#axokl-

(6) la?kVhr xqUgÓkaph oSfðk"VÓs-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkar mŸkjs f«gk % [30]

(1) xqUgÓkaph oSfðk"VÓs Li"V djk-

(2) xqUgÓkaP;k eqDr bPNk flºkarkph ppkZ djk-

(3) efg«k fo#º xqUgÓkaP;k izdkjkps o.kZu djk-

(4) xqUgÓkaps ufou izdkj Li"V djk-

(5) lq/kkj.kk Eg.kts dk; \ xqUgsxkjkaP;k lq/kkj.ksps egRo lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkai;±r mŸkj f«gk % [20]

(1) tkrh o tekrh fo#ºkP;k xqUgÓkpk vFkZ o izdkjkaph ppkZ djk-

(2) xqUgÓkaps flºkar ;koj fuca/k f«gk-
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T.Y. B.A. EXAMINATION, 2011

SOCIOLOGY

(S-3 : Social Research methods)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each : [10]

(1) Positivism

(2) Research Design

(3) Histogram

(4) Ethnography.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Characteristics of hypothesis.

(2) Types of Interview.

(3) Merits of questionnaire.

(4) Subjectivity in social research.

(5) Uses of computer.

(6) State any two measures of central tendency.

P.T.O.
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3. Answer any three of the following in maximum 250 words

each : [30]

(1) Explain the steps in social research.

(2) Describe the meaning and merits of Content Analysis.

(3) State the advantages and limitations of case study method.

(4) Explain the salient features of research report.

(5) Write the significance of social research.

4. Answer any one of the following in maximum 500 words : [20]

(1) What is Observation ? Explain the merits and demerits of

observation technique.

(2) Describe the meaning, merits and demerits of survey method.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaph izR;sdh deky 50 ðkCnkai;±r mŸkjs f«gk % [10]

(1) izR;{kokn

(2) laðkks/ku vkjk[kMk

(3) LraHkk«s[k

(4) laLœrho.kZu
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2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkai;±r fVik f«gk % [20]

(1) x`ghrœR;kph oSfðk"VÓs-

(2) eq«k[krhps izdkj-

(3) izðuko«hps Qk;ns-

(4) lkekftd laðkks/kukrh« O;Drhfu"Brk-

(5) lax.kdkps mi;ksx-

(6) dasÊh; izòŸkhph dks.krhgh nksu ifjek.ks lkaxk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkai;±r mŸkjs f«gk % [30]

(1) lkekftd laðkks/kukps VIis Li"V djk-

(2) vkðk; foð«s"k.kkpk vFkZ o xq.kkaps o.kZu djk-

(3) O;"Vh v/;;u iºrhps xq.k vkf.k e;kZnk lkaxk-

(4) laðkks/ku vgok«kph izeq[k oSfðk"VÓs Li"V djk-

(5) lkekftd laðkks/kukps egRo f«gk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukoj dek« 500 ðkCnkai;±r mŸkj f«gk % [20]

(1) fujh{k.k Eg.kts dk; \ fujh{k.k ra=kP;k xq.k vkf.k e;kZnk Li"V djk-

(2) losZ{k.k iºrhpk vFkZ] xq.k o e;kZnkaps o.kZu djk-
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T.Y. B.A. EXAMINATION, 2011

SOCIOLOGY

[Indian Society : Continuity and Change (S4)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each : [10]

(1) Role of civil society in a democracy.

(2) M. Gandhi’s ideas on development of Indian society.

(3) NREGP.

(4) Issues related to waste management in urban India.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Contribution of Indus Valley Civilization to the making of Indian

society.

(2) Nehru’s ideas of Nation-building.

(3) Issues of regionalism in contemporary India.

(4) Changing dimensions of caste in Indian society.

(5) Panchayati Raj.

(6) Changing nature of marriage in India.

P.T.O.



[3901]-372 2

3. Answer any three of the following in maximum 250 words

each : [30]

(1) Discuss the impact of British on Indian society.

(2) Explain how communalism is a threat to Indian democracy.

(3) Analyze the role of media in contemporary India.

(4) Discuss causes of migration to the cities.

(5) Explain the problems faced by tribal society in contemporary

India.

4. Answer any one the following in maximum 500 words : [20]

(1) Discuss the efforts of  Indian state in dealing with challenges

to the unity and diversity of India.

(2) Discuss the issues and challenges faced by education in

contemporary India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh nksgksaph izR;sdh dek« 50 ðkCnkar mŸkjs f«gk % [10]

(1) «ksdðkkghe/kh« ukxjh leqnk;kph Hkwfedk-

(2) egkRek xka/kh ;kaps Hkkjrh; lektkP;k fodklk laca/khps fopkj-

(3) ,u-vkj-bZ-th-ih- (NREGP)

(4) ukxjh Hkkjrkrh« dpjk O;oLFkkiukðkh lacaf/kr izðu-
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2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh dek« 100 ðkCnkar fVik f«gk % [20]

(1) Hkkjrh; lektkP;k fufeZrhe/;s fla/kw laLœrhps ;ksxnku-

(2) jk"V™&cka/k.khlaca/kh usg:aps fopkj-

(3) ledk«hu Hkkjrkrh« izknsfðkdrkoknkps eqn~ns-

(4) Hkkjrh; lektkrh« tkrhO;oLFksps cn«rs iS«w-

(5) iapk;rh jkT;-

(6) Hkkjrkrh« fookgkps cn«rs Lo:i-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkar mŸkjs f«gk % [30]

(1) Hkkjrh; lektkojh« fczfVðkkaP;k izHkkokph ppkZ djk-

(2) tekrokn gs Hkkjrh; «ksdðkkgh leksjh« ladV dls vkgs rs Li"V djk-

(3) ledk«hu Hkkjrkr izlkjek/;ekaP;k Hkwfedsps foð«s"k.k djk-

(4) ðkgjkadMs gks.kkÚ;k LFk«karjkP;k dkj.kkaph ppkZ djk-

(5) ledk«hu Hkkjrkrh« vkfnoklh lektkiq<h« leL;k Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps dek« 500 ðkCnkar mŸkj f«gk % [20]

(1) Hkkjrh; ,dkRerk vkf.k fofo/krs leksjh« vkOgkukapk lkeuk dj.;klkBh Hkkjrh;

ðkklukps ds«sY;k iz;Rukaph ppkZ djk-

(2) ledk«hu Hkkjrkrh« fðk{k.kkiq<h« izðu vkf.k vkOgkukaph ppkZ djk-
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T.Y. B.A. EXAMINATION, 2011

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

(General Paper III)

(Outline of Religion and Philosophy)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :  [10]

(i) State historical information available from Rgveda
ɺ

.

(ii) Write the composition of the Puranas.

(iii) Explain the Jain Triratnas.

(iv) Who was ‘Ajit Keshakambali’ ?

2. Write notes on the following in 100 words each (any four) : [20]

(i) Henotheism in Rgveda
ɺ

(ii) Brahmana
ɺ

 Works

(iii) Period of the composition of Mahabharat

(iv) Causes for the rise of Jainism

(v) Ten Shikshapadas in Buddhism

(vi) Makkhali (Maskari) Goshala.

P.T.O.
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3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(i) Write a note on the Philosophy of Upanishads.

(ii) Discuss the various sects in Shaivism.

(iii) What do you know about the life of 

Bhagwan

 

Mahavira

 ?

(iv) State the teachings of 

Bhagwan

 Buddha.

(v) Discuss the philosophy of Ajit Keshakambali.

4. Answer any one of the following questions in 500 words : [20]

(i) Describe the various sects in 

Vaishnavism

.

(ii) Discuss in detail the philosophy of Charvaka .

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iz'ukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) ΩXosnkrwu mi«C/k gks.kkjh ,sfrgkfld ekfgrh lkaxk-

(ii) iqjk.kkaph jpuk f«gk-

(iii) tSu f=jRus Li"V djk-

(iv) ^vftr dsðkdac«h* dks.k gksrk \

2. izR;sdh 100 ðkCnkr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) ΩXosnkrh« fofðk"Vnsorkokn

(ii) czk„.k xzaFk
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(iii) egkHkkjrkP;k jpuspk dk«[kaM

(iv) tSu /kekZP;k mn;kph dkj.ks

(v) ckSn~/k /kekZrh« ngk fðk{kkins

(vi) e[[k«h (eLdjh) xksðkk«-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) ^mifu"knkrh« rŸoKku* ;koj Vhi.k f«gk-

(ii) ðkSo/kekZrh« fofo/k iaFkkaph ppkZ djk-

(iii) Hkxoku egkohjkaps thou&pfj= ;k fo"k;h rqEgkl dk; ekfgrh vkgs-

(iv) Hkxoku cqn~/kkaph fðkdo.k lkaxk-

(v) vftr dsðkdEc«hP;k rŸoKkukph ppkZ djk-

4. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) oS".ko/kekZrh« fofo/k iaFk o.kZu djk-

(ii) pkokZdkP;k rRoKkukph lfoLrj ppkZ djk-
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T.Y. B.A. EXAMINATION, 2011

MATHEMATICS

(Mathematical Prerequisite)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of electronic calculator is allowed.

1. Attempt any ten of the following : [20]

(1) Convert x + y ≤ 4 and 3x – y ≥ 6 into equations.

(2) Find eigenvalues of 
6 7

A =
0 8

 
 
  

.

(3) Find A + 4B if A = [1 – 1 2] B = [0 2 3]

(4) Define singular matrix.

(5) Write transpose of A = [6 5 –7 10].

(6) Find A.B if 
6

A = [3 5] B =
7

 
 
 

.

(7) Define Hessian for Z ( , )f x y= .

(8) Evaluate det (A) if 

11 2
A =

0 3

 
 
 

.

(9) Is 
1 0

A =
0 1

 
 
 

 invertible ? Justify.

P.T.O.
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(10) Define invertible matrix.

(11) Find A + 2B + 3C if A = [0 1] B = [1 –1] C = [4 5]

(12) Write advantages of dual LPP.

(13) Find AB if 
1 2 1 0

A = B
3 4 0 1

   
=   

   
.

2. Attempt any two of the following : [10]

(1) Find adjoint of 

2 3 1

A = 4 1 2

5 3 4

 
 
 
  

.

(2) Show that 2 26 9 3 7 5Z x x xy y y= − − − +  is minimum using

Hessian of second order.

(3) Explain dual linear programming problem.

3. Solve any two of the following : [20]

(1) Solve the LPP by simplex method

Maximise 1 2 330 24 60x x xΠ = + +

Subject to 

6 3 5 30

,

2 2 10 50, , , 0

.

(2) Using eigenvalues show that A is positive definite

where 

A = 0 2 5

.

(3) Optimise :

2 2 2
1 1 1 3 2 2 2 3 35 10 2 4 2 4y x x x x x x x x x= − + + − + + −

using Hessian for the second order condition.
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4. Attempt any two of the following : [30]

(1) Use Gaussian elimination method to solve the following

system :

1 2 3 1 2 3 1 2 36 2 5 73, 7 3 1, 4 8 9 9x x x x x x x x x+ + = − + = − + − = − .

(2) Maximise the utility 

0.5 0.3u x y=

 subject to budget condition

10 3 140x y+ = .

(3) Solve the following LPP by simplex method :

Minimise : C = 20y1 + 30y2 + 16y3.

Subject to

2.5y1 + 3y2 + y3 ≤ 3,

 y1 + 3y2 + 2y3 ≥ 4,

     y1, y2, y3 ≥ 0.



P.T.O.
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[3901]-375
T.Y. B.A. EXAMINATION, 2011

STATISTICS (General)

(Design of Experiments and Operations Research)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Symbols and abbreviations have usual meanings.

(iv) Use of calculator and statistical tables is allowed.

(v) Graph paper will be provided on request.

1. Attempt any two of the following : [2×5=10]

(a) Define a LPP. State canonical form and standard form of a

LPP with an illustration.

(b) Describe the principles of the design of experiments.

(c) Describe a sequencing problem of two machines with n-jobs.

(d) Define simple effect in factorial experiments. Also obtain their

expression in 22 factorial experiment.

2. Attempt any four of the following : [4×5=20]

(a) Obtain an initial basic feasible solution (IBFS) and corresponding

cost of transportation by using North-West Corner method for

the following T.P. :

Destination

Origin D1 D2 D3 D4 Availability

O1 1 4 3 2 6

O2 4 3 2 0 8

O3 0 2 2 1 10

Requirement 4 6 8 6
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(b) Explain the term ‘Balanced’ and ‘Unbalanced’ related to

assignment problem with one illustration each.

(c) Obtain the graphical solution to the following LPP :

Maximize  : Z = 4x1 + 10x2,

Subject to :

x1 + x2  ≤ 10,

2x1 + 3x2 ≥ 12,

x1, x2 ≥ 0.

(d) Describe the Yates method to obtain the factorial effects in

case of 23 factorial experiment.

(e) Explain the following terms with an illustration :

(i) Experimental material.

(ii) Experimental unit.

(iii) Treatment.

(f) Obtain the partition of total sum of squares and total degrees

of freedom in RBD.

3. Attempt any three of the following : [3×10=30]

(a) (i) Obtain the least square estimates of parameters in LSD.

(ii) Calculate the efficiency of RBD over CRD by using the

following data :

Sum of squares due to treatments = 901.19

Sum of squares due to blocks = 219.43

Mean error sum of squares = 15.3

Degrees of freedom for treatments = 5

Degrees of freedom for blocks = 3

(b) Describe in brief, the analysis of covariance (ANCOVA) in CRD.
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(c) Solve the following LPP by simplex method :

Max.  Z = 45x + 80y

Subject to,

5x + 20y ≤ 400.

10x + 15y ≤ 450,

  x ≥ 0; y ≥ 0.

(d) Obtain the optimal solution to the follwing TP. Figures in circle

shows IBFS.

Destination

Origin  D1 D2 D3 D4 Availability

O1 22      6

  5  8 3   6     

28

O2     10 40

  4  5 7   4     

50

O3     14    10

  6  2 4   6     
24

Requirement  32 40 20 10

(e) Obtain the optimal sequence for the following problem. Also

find the total elapsed time and idle time of each machine :

Machines Processing time per job

 A B C D E

I  8 10 6 7 11

II  5 6 2 3 4

III  4 9 8 6 5
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4. Attempt any one of the following : [1×20=20]

(a) (i) Derive the expression of efficiency of LSD over CRD. [5]

(ii) Obtain the expected value of error mean of squares in

CRD. [5]

(iii) Describe the method to obtain optimal solution to an

assignment problem. [5]

(iv) Describe Monte-Carlo method of simulation. [5]

(b) (i) Write the dual of the following LPP. Also solve the dual

problem by simplex method :

Min. Z = 2x + 3y

Subject to,

2x + y ≥ 6.

x  + 2y ≥ 4,

x  + y ≥ 5,

x  ≥ 0; y ≥ 0. [10]

(ii) Describe the concept of total confounding with an illustration.

[5]

(iii) What is Split Plot Design (SPD) ? State the model and

ANOVA table for main plot effects of SPD. [5]
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T.Y. B.A. EXAMINATION, 2011

STATISTICS (Special III)

(Distribution Theory)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Symbols and abbreviations have usual meanings.

(iv) Use of calculator and statistical table is allowed.

(v) Graph paper will be provided on request.

1. Attempt any two of the following : [2×5=10]

(a) If  X → β1 (m, n), find its mean and variance.

(b) Let X → W (α, β). Obtain the distribution function (d.f.) of

X. Hence find quartile deviation of X.

(c) Let X and Y be two independent Cauchy variates with parameters

µ = 0 and λ = 1. Find :

1 1
P + > 2

x y

  
     

(d) Describe Gambler’s ruin problem.

2. Attempt any four of the following : [4×5=20]

(a) State and prove Chebyshev’s inequality for continuous random

variable (r.v.).

P.T.O.
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(b) Obtain the mode for the beta distribution of second kind with

parameters (m, n).

(c) A r.v. X has normal distribution with mean µ and variance σ2.

If distribution of X is truncated to the right by discarding

the values of X greater than b, find the p.d.f. of the resulting

truncated distribution.

(d) Let X be LN (0, µ, σ2), find E(X).

(e) If X follows Laplace distribution with parameters µ = 1 and

λ = 3, then find P [–1 < X < 1].

(f) Let (X, Y) → BN (3, 2, 4, 9, 0.7), then find P ( X + Y > 5).

3. Attempt any three of the following : [3×10=30]

(a) State and prove central limit theorem for i.i.d.r.v.s. based on

m.g.f.

(b) The joint p.m.f. of X1, X2 and X3 is given by

31 2
1 2 3

1 2 3
1 2 3

!
P ( , , ) =

! ! !
;xx xn

x x x
x x x

p p p

xi = 0, 1, 2.........n.

      0 < pi < 1

x1 + x2 + x3 = n

p1 + p2 + p3 = 1

Determine the correlation coefficient between X1 and X2.
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(c) Let (X, Y)→ BN (µ1, µ2, σ1
2, σ2

2, ρ). Find the marginal distribution

of X and the conditional distribution of Y given X = x.

(d) Let X → B (n, p). The distribution of X is truncated by discarding

the value zero. Find mean and variance of the truncated

distribution.

(e) If X→ LN (0, µ, σ2). Obtain rth moment of X. Hence find

mean and variance of X.

4. Attempt any one of the following : [1×20=20]

(a) (i) If X → C (µ, λ), then find its distribution function F(x).

Hence find Q3 and Q1 of X. [7]

(ii) If X(1), X(2), X(3),...........X(n) are order statistics of a random

sample of size n from a continuous distribution, obtain

joint p.d.f. of X(r) and X(s); (r < s). [7]

(iii) Define the following terms : [6]

(1) Finite Markov chain

(2) Stationary transition

(3) Stochastic matrix P.

(b) (i) A doctor’s office has four telephone lines, each of which

can be independently dialed by any patient. Assume on

any given business day, the first call is received on the

line 1, 2, 3 or 4 with the probabilities 0.4, 0.3, 0.2, 0.1

respectively. The calls are independent from one business

day to another. For 10 business days, Xi be the number
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of days on which the first call arrives on line i, i = 1,

2, 3 and 4.

Evaluate 1 2 3 4
P [X = 2, X = 3, X = 4, X = 1] [7]

(ii) Let X → L (µ, λ). Obtain m.g.f. of X. Hence or otherwise

obtain E(X) and V(X). [7]

(iii) Let {Xn, n ≥ 0} be a Markov chain with initial probabilities

p {X0 = i} = 1/3; i = 0, 1, 2 and one step transition

probability matrix as given below :

             0  1  2

0

1

2

3/4 1/4 0

1/4 1/2 1/4

0 3/4 1/4

 
 
 
 
  

Find P(X2 = 1/X0 = 0) [6]
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T.Y. B.A. EXAMINATION, 2011

APPLIED MATHEMATICS

AMG 3 : REAL ANALYSIS AND LEBESGUE INTEGRATION

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(i) Write an example of sequences { } 1sn n
∞

=  and { } 1tn n
∞

=  to show

that :

sup lim suplimsup ( ) lim .
tss t nnn n nn n

+ ≠ +
→∞→∞ →∞

(ii) Discuss the convergence of 
1

1

1 2
n

n

n

∞

=

−
+∑ .

(iii) Let f(x) = x on [0, 1]. Let 
2 3

, , , 1
4 4

σ
1 = 0, 
4 

 be a partition

of [0, 1]. Compute L[f, σ].

(iv) Show that the series 2 2
1

1

n n x

∞

= +
∑  (0 )x≤ ≤ ∞  is uniformly

convergent.

P.T.O.
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(v) Let 

f x x

. Show that {fn(x)} converges

pointwise on [0, 1].

(vi) If E is a subset of [a, b] and E = 0m , prove that E is

measurable.

(vii) Is the following statement true or false ? Justify.

‘If G is an open subset of [a, b] and |G| = 0, then

G = φ’.

(viii) Let 3

1
( ) = , 0 1f x x

x
< ≤

=  0, x = 0.

Find 3f.

(ix) Determine f+ if f(x) = x2 – 1, –2 ≤ x ≤ 2.

(x) Prove that 
2 1, 2, ..........

cos
2 .

n
nx dx

n

π

−π

π, =
= 

π, = 0
∫

2. (A) Attempt any one of the following : [6]

(i) If lim sup An
n na→∞ = , then prove that the series of real

numbers 
1

n
n

a
∞

=
∑  converges if A < 1.

(ii) If f ∈ R [a, b], then prove that |f| ∈ R [a, b] and

| |
b b

a a

f f≤∫ ∫ .
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(B) Attempt any two of the following : [10]

(i) Discuss the convergence of the series 
4

1

log
n

n n

∞

=
∑

(ii) Prove that 

1 2

0

1 1

33 2 1

x
dx

x
≤ ≤

+∫ .

(iii) If f and g are continuous on [a, b] and if

( ) 0 ( )g t a t b≥ ≤ ≤ , prove that there exists c ∈ (a, b)

such that 

( ) ( ) ( ) ( ) .
b b

a a

f x g x dx f c g x dx=∫ ∫
3. (A) Attempt any two of the following : [8]

(i) For n ∈ I let fn(x) = nx (1 – x2)n (0 ≤ x ≤ 1)

(a) Show that { } 1n n
f

∞
=  converges pointwise to 0 on [0, 1].

(b) Show that 

1

0

nf
  
 
  

∫  converges pointwise to ½.

(ii) Discuss the uniform convergence of
1

(0 10).nx n

n

e x x
∞

−

=

≤ ≤∑

(iii) Prove that 2
10

sin 2

1n
n

n nx e
dx

e e

π ∞

=

 
= 

−  
∑∫ .
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(B) Attempt any two of the following : [8]

(i) If E is a subset of [a, b], prove that mE mE≤ .

(ii) If E1 and E2 are measurable subsets of [a, b], prove that

the symmetric difference of E1 and E2 is also measurable.

(iii) If f(x) = 
1

x
, 0 < x < 1

= 5, x = 0

= 7, x = 1;

prove that f is measurable on [0, 1].

4. (A) Attempt any one of the following : [6]

(i) If G1 and G2 are open subsets of [a, b], prove that :

|G1| + |G2| = |G1 ∪ G2| + |G1 ∩ G2|.

(ii) If f is a bounded measurable function on [a, b], prove

that f ∈ L [a, b].

(B) Attempt any two of the following : [10]

(i) If E is a measurable subset of [a, b], prove that 
E

1 Em=∫ .

(ii) Let E1, E2,.............,En be measurable subsets of [0, 1]

such that each point of [0, 1] belongs to at least three

of these sets. Prove that at least one of these sets has

measure 
3

.
n

≥
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(iii) Let Lf ∈ [a, b]. Prove that given any ∈ > 0, there exist

δ > 0 such that 

E
f < ∈;∫

whenever E is a measurable subset of [a, b] with

mE < δ.

5. (A) Attempt any one of the following : [6]

(i) Let f be a measurable function on [a, b]. Prove

that f ∈ L [a, b] if and only if | f | ∈ L [a, b]. Moreover,

if f ∈ L [a, b], prove that  | |
b b

a a

f f≤∫ ∫ .

(ii) If f is a bounded function in L [a, b] and if g is a bounded

function on [a, b] such that f(x) = g(x) almost everywhere

on [a, b], prove that g ∈ L [a, b] and 

b b

a a

g f=∫ ∫ .

(B) Attempt any two of the following : [10]

(i) Given that Fourier series of f(x) = |x|, –π ≤ x ≤ π; at

the point x = 0 converges to f(0), prove that

2 2 2

1 1 1
.........

81 3 5

2π
+ + + = .
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(ii) Show that a subset E of [a, b] is measurable iff its

characteristic function χE is measurable.

(iii) Let E be a measurable subset of [a, b]. Prove that :

A = (A E) m(A E )m m ′∩ + ∩

for every subset A of [a, b].
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(Applications of Statistics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator and statistical table is allowed.

(iv) Notations and abbreviations have their usual meanings.

1. Attempt any two of the following : [5 each]

(a) Explain the following terms with illustration :

Critical region, standard error of statistic, alternative hypothesis.

(b) The probability density function of normal distribution of a

study variable x is

2–
( ) = . exp 4 – 200 , – .

50
x

f x k x x
  
 
  

+ ∞ < < ∞

Find the mean µ and variance σ2 for the normal distribution.

Further obtain P (95 < X < 110).

(c) Define normal distribution. Further state any two properties

of it. Let X→ N (0, 1). Find P (–3 < X < –1).

(d) Describe large sample test for testing H0 : µ1 = µ2 against

H1 : µ1 > µ2.

P.T.O.
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2. Attempt any four of the following : [5 each]

(a) A builder claims that heat pumps are installed in 70% of all

homes being constructed today in a particular city. Would you

agree with this claim if a random survey of new homes in

this city shows that 8 out of 15 had heat pumps installed ?

Use 5% level of significance (l.o.s.)

(b) Describe the procedure to test H0 : σ2 = σ0
2 against

H1 : σ2 < σ0
2. Where σ2 is population variance.

(c) The finished diameter of a piston ring is normally distributed

with mean of 10 centimeters and standard deviation of 0.03

centimeter :

(i) What proportion of rings will have inside diameters exceeding

10.075 centimeters ?

(ii) What is the probability that a piston ring will have an

inside diameter between 9.97 and 10.03 centimeters ?

(d) Explain concept of analysis of variance.

(e) Define the distribution function (d. f.) of a continuous random

variable (r.v.) and state any two properties of it. Further if

for r.v. X the d.f. is given as :

F (x) = 1 – e(–x) , x > 0

   = 0, otherwise.

Find P (X > 0).

(f) Explain the terms ‘high spots’ and ‘low spots’ used in p-charts.

3. Attempt any three of the following :

(a) (i) Describe the procedure of construction of C chart when

standards are not given. [5]

(ii) Describe the procedure to test H0 : ρ = ρ0 against

H1 : ρ ≠ ρ0. Where ρ is population correlation coefficient.

[5]
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(b) (i) An auto rental firm is using 15 identical motors that are

adjusted to run at a fixed speed to test 3 different brands

of gasoline. Each brand of gasoline is assigned to exactly

5 of the moters. Each motor runs 10 gallons of gasoline

until it is out of fuel. The following represents the total

mileages obtained by the different motors :

Gasoline 1 : 220 251 226 246 260

Gasoline 2 : 244 235 232 242 225

Gasoline 3 : 252 272 250 238 256

Carry out completely one way classification. Test the

hypothesis that the average mileage obtained is not affected

by the type of the gasoline used. Use 5% l.o.s. [7]

(ii) Explain in brief the difference between direct method and

indirect method of Standardized Death Rate. [3]

(c) Given below are the values of sample mean X and the range

(R) for ten samples of size 5 each :

Sample Number Range Mean

1 7 34

2 8 33

3 7 29

4 9 34

5 9 35

6 6 29

7 10 33

8 8 30

9 6 34

10 8 32

Set up X and R-charts, examine the state of control of the

given process. Comment on your results. [10]
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(d) (i) A manufacturer of sports equipment has developed a new

synthetic fishing line that he claims has mean breaking

strength of 8 kilograms with standard  deviation of 0.5

kilogram. Test the hypothesis that µ = 8 kilograms against

the alternative µ ≠ 8 kilograms if a random sample of

50 lines is tested and found to have a mean breaking

strength of 7.8 kilograms. Use 0.01 l.o.s. [5]

(ii) State the mathematical model used in two way classification

of analysis of variance and explain the terms used in it.

Further state the break up of total sum of squares.

[5]

(e) (i) Let X and Y be two independent normal variables with

means 2, 5 and variances 4, 16 respectively. Find :

(I) P (3X – 2Y > –2)

(II) P (X – Y < 2). [5]

(ii) Explain chance causes and assignable causes of variations.

[5]

4. Attempt any one of the following :

(a) (i) Explain t–test for paired observations. [6]

(ii) Complete the following analysis of variance table :

Source of Degrees of Sum of Mean sum F-ratio

variation freedom squares of squares

Treatment 9 120 13.3333 ?

Block 4 140   35 ?

Error 36  ?   ?

Total 49 600 [4]

(iii) Explain meaning and purpose of statistical quality control.

[5]
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(iv) Test the randomness of the sequence of defective (D) and

non-defective (N) items in the sample given below :

NNDDDDNDNDDDN Use 1% level of significance.

[5]

(b) (i) A random sample of 90 adults is classified according to

gender and the number of hours they watch television

during a week :

Gender

Male Female

Over 25 hours  15  29

Under 25 hours  27  19

Use 1% l.o.s. and test the hypothesis that the time spent

watching television is independent of gender. [5]

(ii) Describe one tailed test procedure of Wilcoxon’s signed

rank test. [5]

(iii) The following table is obtained from the inspection on

completed units of a product in 20 lots of size 100 each :

Lot

No. 1 2 3 4 5 6 7 8 9 10

No.

of

Defec-

tives 2 9 11 6 4 3 4 2 2 3

Lot

No. 11 12 13 14 15 16 17 18 19 20

No.

of

Defec-

tives 3 5 6 2 2 3 2 8 4 6

Set up an appropriate control chart and comment on the

state of control. [10]
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T.Y. B.A. EXAMINATION, 2011

PHILOSOPHY

G-3 : Aesthetics and Social Philosophy

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Distinguish between Art and Craft.

(2) What is ‘Natyadharmi’ ?

(3) How is religion related to morality ? Explain.

(4) Define and explain the nature of religion.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Art as imitation.

(2) Form and content.

(3) Notion and classification of ‘bhavas’.

(4) Problem of Evil.

(5) Fundamentalism.

(6) Kinds of religion.

P.T.O.
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3. Answer any three of the following questions in 200-250 words

each  : [30]

(1) Explain the nature of aesthetic experience.

(2) Explain ‘beautiful’ as a fundamental concept in aesthetics.

(3) State the Nyaya arguments for the existence of God.

(4) Explain the concept of secularism in Indian context.

(5) Explain Art as communication.

4. Answer any one of the following questions in 500 words : [20]

(1) Define aesthetics. Explain its nature.

(2) Critically explain the cosmological argument for the existence

of God.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dkgh igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar |k % [10]

(1) d«k o dkjkfxjh ;krh« Qjd lkaxk-

(2) ^ukVÓ/kehZ* Eg.kts dk; \

(3) /keZ uhrhðkh dðkkizdkjs lacaf/kr vkgs \ Li"V djk-

(4) /kekZph O;k[;k djk_ R;kps Lo:i Li"V djk-

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVi.k f«gk % [20]

(1) d«k Eg.kts vuqœrh-

(2) vkdkj o vkðk;-
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(3) Hkkokph dYiuk o Hkkokaps oxhZdj.k-

(4) nqfjr&leL;k-

(5) ew«rŸookn-

(6) /kekZps izdkj-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200-250 ðkCnkar |k % [30]

(1) lkSan;kZuqHkkokps Lo:i Li"V djk-

(2) ,d ew«Hkwr ladYiuk ;k ukR;kus lkSan;ZðkkL=krh« ^laqnj* gh ladYiuk Li"V

djk-

(3) bZðojkP;k vfLrRoklkBh U;k;nðkZukus ekaM«s«s ;qfDrokn lkaxk-

(4) Hkkjrh; lanHkkZr /keZfujis{krsph ladYiuk Li"V djk-

(5) d«k Eg.kts laizs"k.k Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar |k % [20]

(1) lkSan;ZðkkL=kph O;k[;k djk- R;kps Lo:i Li"V djk-

(2) bZðojkP;k vfLrRoklkBhpk foðodkj.koknh ;qfDrokn lVhd Li"V djk-
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PHILOSOPHY : S-3

[Thinkers and Textual Studies (Indian)]
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Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) Explain the relation between sat, chit and anand in Amritanubhav.

(2) State Dr. Ambedkar’s views on Fraternity.

(3) What does Prof. Barlingay mean by distinguishability ?

(4) Explain the concept of school as a myth about Indian philosophy

with reference to Prof. Dayakrishna.

2. Write notes on any four of the following in 100 words

each : [20]

(1) Notions of Shiv and Shakti in Amritanubhav

(2) Sarvodaya

(3) Krishnamurti’s concept of freedom

(4) Prof. Rajendra Prasad on Artha and Kama Purusharthas

(5) Prof. Mohanti’s views on the concept of darshana

(6) Interrelation between distinguishability and separability

P.T.O.
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3. Answer any three of the following in 250 words each  : [30]

(1) Discuss in detail the concept of Chidvilasvada.

(2) What does Krishnamurti mean when he says Truth is a pathless

land ?

(3) Examine Prof. Mohanti’s views on universalism and relativism

in Indian philosophy.

(4) Discuss Prof. Rajendra Prasad’s view of the nature and place

of dharma purushartha.

(5) Critically examine the claim to spirituality as a myth about

Indian philosophy with reference to Prof. Dayakrishna.

4. Answer any one the following in 500 words : [20]

(1) Critically discuss Gandhiji’s notion of Sarvodaya.

(2) State Prof. Barlingay’s distinction between distinguishables and

separables. Bring out its philosophical implications.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMokosr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dkgh igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) ve`rkuqHkokrh« lr~] fpr vkf.k vkuan ;karh« laca/k Li"V djk-

(2) MkW- vkacsMdjkaps ca/kqrs fo"k;hps fopkj ekaMk-

(3) izk- ckjf«axs ;kaP;k erkuqlkj Qjd dj.;ktksxs ;kpk vFkZ dk; \

(4) izk- n;kœ".kkaauk vuql:u Hkkjrh; rRoKkukfo"k;hP;k nðkZuijaijsP;k feFkdkph

ladYiuk Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVik f«gk % [20]

(1) ve`rkuqHkokrh« fðko vkf.k ðkDrh ;k dYiuk

(2) loksZn;

(3) œ".kewrh±ph Lokra´; gh ladYiuk

(4) vFkZ vkf.k dke iq#"kkFkk± fo"k;h izk- jktsaÊizlknkaps fopkj

(5) nðkZu ladYiusfo"k;h izk- eksgarhaps fopkj

(6) Qjd dj.;ktksxs vkf.k v«x dj.;ktksxs ;karh« Qjd-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [30]

(1) fpn~fo«klokn ;k ladYiusph lfoLrj ppkZ djk-

(2) tsOgk œ".kewrhZ lR; gh ekxZ fojghr Hkweh vkgs vls Eg.krkr rsOgk R;kpk

vFkZ dk; vlrks \

(3) Hkkjrh; rRoKkukP;k lanHkkZr izk- eksgarh ;kaP;k oSfðodokn vkf.k lkis{krkokn

;kaojh« fopkjkaps ijh{k.k djk-

(4) izk- jktsaÊizlknkaP;k /keZ iq:"kkFkkZP;k Lo:i vkf.k LFkkukfo"k;hP;k n`f"Vdksukph

ppkZ djk-

(5) izk- n;kœ".kkaP;k lanHkkZr Hkkjrh; rRoKkukfo"k;hP;k v/;kfRedrsckcrP;k nkO;kcÌ«pk

feFkdkps fpfdRld ijh{k.k djk-

4. [kk«h«iSdh dks.kR;kgh ,dkps mŸkj 500 ðkCnkar f«gk % [20]

(1) xka/khthaP;k loksZn; dYiusph fpfdRld ppkZ djk-

(2) izk- ckjf«axs ;kauh Qjd dj.;ktksxs vkf.k v«x dj.;ktksxs ;kar ds«s«k Qjd

lkaxk- ;k Qjdkps rkfRod ijh.kke foðkn djk-
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PHILOSOPHY
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) State basic features of Pierce’s pragmatism.

(2) Explain Husserl’s concept of rigourous science.

(3) State Sartre’s notion of Self-deception.

(4) What according to Ryle is the ‘Official doctrine’ ?

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Herd Morality.

(2) Functions of Philosophy according to Tractatus.

(3) Husserl’s Notion of Epoche.

(4) The importance of questioning in Heidegger’s thought.

(5) The dogma of the Ghost in Machine.

(6) Notion of Euthanasia.

3. Answer any three of the following in 200-250 words each  : [30]

(1) Discuss Pierce’s views regarding the nature of inquiry.

(2) State and examine Nietzsche’s concept of truth.

P.T.O.
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(3) Discuss Heidegger’s views regarding cause.

(4) Explain Sartre’s notion of anguish.

(5) ‘All forms of euthanasia are wrong and ought to be illegal’.

Comment.

4. Answer any one of the following questions in 500 words : [20]

(1) State and examine Wittgenstein’s picture theory of meaning.

(2) Elaborately discuss Ryle’s views regarding Descartes’ myth.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) fivlZP;k Q«r%izkek.;oknkph Bˇd oSfðk"VÓs lkaxk-

(2) gql«Zph dkVsdksj foKku gh ladYiuk Li"V djk-

(3) lk=sph vkReoapuk gh laKk lkaxk-

(4) jkbZ«P;k erkuwlkj ^vf/kœr flºkar* Eg.kts dk; \

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVik f«gk % [20]

(1) dˇiuhrh

(2) V™WDVsVl~uwlkj rRoKkukps dk;Z

(3) gql«Zph ‘Epoche’ gh ladYiuk

(4) gk;MsxjP;k fopkjkrh« izðu fopkj.;kps egRo-

(5) ;a=krh« Hkwr gk nwjkxzg

(6) LosPNkej.k gh ladYiuk-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 200-250 ðkCnkar mŸkjs f«gk % [30]

(1) ðkks/kkps Lo:i ;kcÌ« fivlZP;k n`"Vhdks.kkcÌ« ppkZ djk-

(2) fuRðksph lR;kfo"k;hph ladYiuk lkaxwu rhps ijh{k.k djk-

(3) dkj.kklaca/kh gk;MsxjP;k n`"Vhdksukoj ppkZ djk-

(4) lk=sph Hk;O;kdq«rk gh laKk Li"V djk-

(5) ^LosPNkej.kkps loZ izdkj pqdhpss vlwu rs csdk;nsðkhj vkgsr-* Hkk"; djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) foV~xsuLVkbZuph vFkZfo"k;d fp= miiŸkh lkaxwu frps ijh{k.k djk-

(2) nsdkrZps feFkd~ ;k laca/kh jkbZ«P;k n`"Vhdksukph lfoLrj ppkZ djk-
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T.Y. B.A. EXAMINATION, 2011

COMPUTER APPLICATION (VOCATIONAL)

Paper V

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions (any four) : [20]

(a) Explain Web Pyramid with diagram.

(b) Distinguish between Traditional Commerce and E-commerce.

(c) What is Trade Cycle ? Explain General Trade Cycle.

(d) Explain Internet Commerce with the help of trade cycle.

(e) Explain E-payment facilities.

(f) Uses of Internet in modern world.

2. Write short notes on (any five) : [15]

(a) Website

(b) Ordered and unordered list in HTML

(c) Javascript

P.T.O.
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(d) VB script

(e) Image mapping

(f) Frames in HTML

3. Write a HTML program to display table wtih 3 rows, having text

FIRST, SECOND, THIRD. [5]
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T.Y. B.A. EXAMINATION, 2011

FUNCTIONAL ENGLISH

(Vocational Stream)

Paper V

(Introduction to Print Media and Writing for Mass Media and

Key Competency Modules)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Instructions to the Candidates :

(i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Prepare news item about 150 words based on the points given

below : [15]

• Times News Network

• Dhaka

• India 370-4 in the opening match of World Cup 2011 against

Bangladesh

• Sehwag struck a career-best 175, equals Kapil Dev’s 175

• Highest one-day score in 140 balls, 14 fours and 5 sixes

• Virat Kohli 100 not out, 8 fours, 2 sixes

• The duo added 203 runs for the third wicket

P.T.O.
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• Tendulkar 28, run out, Gambhir 39

• India won by 84 runs

Or

Prepare an alternative copy of the following so as to attract the

customers by making changes only in its verbal aspects. 15

2. Answer the following questions in about 60 words (any two) : 10

(1) State the difference between news and a feature.

(2) What are the topics commonly handled in the articles and

features ?

(3) Write a short note on the importance of readability in articles.

(4) Prepare a short radio talk or a conversation on the following

topic :

Environment Awareness
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3. (A) Attempt any two of the following in about 60 words : 10

(i) In what way a technical writer is the conveyor of technical

information ?

(ii) “Technical writers specialize in writing technology for non-

technical persons.” Discuss.

(iii) “Proficiency in English rather than any degree or a course

is the essential requirement to be a technical writer.” Discuss.

(iv) State how technical writings are generally customer support

documentations.

(B) Give instructions to recharge new Airtel prepaid mobile, using

the points given below : 5

• Variety of prepaid coupons at outlets

• With different denominations

• Scratch silver panel on the reverse of the recharge card

for a 16 digit number

• Call 123

• Choose preferred language

• Follow announcement enter 16 digit number

4. (A) Give Marathi or Hindi words for the English terms given below

(any ten) : [10]

(1) Agreement

(2) Background music
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(3) Employee

(4) Journalist

(5) Index

(6) Reminder

(7) Sponsorship

(8) Vocation

(9) Review

(10) Draft

(11) Personality

(12) Encyclopaedia

(B) Translate the following passage into Marathi or Hindi : [10]

Co-operation is a big word, but it simply means together. If

nations can learn to work together as friends, they will soon

find a way of settling their disputes in a friendly way. Instead

of being jealous of each other and suspicious and proud of

their rights, they must learn to be friendly and reasonable,

and anxious to help each other. Just as the citizens of a country

have laws and agree to obey those laws, so all nations must

agree to laws and feel bound to obey them. If all nations

work together for the common good of mankind and agree

to obey the laws then they will never fight each other and

there will be no wars.
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Or

Translate the following passage into English : [10]

tj xjtkaoj fu;a=.k ?kk«.ks vkoð;dp vls« rj vk.k[kh FkksMÓk xjtk deh

d:u cpr djk;«k fðkd.ksgh Qkjls dBh.k tk≈ u;s- vki.k QDr fo|eku

xjtkapkp fopkj djrks] rlsp Hkkoh dkˇkrgh vkiY;k«k xjtk vlw ðkdrkr

gs «{kkr Bsowu R;k xjtkalkBh l/;kP;k [kpkZoj fu;a=.k ?kk«.ks ðkD; vlrs-

vðkk rÚgsus l/;kpk [kpZ deh d:u Hkkoh dkˇkrh« xjtkaph rjrwn dj.ks

;k«k cpr dj.ks Eg.krkr- cpr dj.;kph lo; ,dne tMork ;sr ukgh-

,[kk|kus vkrk ekSt d:u ?ks≈] m|kiklwu cpr d: vls Bjo«s rj rks

d/khp cpr d: ðkd.kkj ukgh- cpr dj.ks gk ,d ekufld fðkLrhpk Hkkx

vkgs- gh fðkLr ftrdh «gkui.kkiklwu «kowu ?ksrk ;sbZ« frrds pkax«s-

5. (A) Write short notes in about 100 words on any two of the

following : [10]

(i) Difference between a documentary film and a popular film.

(ii) Essentials of cinematography

(iii) Script writing

(iv) Qualities of a good film reviewer.

(B) Write a review in about 200 words of an animated film or

a comic film you have watched. [10]
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T.Y. B.A. EXAMINATION, 2011

TRAVEL AND TOURISM MANAGEMENT

(Vocational Stream)

Paper V

Emerging Concepts of Tourism and

Tourism Development)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (Around 50 words) : [10]

(i) Sustainable tourism : Principles

(ii) Stress management

(iii) Incentives

(iv) Recent trends.

2. Write short notes on any four (Around 100 words) : [20]

(i) MICE

(ii) Manali as adventure tourism

(iii) Trade fair

(iv) Negative aspects of Olympics on Tourism Industry

(v) Metro Train

(vi) Examples of medical tourism.

P.T.O.
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3. Answer any three (200-250 words) : [30]

(i) National tourism policy-2002

(ii) Pull factors affecting tourism destination

(iii) Rural tourism in Maharashtra

(iv) Recent trends in domestic tourism in India

(v) Importance of conferences and exhibitions in destination

development.

4. Answer in detail any one (Around 500 words) : [20]

(i) Explain : Destination life cycle with suitable diagram.

(ii) Explain decline in Jammu and Kashmir tourism.
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T.Y. B.A. EXAMINATION, 2011

iz;kstuewyd fganh % oksds'kuy

(Functional Hindi : Vocational)

iz'ui= 5 % lSn~/kkafrd

(vuqokn] fVIi.k&izk:i.k] lafgrk ,oa Qhpj ys[ku] vkosnu] lk{kkRdkj] lax.kd rFkk

ewy{kerk ekinaM)

(2008 PATTERN)

le; % 3 ?k.Vs iw.kk±d % 80

lwpuk,° %—(i) lHkh iz'u vfuok;Z gSaA

(ii) iz'u ds nkfguh vksj fy[ks x, vad iz'u ds iw.kk±d gSaA

foHkkx ^v*
1. (v) fganh esa vuqokn dhft, % [8]

Appointment Letter

No.....

 Government of India

Ministry of Works and Housing

New Delhi the........

MEMORANDUM

The.................... hereby offers Shrimati/Kumari/Shri................ a

temporary post of................ in the office of the Director General

of Posts and Telegraphs, New Delhi on a pay of Rs........ in

the scale of Rs........... He/She will also be entitled to draw

dearness and other allowances at the rates admissible under,

and subject to the conditions laid down in rules and orders

governing the grant of such allowances in force from time

to time.

The terms of appointment are as follows.........

P.T.O.
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(vk) vºZ&ljdkjh i= dk izk:i rS;kj dhft,A [8]

2. fdUgha pkj ij fVIif.k;k° fyf[k, % [16]

(d) Loifjp;i= (ck;ksMkVk) dh vko';drk

([k) vkosnui= dh fo'ks"krk,°

(x) vPNs fVIi.k dh varjax fo'ks"krk,°

(?k) fVIi.k vkSj izk:i.k esa varj

(p) /kkjk 3 (3) ds nLrkost

(N) dk;kZy;hu vuqokn

(t) Loifjp;i= ds vaxA

foHkkx ^c*

3. (v) vkids fganh v/;;u eaMy ds mn~?kkVu lekjksg dk lw=lapkyu vki dj

jgs gSaA bl lw=lapkyu dh lafgrk rS;kj dhft,A [8]

(vk) fdlh mn~;kstd ds lk{kkRdkj dk 'kCnkadu dhft,A [8]

4. fdUgha ik°p ij fVIif.k;k° fyf[k, % [20]

(V) DTP.

(B) Hkkjrh; Hkk"kkvksa dh lax.kd iz.kkyh

(M) lafgrk ds izdkj

(<) jsfM;ks rFkk nwjn'kZu ds fuosnu esa varj

(r) Qhpj&ys[ku ds eq[; fcUnq

(Fk) lk{kkRdkj&ys[ku ds izdkj

(n) lapkj ek/;eksa ds fy, ys[ku

(/k) lk{kkRdkjdrkZ dh fo'ks"krk,°A
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5. (v) fuEufyf[kr esa ls fdUgha pkj 'kCnksa ds fy, fganh ikfjHkkf"kd 'kCn fyf[k, %

[4]

(i) All India Radio

(ii) Bearer

(iii) Adjournment

(iv) Casual leave

(v) Clause.

(vk) fuEufyf[kr esa ls fdUgha pkj 'kCnksa ds fy, vaxzsth ikfjHkkf"kd 'kCn fyf[k,%

[4]

(i) dsaÊh; HkkaMkxkj fuxe

(ii) lanHkZ lwphdkj

(iii) ifjfLFkfr;k°

(iv) lkj

(v) vftZr NqV~VhA

(b) fuEufyf[kr ds fganh i;kZ; fyf[k, % [4]

(i) Government is pleased to accord sanction as a special case.

(ii) I am directed to acknowledge the receipt of your letter.

(iii) Needful has been done.

(iv) Please treat this as strictly confidential.


